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Directions (Questions 1-3): Suuch the passage below and answer the questions that follow,

/
e

™ Passage

The Internet was designed to evolve in a distributed fashion. Individual machines which were connected to the
Internet were given the power to decide who people should talk to for a service in which they are interested. In
the entire design of the network layer. there were no gatekeepers except for very basic functionality such as
allocation of Internet Protocol addresses and root servers for resolving top-level domains like .com. .org, and
-net. Anyone could connect to the Internet and start providing or consuming a service. As a result, the Internet
saw rapid growth in the 1990s and 2000s. Many services such as emails. websites. and chats came up and
became an important part of the Internet ecosystem. They enabled the sharing of information and e-commerce.
To access a website. all we needed was a web browser. The standardisation of protocols and languages made
this easy. In the beginning, Yahoo provided a directory of websites under various categories. As the number of
websites exploded, a search engine, Google, came up to quickly provide a list of web pages that matched our
search queries. And then came mobile devices. When Apple came up with the iPhone, everyone began porting
their websites so that these sites could be easily viewed on small hand-held devices. Apple also urged third-
party developers to build web applications (apps) that could run on its Safari browsers. But then developers
wanted the same control over the devices that Apple had. They wanted the ability to ship native apps on these
hand-held devices. Apple opened the App Store for third-party native code on July 10, 2008. Apps are software
programs that can run natively on mobile phones. Running untrusted software and that too natively is a big
security nightmare. With direct access to the machines, apps can exploit local privilege escalation vulnerabilities
and get control over the devices. This is something that cannot be exploited remotely. But businesses loved the
apps. It meant they could run their native code on millions of machines, unhindered. They started pushing their
users to install their apps rather than providing their services through the standardised browser. The users were
told that the apps would provide a far more “immersive” experience than a website could ever give. But to get
such an experience, users needed to cede control over their SMS?’, photos, videos, and location. They also had
to lose the controls that a web browser provided, such as blocking advertisements. The gatekeepers, app stores,
tried to allay the fears of users that these apps are safe. Yet, newspapers are filled with stories on how app stores
contain apps with malware, or commit financial frauds, or even steal private information. Apps were wonderful
for everyone except the users who have been at the receiving end of various unscrupulous apps. A decade ago,
I had highlighted these security issues with the apps and why web browsers are a better alternative. But people
loved apps, businesses loved apps, and now the app stores love apps because they can impose an app tax ranging
from 15% to 30%. The businesses, which loved apps for the control they got over the users, are now enraged.
The battle between businesses and app stores is far from being settled. It seems unlikely that the app stores will
easily leave out the lucrative revenue coming from the app tax. Instead of rethinking whether we need to go
back to web services accessible on a web browser, businesses want an app store that doesn’t have any app tax.
Irrespective of how this battle between app stores, business, and courts pan out, it should be clear to the users
that apps are not the way they should have chosen to access Internet services. The immersive experience was
drowning the users earlier and is now drowning businesses. In the end, there will be only two winners, the ones
that control the app stores: Apple and Google.

1. Which of the following statements could be inferred from the passage about the Internet?
(1) It was designed primarily to serve the fashion products distribution industry.
(2) Ithas evolved and continues to grow in the same way that it was designed and envisaged originally
by its founding fathers.
(3) The internet has been a versatile medium that is highly useful for a cross-section of users or
consumers.
(4) All these

2. Which of'the following statements about the internet ecosystem is implied in the passage?
i. It enables and accommodates a variety of services.
ii. It is mostly a user-friendly platform.
iii. It is a common platform for both providers and consumers of services to utilise and carry out
transactions. i
(1) iandii (2) ii and iii (3) iand iii (4) i, ii and iii

3. Which of the following options best describes the term * gatekeepers’ in the context of the passage?
(1) Blockers (2) Regulators (3) Restrictors (4) Receivers
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“The apps would provide a far more ‘immersive’ experience than a website could ever give.” What
is the implication behind this claim?

(D yw/apps would make the internet a more versatile medium.

(2) The apps would make using the internet a comprehensive experience for the user.

(3) The experience would be more flexible, personalised. and inclusive when an app is used.

(4) The apps would make internet usage highly addictive.

Which of the following statements could be inferred about the author’s views about how the internet

medium was evolving?

(1) One of the highest excitements about the skyrocketing possibilities.

(2) One of the cautious optimisms about how the medium could be channelised for the mutual benefit
of both businesses and consumers.

(3) One of the sheer despairs at not being able to shackle the menace of apps.

(4) One of the helplessness about the directions it has taken especially in respect of the “immersive’
experience of using apps.

Directions (Questions 6-8): Fill in the blanks.

6.

In these bleak and depressing times of prices, non-performing governments, and

crime rates, the Indian cricket team has given us a lot to cheer about.

(1) escalating, decreasing (2) spiralling, booming

(3) spiralling, soaring (4) ascending, debilitating

Acids are highly reactive metals and for that reason, be stored in metal containers.
(1) towards, cannot (2) within, shouldn’t  (3) for, cannot (4) by, shouldn’t

Most acids dissolve in water at room temperature or on heating to a clear solution.
(1) simply, form (2) just, make (3) either, make (4) either, form

Directions (Questions 9-11): Choose the option which gives the best way of writing the sentence ensuring
that the message is correctly conveyed.

9.

10.

K.

(1) I passed the exam by the skin of my teeth; [ got the minimum required score.
(2) I passed the exam by the skin of my teeth; whereas I got the minimum required score.
(3) I passed the exam by the skin of the teeth as per my minimum required score.
(4) I passed the exam by the skin of my teeth, although I got the minimum required score.

(1) We’ve been painting all afternoon, let’s call it a day for continuing from tomorrow.
(2) We’ve been painting all afternoon; let’s call it a day and then continue from tomorrow.
(3) We’ve been painting all afternoon; let’s then call it a day to continue tomorrow.

(4) We’ve been painting all afternoon; let’s call it a day and continue tomorrow.

(1) Her constant humming drives me up the wall; as I can’t concentrate with that noise.
(2) Her constant humming drives me up the wall; I can’t concentrate with that noise.

(3) Her constant humming drives me up an wall for I can’t concentrate with that noise.
(4) Her constant humming drives me up the wall; so I can’t concentrate with that noise.

+

Directions (Questions 12—14): 4 sentence has been broken up into three parts sequentially (1, 2 and 3).
Choose that part which contains an error and mark your answer accordingly. If there is no error in any of
the three parts, then mark the answer as 4.

12.
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(1) The study of science become enjoyable

(2) for both teachers and learners

(3) when taught in an interactive and relatable manner.
(4) No error
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(1) The Q & A section at the end of every chapter
(2) encourages learners to recall and reiterate

(3) the concepts discussed in the class.

(4) No error

(1) She is an experienced educationist and
(2) teacher who has developed several

(3) child-friendly learning methodology.
(4) No error

Directions (Questions 15-17): These questions consist of a group of sentences which when sequenced
correctly, form a coherent and logical paragraph. Choose the option that gives the best sequence.

15.

17.

A. Still, there is every chance that Sophie might need an open-heart surgery sometime later in life.
B. But with the news that his infant daughter Sophie has a hole in her heart. he appears vulnerable.
C. While her condition sounds bad, it is not life threatening, and frequently corrects itself.

D. Sylvester Stallone has made millions and built a thriving career out of looking invincible.

(1) DCAB (2) DBAC (3) DBCA (4) DCBA

A. However, the severed head could not grow back if fire could be applied instantly to the amputated
part.

B. To get rid of this monstrosity was truly a Herculean task, for as soon as one head was cut off, two
new ones replaced it.

C. And Hercules accomplished this labour with the aid of an assistant who cauterized the necks as
fast as he cut off the heads!

D. One of the twelve labours of Hercules was the killing of hydra, a water monster with nine heads.

(1) DCBA (2) ABCD (3) BDCA (4) DBAC

A. That Hollywood is a man's world is certainly true, but it is not the whole truth.

B. Even Renaissance film actress, Jodie Foster, who hosts this compendium of movie history,
confesses surprise at this.

C. She says that she had no idea that women were so active in the industry even in those days.

D. During the silent era, for example, female scriptwriters outnumbered males 10 to 1.

(1) ADBC (2) ABDC (3) DCAB (4) ABCD

Directions (Questions 18-20): Choose the option which best expresses the meaning of the underlined
idiom/phrase in the sentence.

18.  To cry wolf'is a longstanding habit of my superior at work which has made him unpopular amongst

19.

-20.
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the colleagues.

(1) To fool someone by pretending to cry

(2) To ask for help when it is not really needed

(3) Trying to scare someone

(4) Whistling at someone instead of calling out to him/her properly

Crying over spilt milk is a total waste of time.

(1) Worry about the amount paid for the milk that boiled over from the vessel

(2) A child crying when his mother slaps him for spilling milk

(3) Feeling regretful about something that has already happened and cannot be undone
(4) Trying to mop up milk spilt on to the floor so that it could be used

The claims by people known to be boastful must always be taken with a pinch of salt.
(1) To be taken as a spicy joke rather than something serious -

(2) To be disbelieved

(3) To be heard from one ear and taken out from the other

(4) Not to be taken at face value




Directions (Questions 21-24): Read ihe following information carefully and answer the questions that
Jollow.

7

=

In a paperspresentation event on science. five participants — U. V. W, X_ and Y. reached the final round. At
the end. they are awarded prizes depending on the positions they achieved from first to fifth. Each
participant has chosen a unique scientific field: Physics. Chemistry. Biology. Mathematics. and Astronomy.
The following information is also provided:

e U didn't choose Chemistry and came in position after Y.
The one who chose Physics finished just after the participant who chose Biology.
V finished just ahead of the participant who chose Astronomy.
X is not the one who chose Biology and didn't finish last.
The participant who chose Mathematics finished after Y and after the person who took Physics.
W didn't choose Mathematics and came two places after the one who took Chemistry.
The one who chose Biology finished after the one who chose Astronomy.
U hasn’t taken Astronomy and finished fifth from the top.

ﬁa‘wmn-z@:#?a‘a’?vs‘qwﬁw#wsvwvfﬁaﬁvé/

ﬁamwwwuﬁ%mﬁmgﬁwﬁ—U.v,w,x,sﬁ?Yaﬂ%ﬁaﬁ?ﬁq@lmﬁﬁ
U 3 UlHd T AIS A B AR W GRRBR LM BT M| 9= TREE 3w o8 A
gmm—%ﬂﬁaﬁ,wmﬁam,ﬁﬁaﬁaﬁwﬁmsﬁ?@ﬁaﬁamﬁw%@aaﬁrﬁaﬁwﬂﬁﬁ
TR

U X e 78 91 aiR Y & 912 &1 v ure far |
ﬂﬂﬁﬁgﬁﬁaﬁuﬁwﬁﬁﬁﬁaﬁwgﬂﬁmmzﬁéﬁmmwwml
VI @i e g 9ol gl @ S5 gger @ verE e R

X a8 gferrl 781 & o S fasm g oiR a8 anRad) <o w781 |

TR A ared ofRrrfl Y @ a1e ok MR g aret aRme & e @ v wre R |
W MG S AT SR S Y RIS g e gfewe @ @) v 99 @7 e o
fobar |

Sia s g7 aren gfearht @i s are sRerh @ are @ o w |

U e s 78 g iR o 9 uigd <o w <er)

21. Who among the following chose Physics?

fFeferfaT & & frem ifera gmr
(Hu @V )X @Y
22. Which of the following fields did W choose?
(1) Chemistry (2) Mathematics (3) Biology (4) Astronomy
W FrefoRed & & sie—ar e e
ORSICEREEIE (2) 7o (3) Shafasm (4) @ fgms
23. Who among the following finished first in the competition?
T4 9RAEr § B9 ggel WM W e
(HU )V ()W 4 X
24. At what position did the participant who chose Biology finish?
(1) 1 (2) 2™ (3) 3¢ (4) 4*
Siia fasm g arel ufeeft 5 sla—ar <o e fsar?
(1) e (2) gux (3) e (4) =it
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Directions (Questions 25-28): Each of these questions consists of a statement followed by two arguments
I and JI. You have 1o decide which of the arguments is a “strong’ argument and which one is a weak’
ul*glﬁnenl.

Mark answer as

(1) if only argument [ is strong

(2) if only argument Il is strong

(3) if both arguments I and Il are strong

(4) if neither argument I nor I is strong
fder (e 25-28): 39 U § Ud B AR IS 91 <1 ab /3R /73T T § | anuesT oty e
fh -1 T U’ AR PHI-AT FAAR B |

T SR fAEfeRed Wy A sifda & ¢

(1) afe dad & | v &

(2) IE Padt T 11U &

(3) I d@ 3R [ AT 9a &

(4) afe 7 @1 % 3R 9 & [ vacd &

25. Statement: The Government must restrict the use of electricity for each household depending on the
number of inmates in the house.
Argument I: Yes. This will help the government tide over the problem of inadequate generation of
electricity.
Argument II: No. Every citizen has the right to use electricity, as per their requirement and the ability
to pay for using electricity.
BT : WHR B U BR H & dle] TSR Dl G&T & AR R dd R B v ool &
SUANT BT AT BT 8 =Y |
T L: 8 | 300 IR BT g A= 7 Qe Sfd 7 89 & awvn & fued § #qee fenf |
T I1: €1 | YA ATTRS I AU ATaRIHAT 3R ATl & SYANT & forg o del &) erwan
S JTAR AP STANT FRA & AR B |

26. Statement: Performing outstanding medical research requires more than a simple talent and more
than simple explanation. Hence, only those researchers having outstanding knowledge and ability
should be allowed to perform medical research. ’
Argument I: Yes. Developing creativity in students is less important for the cultivation of research
talent than instilling a sense of dedication.

Argument II: No. The proper function of our universities is not to produce only outstanding
researchers, but to create well rounded medical graduates.

DY : S@ AT IFHUE FRA B oIy AR | FE S ufor iR e @ arexa
&Il & | 37 Bacl Scpte YT 3R AFAT aTet SgeTdhare @ & Rifear s ey @
argafa & S ARy |

T L: &1 | AHY0T BT A1 WA B JoAT H AT Ul a1 I & forg fenfiat § gorrermarn
i F=1 &9 Ag@yt 2|

& II: €1 | 4R faafdenerdl &1 98 o1 dad S JgEuGdl IaT BrAT T8 few aggel
fafrc Fae TaR &A1 2|

27. Statement: Should India takes seriously the proxy war waged by Pakistan and take strong action?
Argument I: Yes. The proxy war causes loss of lives and also becomes a source of economic burden.
Argument II: No, because it will be questioned in the UN and will invite international criticism.
BYF 1 TN ARG DT UMK §RI TAN Ol @ BEH & DI THRAT W o1 3R SN HRATS YA
ElINY }

T I: 8| B5H & A M &I JH 8T & 3R I8 i d1st &1 R A &=t & |
T I1: 781, Fifd AYad I H 39 W WaTel WS BN 3R I8 ARSI AT BT RO G177 |
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Statement: The open book examinations be introduced for every protessional course in India.
Argument I: Yes. All candidates can pass easily and can start their professional life easily.
Aloumlnt II: No. Students who don’t deserve to pass in the examinations otherwise will pass but
not uel jobs any way and remain unempIO\ ed.

YA : HRA H UAD YRR UIGTHA & ey ol fdhard udler g &1 ] |

T L: 81| 91 argell Sl A STl 81 Ahd & SR JAUAT URIAR Siiae IRIl A R PR b
gl

T 1I: 781 | 1 fdenefl wen 4 Il 89 & gder €1 €1 9 I A1 81 S, R I BH
el Aol 3R dRIGHTR &1 & |

Directions (Questions 29-32): For the Assertion (A) and Reason (R) below, choose the correct alternative
from the following:

Mark answer as:

(1) it both (A) and (R) are true and (R) is the correct explanation of (A).
(2) if both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) if (A) is true but (R) is false.

(4) if (A) is false but (R) is true.

ﬁé‘a(ww-n):%ﬁnwsﬁ'cﬁw (4) 3R TR (R) & forg few v feeat # & |8 fAeew i |

29.

30.

31.

32.
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o1 S F=forRed w9 & 9+ -

(1) Ife (A) R (R) THI FEI & 3R (R), (A) BT FEl AR B |
(2) T (A) 3R (R) HT T & Afbd (R), (A) B F&T ARAT T8l # |
(3) afT (A) & § «fd (R) Tad & |

(4) T (A) Tord ® ofdd (R) 98! 7 |

Assertion (A): The phenomenon of nuclear fission generates great energy, and it is used to create
weapons of mass destruction.

Reason (R): The process in which two nuclei are joined into one single atom is called nuclear fission.
FfAFAT (A): Wﬁ@wﬁqﬁmﬁmmwm%aﬁ?sﬁwmzﬁ
AR TR & & forg wanT faan S 2 |

PR (R): ST MWD B T Aol WA H SAre+ DI UfhaT IR fIEed FHeand o |

Assertion (A): Males play a major role in determining the gender of the offsprings.

Reason (R): Determination of sex in human being is determined by the sex chromosomes (XX in
females & XY in male).

AU (A): Fae &1 o FuiRa &= # gy a1 wE i gl 2 |

PR (R): 7= # fofwr &1 FeiRer A9 s (oRgE) (@t 3 XX 3R g9y § XY) §R1 il
gl

Assertion (A): The price of a share in the stock market is determined on the basis of demand and
supply of the stock.

Reason (R): The score of the Index in a stock market moves whenever there is a noticeable rise or
fall in the demands of the shares which constitute the Index.

AMNAHIUT (A): IH IR H Th I/R BT BIAG ©Id I AT IR g & mRr = FuiRa el 21
PRI (R): IH IR § GADIH I TR Ted—dedl ¢ | 5d 9l Gadbied § IMAe AARI DI 7T
4 SootEH gfg a1 w1 3l B

Assertion (A): The Himalayan Rivers are not suitable for the production of big hydel power though
they are full of water throughout the year.

Reason (R): The Himalayan Rivers are subjected to drastic change of courses particularly after the
landslides and earthquakes.

AMFUT (A): RAT AR 7L A F TAfEN & Sared @ o Sugad el € e o
R AT g WRT & & |

PRI (R): fEwrerd) afeal & arf § 4R aRad= omar &d1 &, @NeR fRaeHl AR Ydwi & 914 |




Directions (Questions 33-36): In cach of these questions a statement is given, which is followed by nvo
assupptions. numbered I and 11 An assumption is something supposed or taken for granted. You have to
consider the statement and the assumptions and decide which of the assumptions is implicit in the statement.

Mark answer as

(1) if only assumption I is implicit.

(2) if only assumption Il is implicit.

(3) if both assumptions I and I1 are implicit.

(4) if neither assumption I nor Il is implicit.
ﬁéﬂ(ﬂﬁﬁ—}ﬁ);gﬂmﬁ@iﬁ?ﬁﬁ?mmﬁwleﬁ‘\’llﬁﬂé‘glwm?ﬁ?q‘\’
Rﬁwﬁ?ﬁ%|meﬁvmwmmﬁ@ﬁmm%%zﬁmzé%ﬂw@aﬁﬁ—@
A= Jfaffed 2 |

g SoR FrfaRad & 7 siféd a)

(1) afe dael A | e € |

(2) afy dael A 11 siafifRd 2

(3) af A=y 1R 11 S iR 8 1

(4) afe = a1 a=Ia 18R 9 & 11 sfafifzd. 2 |

33. Statement: Wars must be discouraged at all costs even though majority of the victims might deserve
some reprisal as their countries have been a nuisance to peace-loving people.
Assumption I: People from the countries which create problems to peace-loving people are supposed
to pay for their governments’ action.
Assumption II: Wars kill or harm people majority of whom are those who create problems to peace-
loving people.
W:%amwmmaﬁqmmmwm$mﬁ
e ¥ i o S Tt W & afiddl @ o Ferd % Bd E |
WI:WWE&@WﬁWW@@WW&?ﬁ%WﬁMW
#) el BT WIS AT TS € |
Wllzgaﬁaﬁﬁaﬁaﬂ—mamweﬁﬁﬁﬁﬁﬁméaﬁ%aﬁwﬁﬁu
W @ Aol @ g W T v € | :

34. Statement: Shashi is a voracious reader of English literature; his English is so good that he writes in
English even better than an American does.
Assumption I: Reading of English literature voraciously helps developing good writing skills in
English.
Assumption II: Americans aren’t voracious readers.
W:ﬁ&ﬁm@mmaﬁ?%ﬁ;%wﬁmﬁm%ﬁ?waﬁﬁﬁﬁﬁﬁm
Fioh foraan 21
mlzmvﬁmﬁwwﬁ@ﬁﬁwmﬁwﬁ?ﬁﬁﬁmﬁl
AT 1I: 3RaE @rT 8R ugrd, T8l &I |

35. Statement: The recent incidents of pickpocketing have shown that it has become rampant in most of
the crowded places.
Assumption I: The incidents of pickpocketing were not there some years ago.
Assumption II: Pickpocketing takes place only in crowded places.
?;mﬁmmm%%m—mmmmwmwa

gl .

mlzwaﬁmmﬁaﬁw:@g&ﬂmsﬁl
AT 11: el Ba Ae—Hrg el STel WA & |
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37.

38.

39.

40.

41.
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Statement: Duc to excess and uncontrolled use of social media. the incidents of child abuse are
increasing and has become a major reason for human exploitation world over.

Assu{r_np'fion I: Children have access to the use of social media in most of the countries.
Assumption II: Other forms of human exploitation exist in various countries. A

B : YA NN & JAWH R AT ITIRT & HRT 91 IS &) geq’ 9 8
3R U8 g W) A= & MY & UHh U BROT 99 AT 8 |

AT 1: JAferbar <2 4 geai &l Qe JIfedr ) ugd god 2 |

HGAr 11: 591 & 990 & gaR w0 A=t < § Aiog € |

Pointing to a person in a photograph, Shubhranshu said, ‘Her father is the son of the mother of the
father of my only daughter’. How is Shubhranshu related to the person in the photograph?

(1) Son (2) Brother (3) Nephew (4) Data inadequate

Uh WISl § U AfdT &1 AR AR SR YATY PHeal 2, "$9 ARl &1 O 3 ghalidl 981 &
foqr @1 41 &1 der 87 | gy F1 S99 Afeen ¥ @ Redr 82

(hder (2) ¥ (3) AwRL (4) JANbe YA &

The main door of Aradhya’s house faces East. One day, she started her morning walk from the back
side of her house and went 50 metres straight. Then she turns to her right and walks 50 metres again.
Finally, she turns towards left and stops walking after 25 metres. In which direction Aradhya is
standing from the starting point now?

(1) South-east (2) North-west (3) North-east (4) South-west

ARTEAT & BR BT J XA XA B AR & | U T S o R & fUival RR & gag &
W FH 1 3R e 50 Hex Fell | 39 a8 ¢ G IR R 50 Hex =i | 3 § a8 @10 g
3R 25 HIeX TAGR ©F T3 | T Yo B S WM A AR fow fzn § @<y 87

(1) sferor—gxe (2) STR—UfRem (3) STR—d (4) <feror—ufz=H

Five readers A, B, C, D and E go to a local library every evening and read a newspaper. The one who
reads first gives it to C. The one who reads last had taken it from A. E was not the first or last to read.
There were two readers between B and A. Who among the following is the third to read the
newspaper?

uig qied A, B, C, D 3R E & WM (6 GG O € 3R Udh IR Ued & | Ul Ue arefl
IR CHl < ol & | AR ¥ U Tl A ¥ IR ol 2| E T Ugel AT MR H ygs
areT AfdT Tl €1 B3R A S 49 31 UI6H & | 3RIIR U arell AT Afdd B 87

(1) B 2 E 3)A 4) D

Seema told Jaya, the girl I met in the park yesterday is the youngest daughter of the brother-in-law of
my sister’s mother. How is the girl related to Seema?

(1) Cousin (2) Daughter (3) Niece (4) Aunt

A, ST 9 FEdl 8, ‘Usd 7 ure ¥ o asat & fAell, a8 78 989 &) |71 & gev—ga—dit
DI A BICI 981 &7 | SH ASD! BT AT | Fr Rear 872

(1) B @) ¥ (3) 7\ (4) iy

A sum of 28,59,125 is divided among 3 General Managers, 7 Managers and 4 Directors in such a
manner that 2 Directors get as much amount as 3 Managers and 2 General Managers get as much
amount as 3 Directors. Find how much amount did each manager get.
8,59,125 B &FRIR 3 HEHEHD], 7 UeEDI AR 4 Fewral # 39 yoR 1) ot & & 2 Fews,
3 yeere] T geRIRT iR 2 Femdy®, 3 v o s=Rifd ura &xd €| U ysud b
Rrcei—Rea sFRIRT W g7

(1) 40,300 (2) %42,000 (3) 343,500 (4) 45,800




44,

45.

46.

47.
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Adjacent to her home. Himani has a square field. All around the field. there is a path with a width of

A - . . = s . s 5
»72.5 meters. and the area of the path is 1175 sq. meter. Himani wants to get fencing done around the

square field. The cost of fencing the field is 2115 per meter. Then. how much amount Himani needs
for the fencing?

U ER B giel H fRAF BT U dR Wd 2| 39 Wd & aRi 3R 2.5 He el U Uy
3R 39 U BT &% 1175 T Hiex & | fRAF 39 afeR Wd & Rl 3R a1 oidr=T argdl & |
YT H 918 o' @I HEd 115 iR €1 gre orrar 4 fe|r &l fha @d sy

(1) %46.700 (2) 348.500 (3) 350.600 (4) 352,900

On his visit to Rishikesh, Sanjeev went for rowing in Ganga river. He rowed at a speed of 17.5 km in
one hour in still water. The speed of the water current was 3(1/2) kmph and it took him 3(3/4) hours
to go from point A to point B and return to point A. Find the distance between points A and B.

(1) 31.5 km (2) 32 km (3) 32.5 km (4) 33 km

FfYDHI B U AT R Follg T q4] H A R 11| S99 Rer ot § 6 H 175
. @ o1 | 919 W | U D ORI B At 3(1/2) R ufy wer of 3k S AW B W d%
S H 3(3/4) "el M| AR B& 419 & @l —————— =4

(1) 31.5 fa. (2) 32 faL. (3) 32.5 fa. (4) 33 faL.

A, B and C together can complete a piece of work in 10 days. All the three started working at it
together and after 4 days, A left. Then, B and C together completed the work in 10 more days. A
alone could have completed the work in

(1) 15 days. (2) 16 days. (3) 25 days. (4) 50 days.

A, B3R C Ay AadR U & &1 10 AT § g1 &R 9hd & | dH1 9 ey &M I o
g 3R 4 39 & 91 A 9 ST 21 $9@ 91§ B3R C 91 feax &R 10 o1 § o8 oW q¥
IRA | A DA $H B B —————— fet # 1 PR Fhar 2|

(1) 15 (2) 16 3) 25 (4) 50

M/s Santosh Electronics gives a discount of 27.5% on the marked price of an electronic gadget and
earn a profit of 16% only. Now, they want to make more profit and therefore, reduce the discount to
20%. Find how much more profit would they earn now?
wwsﬁa@ﬁwwsﬁﬁﬁaﬁﬁﬁa%aﬁmwwmmaﬁwém%aﬁvw 16%
R BT © | 37 98 Afd o HAA A8l & AR WY BT TSTdR 20% HR T 2 | 34 39
faram afde o aifsta grm?

(1) 12% (2) 15% (3) 18% 4) 20%

In a mixture of 85 ltrs, the ratio of chemicals A and B is 4 : 1. But to make it suitable for industrial
use, the ratio of the two chemicals should be 3 : 4. How much more quantity of Chemical B should
be added to make it suitable for use?

(1) 32.5 Itrs (2) 30 Itrs (3) 28(1/3) Itrs (4) 25(1/3) ltrs

85 Wil & U %01 § A SR B IARAI &1 AJUIT 4: 1 2| <fdhd 39 el Swam & fog
IuYed g9 & Y T AT BT AFUIT 3 : 4 BT 9M12Y | STANT & foIY SUGaa a9 # AT
B & fha+r iR A1 39 fAsror § e srfi?

(1) 32.5.efex (2) 30 eflex (3) 28(1/3) <lex (4) 25(1/3) wilex

There are 16 players, including 2 wicket keepers and 5 bowlers, available for selecting a cricket team
of 11 players. In how many ways can a team of 11 players be selected if we have to include 1 wicket
keeper and at least 4 bowlers?

11%@#@%%%%%@2%&@@@?5#@@%16%@@%
%luﬁgﬁ1ﬁ$€aﬁwaﬁimﬁm4mwﬁamﬁﬁ%aﬁ%ﬁaﬁaﬁﬁﬂw
B TH S AT o Fahdil 27

(1) 862 2) 1092 (3) 1764 (4) 2036
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Rajat and Amit started a business. Rajat was a sleeping partner in the business. Amit. being the
\\‘orking/panncr. took a certain monthly salary. At the end of the first year. the total amount of profit
was Z7.80.000. The ratio of Rajat’s and Amit’s share was 11:13. [f Amit’s annual salary was
excluded. the ratio of their shares becomes 11:7. Find the monthly salary of Amit. '

o 3R a3 Ader Th SRR I fHa1| 90 39 PRER H [fEpy wEer or | g,
HTRA WEER 8F @ A1, U Ff¥ad A1Rie dd9 oid1 o1 | U8d A1 & 3id H oY &l def
37.80.000 2 | o7 3R AT & RRY &1 agurd 11:13 o1 | Ak 4fHT &1 arffies a1 Fapret fea
U 1 S Rt Bl U 11:7 81 I & | ATHT BT ARSI i bIfSTy |
(1) 15,230 (2) R15.750 (3) %16,250 (4) 17,000

A gulab jamun contains sugar syrup up to about 30% of its volume. Find approximately how much
syrup would be found in 48 gulab jamuns, each shaped like a cylinder with two hemispherical ends
with length 7.5 cm and diameter 3.5 cm.

(1) 869.60 cm’ (2) 877.80 cm?® (3) 886.10 cm’ (4) 893.30 cm’®
e T[elld ST § g8 AR BT 30% A 8 | YAS B 7.5 AL ofarg 3R 3.5 91 AT ared
31 el RRT & JIBR 48 T[eld SIHAT § AR &l o THT ————— q1ET UTg g |

(1) 869.60 & I, (2) 877.80 57 Tl (3) 886.10 T ¥ (4) 893.30 T .

A fruit seller buys 40 dozen of apples from the wholesale market. There are good apples as well as
rotten apples in the lot. If the probability of getting rotten-apples from the lot of 40 dozen apples is
0.225, then what is the number of good apples?

T el fAal AF IR U 40 SoiF Qe WYl § | S99 I8 & WY e w9 Al § | e 40
IOl Q9 # IS 99 e @) wif¥iear 0.225 2 o1 3 Wel @ den fdhadr 87
(1) 360 (2) 364 3) 368 4) 372

Madhur had some money which he lent in two parts on Simple Interest in the ratio of 13:11 for 5(1/2)
years and 4(1/2) years with rate of interest of 10% and 8% per annum respectively. If the difference
between the interests earned is 78,394.25, then, find the total sum that was lent.

TR B U §Y SR o R S AR @rst W 13:11 g A Q) Rl # B 10% AR
8% a1 &mal &% W 5(1/2) a¥ 3R 4(1/2) 9 & forw Sur fear| afe aifvia «ail & 4 3R
378,394.25 % 1 Gt ——————— NI Iq1 SR < &Y |

(1) %5,81,400 (2) %5,85,300 (3) %5,89,800 (4) %5,93,500

A big businessman inherited a piece of land, which is triangular in shape having a perimeter of 456
m and its sides are in the ratio of 3:4:5. He uses one-third of this land for making a residential complex
and divides the rest of it equally for building a secondary school and a hospital. Find the area of land
used for the hospital.

(1) 2,586 m? (2) 2,640 m? (3) 2,774 m? (4) 2,888 m?

TF 92 BRIER] B fRaa § S el o Brieer 2 &R 9@ uRATT 456 A1 ® AT 39D
YOG 3:4:5 T § € | 98 TH T BT U feTs R Uo SRy uiReR a1 H ST e
2 3R 99 R BT QY W AW § ve qreafie Thel 3R UE IRudre g9 & fofg diedr g |
IRYATSA S B oIy Tgaad ST BT &5hel Sa diforg |

(1) 2,586 a7t Higx (2) 2,640 7 Hiex (3) 2,774 @ Aiex (4) 2,888 a7 Hiex

There are three showrooms of the same type of garments, owned by Hari, Prakash and Umesh. Hari
sells his goods 22.5% cheaper than Prakash and 24% costlier than Umesh. How much percent are
Umesh’s goods cheaper than Prakash’s goods?

gR, WY IR SAY B THANH T B (G—UF WA & | R IO Al TDT | 22.5% HRA
3R ST A 24% HET AT B | UBIT & ATA | IAY BT ATSA b A=Al &7

(1) 37.5% (2) 35% (3) 32.5% (4) 30%
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A wholesaler supplies a lot of 725 hair bands to a buyer. He sells 236 hair bands for 24.170 more than
their cost and the remaining for 28.955. If the gain of the wholesale supplier on the total sale is 36%.

©“what is the cost of each hairband?

Q‘cﬁaﬁmﬁmwaﬁaﬁ7°aéa§égﬁgﬁm§|a€sﬁﬁﬁ7gééwé€gﬁaﬁamﬂ
4170 3MfeTeh Hed R 29 28,955 H 99T 2 | AT o fAsbar &7 gt AT W o 36% & 1 ud®
IR d8 B arTd fabal 27

(1) 217.50 (2) 220 (3) 22250 (4) 225

In a school, students exercised their option of selecting the stream in which they wanted to pursue
their higher studies. [t was noticed that 1/7" of students opted for Science stream, 1/5" of the students
opted for Commerce and 1/3" of the remaining students opted for Arts stream. If the number of
students who opted for Arts stream is 184, how many more students opted for Commerce than Science
stream?

U ¥hel H el 3 s SR s & fo e SesIgR W gee @1 faded forar |
< T {1 /7 fAenfii 7 e e g 1/5 3 aiften wran g iR 9 @ ue fETE
fenfial 5 wer wrEr g | afe won wEr e drel et @) e 184 € A1 s s @
o1 # fobeq srfere fenfiai 1 amfdrsg emar g=h?

(1) 52 (2) 48 (3) 44 (4) 40

x+1 is a factor of the polynomial

x+1 gUE &FT PHES § :

(1) x}+x*—x+1 (2) xHx3+x+1 (3) x}+x*+x+1 4) x*+3x3+3x%+x+1

Two angles are making a linear pair. If one of them is one-thlrd of the other, the angles are

Q1 BT U Y I a8 | AR T A U, TR BT O e 2 A o ————— |
(1) 35°,105° (2) 50°,150° (3) 45°,135° (4) 40°,120°

Which of the following can be the length of the third side of a triangle whose two sides are 18 cm and
14 cm?

(1) 32cm (2) 4 cm (3)3cm 4) Scm
o s &1 <1 go] 18 T &R 14 A AN €, IS T Yo B Sl@rg fpae g nfi?
(1) 32 9. (2) 4 3. (3) 3 9. (4) 5 9.

On plotting the points O(0,0), A(3,0), B(3,4), C(0,4) and joining OA, AB, BC and CO, which of the
following figures is obtained?

(1) Square (2) Rectangle (3) Trapezium (4) Rhombus

fdgaii 0(0,0), A(3,0), B(3,4), C(0,4) & 3MRRad &= 3R OA, AB, BC 3R CO &I e W
fFefolaed # 3 - ngfa urer grfr?

(HTr (2) Imad (3) |Hed (4) FHATS

How many linear equations in x and y can be satisfied by x=1 and y=2?

(1) Only one (2) Two (3) Infinitely many (4) Three
x=13ﬁ?y=2§mx3ﬁ¥yﬁﬁﬁﬁmwﬂwﬁﬁmmm%&?

(1) bas T @) (3) 3 wa A DY (4) AA




Directions (Questions 61-64): Study the following 3-Lines graph indicating the number of teachers in
three colleges over five vears to answer the questions that follow.

e (UTH61-64): T7 T & SR 9 B fAY grg a8 @ SR A pierel § Reri @) w@n g
P drel FfRad 3—@RI & UTh &1 LTI B |

Number of teachers

Rres) @1 G

i.w

2019 2020 2021 2022 202!

—a— College/®ieat A —a— College/@Taidl B —e— College/®Tardt C

61.

62.

63.

64.
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What was the ratio between the teachers in College C in 2022 and total teachers in Colleges A and B
together in the same year?

qg 2022 # Pl C H Brerdpl &1 Feam iR S a8 Bictol A 3R Biotol B H el &) | &
@A INT & dI9 U R®IT AT?

(1) 1:3 (2) 3:1

(3) 1:2 4) 4:7

What is the approximate average number of teachers across all colleges in 2021?
ay 2021 # W1 Bicioll d el @1 3d wear o fba oY

(1) 23 (2) 20.8

(3) 21 4) 21.6

Total number of teachers in all three Colleges in 2019 was what percentage of teachers in College C
in 20227

a8 2019 % it N Dicel § el o G G av 2022 4 dics C 4 Rieradl o1 d=am &1
e wfcrera of?

(1) 180 (2) 230

(3) 200 (4) 225

+

In which year was the total number of teachers in all three colleges the second highest?
fpsr ad Wt A wierell § Rerd! @ B e g Jaifte ofi?

(1) 2023 (2) 2022

(3) 2021 (4) 2020




Directions (Questions 65-68): Study the following two Pie charts indicating the category-wise percentage
distribution of employees in a company for two different years and answer the questions that follow.

=1 (U9 65-68): 37 YT B IR o7 B oY ST AT 6T # fhefl HuN § HHaRa o7 Sofiar
yfcrerd ded gfad &3 arel feiRad |1 urg a1c &1 3feqad & |

Category-wise distribution of Employees in two years

<l 9uf § HH=RAl &1 AofigR §eq

Year/a¥ 2020 Year/a¥ 2024

No. of employees =2000 ” No. of employees = 2400
HHATRAT BT FAT HHATRAT B T

65. In which of the categories was the number of employees the same in both the years?
1 9ul § HHARAl & der fha gl § [ o
(1) A 2)D 3)C 4HE

66. What is the percentage increase in the number of employees in Category F?
SOl F 4 dHaiRal & g1 4§ ufoerd gig faen o7
(1) 25 (2) 33.33 (3) 50 (4) 66.67

67. What is the total number of employees increased for the categories where there is an increase?
R ot & gfg o, S99 FFaRal & qa fean d@n 9d?
(1) 468 (2) 382 (3) 408 (4) 168

-

68. Which category of employees has shown a decrease in employees?
FHHAIRGT BT e 9 w41 fq S § fewdt 27
1 A 2B 3)C 4 E
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Directions (Questions 69-72): Studv the following Bar Chart depicting the number of students (in
thousands) in a universily who opted for three different streams in the last five years. to answer the
questions hdt follow. ,
ﬁé&T(Wﬁ‘J-n)zsﬁwaﬁwéﬁm‘ﬁwfﬁ@ﬁwzmﬁﬁ%ﬁ?m~mwsﬁaﬁﬁmﬁ
U favafdene & faenfil @) e (9R #H) gfad ae ara FrEfiied ar e @1 semeE a |

No. of students ('000s)

feenfefal & dwr (gor #)

b By ORI 2 L s
¢ = S i g
[ 2 T e TS S T o TR 4 )

b

2020 2021

L= T & B

%
1

8 Arts/&A] ® Commerce/aifirsa & Science/fdsT

2023 2024

69.

70.

71,

12,
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In 2024, out of all students who opted for the given three streams, 38% were girls. How many boys
opted for Science in 2024?

(1) 1322 (2) 1332

(3) 1342 (4) Can’t be determined

ay 2024 < 7€ A el & oy fAdmeq g arer aeft faenfit § 38% wefai off | af 2024
4 fasm wmEn fas agal 3 A

(1) 1322 (2) 1332

(3) 1342 (4) FeiRa =81 fear S Adar

What is the total number of students who opted for Arts and Science in the years 2021, 2022 and 2024
together?

ag 2021, 2022 3R 2024 F1 @R Hor iR e arar g arel et @ g e o
of1?
(1) 97,000 (2) 93,000 (3) 85,000 (4) 95,000

Total number of students who opted for Science in 2023, and 2024 together is approx. what percent
of the total number of students who opted for all three streams for the same year?

2023 3R 2024 % A5 g7 Aol fenf¥iat & go den 3 avt § DA aE] g 9 @
fenfal o o de &1 T fhaer ufdera 87

(1} 2% (2) 28 (3) 42 (4) 32

What is the ratio of the number of students who opted for Commerce in 2021 and 2023 together to
the number of students who opted for Arts in 2020 and 2024 together?

(1) 12:7 2) 11:5 3) 11:7 (4) None of these

2021 3R 2023 § e afdeg sRar g arer fenfial & g W= @1 2020 SR 2024 §
AT el wrE g arel faEnfE @ @o W W U fhaer 27

(1) 12:7 ) 11:5 (3) 11:7 (4) 39 | DIg TEl




Directions (Questions 73-76) : Compare the nvo quantities given as quantity A and quantity B for each

question and mark your answer as
k. (l) if quantity A = quantity B

(2) if quantity A < quantity B

(3) if quantity A > quantity B

(4) if the comparison cannot be made from the information given
e (w9 73-76) : 57 vl B o & 2 Q1 TRE @) Al 4 e
3T SR FHfaRad s # siferd & -

(1) afe wfdr A =<3 B

(2) afe f3r A <<f3r B

(3) afe i A >3 B

(4) afe § TS GIAT F o T8 BT AT G

73. Quantity A : Interest for 3 years at a simple rate of 5%
Quantity B : Interest for 5 years at a compound rate of 3%
IR A 2 5% AERY @ ) W 3 a8t @ forg sarer <y |
IR B : 3% =spgfe Ao <) W 5 ast & farv sre wfdy )

IR B & wY # o aY iR

74.  Quantity A : The volume of a cylinder with diameter 4” and height 4”

Quantity B : The volume of a cube with sides of 4”
IR A : 4" @ $R 47 HAE a0 UF S BT 3aa |
IR B : 4" 4ST aTel U O &1 a7maaH |

75.  Quantity A : Number of matches won, lost, and drawn by team A in IPL are 6, 3 and 3 respectively.

Percentage of matches lost by Team A.

Quantity B : Number of matches won, lost, and drawn by team B in IPL are 2, 2 and 4 respectively.

Percentage of matches won by Team B.

R A€ & v § S\ A g O, BR ok s el <@ e @ v maw 6,33k 38|

M A ERT &R Y 39 &1 yfdwd |

WﬁrB:mﬁwﬁﬁﬁBmGﬁﬁ,gﬁsﬁ?myﬁvﬁﬁﬁﬁaaﬁﬁwm:2,2aﬁ?4%"|

EM B gRT Si1d ¢ 9 &1 ufywg |

76.  Quantity A : The number of girl students in a college of 3000 strength including transgender students,

if boys constitute 40% strength.
- Quantity B : Number of boy students in the same college.

WA:Mﬁﬁaﬁm@ﬁﬁ@ﬁﬂﬁaaﬁmoomﬁma@#aﬁmaﬁm

BT 40% B, TSfpal B F&T |
IR B : S Bieiet § dTsdi &) G|
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Directions (Questions 77-80): Each question below is followed by nvo statements 1 & I1. You have to
determine whether the data given in the statements are sufficient for answering the question. Mark answer

as

(1)
(2)

3)
4

if statement [ alone is sufficient to answer the question but statement I alone is not sufficient to
answer the question.

if statement Il alone is sufficient to answer the question but statement | alone is not sufficient to
answer the question.

if both the statements are needed to answer the question.

if both the statements together are not sufficient to answer the question.

A= (T 77-80): 371 9T A U U S A€ < U /3R [/ 20 v | amue) RuiRa e 2 fp
T Ul H T AT ipe U b SR B oI gATE | AT SR EfRag vy § sifhd @Y

)
()
3)
4)

77.

78.

79.

80.

89/E/XX-XV/05 17 89

I ye & IR & AU Aba S | waia 8, g deF 11 sraber gafad 781 2|
I U & SR & AU el HoF [ gaia 8, fbg boF [ srdbenr waie 78] 2
e 9o & I & oIy <M1 HUH T B |

Ife <Fl P fdax Wl ued & SR & g uafa =18 &

AABC and AXYZ are congruent.

[. Areaof AABC and AXYZ are the same.

I AABC and AXYZ are right-angle triangles.
AABC 3R AXYZ waftred €|

I. AABC 3R AXYZ & &F%hdl 99 £ |

II AABC 3R AXYZ w9101 3w €|

The pocket allowance of Anu and Bittu is in the ratio of 3:4 and their expenses are in the ratio of 4:5.
What is the ratio of their savings?

[ Bittu’s saving is 25% of her pocket allowance.

II. Bittu’s pocket allowance is Rs.2500.

317 SR e &1 Sewd 3:4 Ui # 3R ITHT @ 4:5 U § & | I g BT ST e
27

I fdeg @ Taa IgaT Se@d 3 25% 8 |

II. fieg &1 Se@d 32500 |

What is the average height of the class?

L. Average height of the class decreases by 17 if the tallest student with 56” height is excluded.

II. The average height of the class increases by 17 if the shortest student with 42” height is excluded.

DeTl B JAAd oars fhar 27

I afe ®em & 56 39 & W @d faemil @1 ger fRar Sy o) $en @ sid | 1 g9 Te o
gl

II. afe Bem & 4259 & |aw Bic faemll o1 ger fRar Sw o $en @ s @@ 159 9 o)
gl

What is the difference between two digits in a two-digit number?

[.  The multiple of the two digits is 0.

II. Triple of that number is 40 less than 100.

1 3P B UH G # <H Gl B 4 sk @ 87

I <HI 3Pl &1 IOt 07 |

1. 39 |&1 &1 A A7 100 40 H 2|
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What is the minimum number of rows and columns that a Word table can have?

(1) I Row, 2 Columns (2) I Row. I Column
v ':’(3) 2 Rows. | Column (4) 2 Rows. 2 Columns

U 9 <A H JYAqH fhd U 3R BicH &1 T 8°

(1) 130, 2 dieH (2) 1 0, | BicH

(3) 21, | BfeH (4) 21, 2 ®fcH

In MS Word, Thesaurus is used for

(1) Spelling Options (2) Grammar Options

(3) Synonyms and Antonyms Options (4) None of these

MS g€ H fRE &1 JINT —————— & forg foman Smar 2

(1) ac=r fadear (2) |rRYl fadmeat

(3) FAFEdF IR faudiarele e (4) 398 A BIg T8I

In MS Word, Menu Item in dim color (gray) indicates that the menu is

(1) unavailable for current context. (2) not much required Menu.
(3) Toggle Menu. (4) over used Menu.

MS a€ # Hg T (gRR) § ¥ geH JRud dear & fb i —————— 2|
(1) HIS[eT 916 & oy arguerer (2) SaTaT Sufere e A€
(3) <fret 7, (4) 3T ga #

In MS Word, for what purpose does the ‘Ruler’ help?

(1) To set Tabs (2) To set Indents

(3) To change page margins (4) All these

MSae ¥ wer' f5d yaIe & #g orar 87

(1) <9 3T & | (2) 3T e &RA |

(3) 91 "It uRafda & 4 4) T

In MS Excel, you can add a hyperlmk to your worksheet by pressing

MS Taid ¥, ———————Wmmmﬁeﬁwmﬁh@m%‘l
(1) Alt+K (2) Ctrl+H

3) Ctrl + K (4) Ctrl + Shift +K

In MS Excel, to make a number in cell C1, 10% smaller than the number in C3, you should
enter

Msmaﬁcsﬁaﬁmﬁ 10% B ¥&m A C1 ¥ 999 & oy emge ————— Uex
HRAT AR |
(1) =C3*1.10 (2) =C3*110 (3) =C3*%10 (4) =C3*.90

Which of the three types of data are found in a computer spreadsheet?

(1) Data, Words, Numbers (2) Equations, Data, Numbers
(3) Words, Numbers, Labels (4) Numbers, Formulas, Labels
T HrYex Brediie # & I e & arde aig o 87

(1) Se1, 98, Ja) (2) ST, ST, Fax

(3) 98, dAER, o9 (4) R, B, T
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In MS Excel. to select several cell or ranges that are not touching each other. you would while
selecting.

(1) hold down the Ctrl Key (2) hold down the Shift Key

(3) hold down the Alt Key (4) hold down Ctrl + Shift Key

MS TRIeT H Teb GRR bl W3 @R I8 B A AT I AT B forq, g THI —————— CLICN
G g |

(1) BEIA Bl (2) Rroe &1 (3) 3ifee DI (4) BeTd + RBge &)

In MS PowerPoint, which of the following should you use if you want all the slides in the presentation
to have the same look?

(1) The slide layout option (2) Add a slide option

(3) Outline view (4) A presentation design template

MS UraRuise § Ifq amg ugfa # Ol T8s @ Idel /3l U oIl @A 98 © dl 3y
FfaRad 4 & feaasr T aar?

(1) ¥Tgs wense famed (2) ¥s T vesS e

(3) 3MSceligT & (4) TP UciceH fSursd ewele

In MS PowerPoint, special effects used to introduce slides in a presentation are called
(1) Effects (2) Custom Animations

(3) Transitions (4) Present Animations
MS "TeRtige § fh:il oifal 3 Trgs wfie ova & forv ygad a9y ywe (@erel ghae) ————
FHEATT © |

(1) sHhae (2) %A UmeE (3) i (4) Usie gfrree
Which of the following types is not an Image file?

T 8 & =9 |1 TR U 38 WIed T8l 27

(1) .bmp 2) .jpg (3) .wmv (4) .png

Which one of the following is a language that can be used to create a webpage?

freafafea & & =i €t 97 v @ e sy Sets 591 3 fore 3 s g 22
(1) HTML @) C (3) BASIC (4) SQL

A is a software program that lets you interact with the information available on the web.
(1) search engine (2) browser (3) client (4) None of these
Toh WL ST & ST ATYH] 3 0T IueTet] T o |1 S8 B I gl 2 )

(1) T (2) SR (3) FTEe (4) T A T

Which of the following statements is correct about a computer system?
(1) There are two kinds of computer memory: primary and secondary.
(2) The computer can understand decimal systems also.

(3) The storage of program and data in the RAM is permanent.

(4) PROM is secondary memory.

H fireen & an ¥ frfafad § § =9 @ s ad @2

(1) HegC AR 3t Yo T it 2 wrerfiyes 3t fdiaen)

(2) P AT YOTTAt i oft THF Tl 2

(3) RAM ® Wi 1T 227 o1 &R TRt &ar 2

(4) PROM @ahell A9 21
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One Terabyte (TB) is equal to byvtes.
7%, ez (1B) qTZeH % e Al 2l
(l) zl(l (2) 23(l (3) 23(! (4) 24(!

In Windows computer operating system, what is the meaning of “Switch User™ in start menu option?

(1) Switch between windows users after closing the programs.

(2) Switch between windows users without closing the programs.

(3) Close programs and logoff the currently logged in user of the system and switch over to another
program.

(4) Closes all open programs, switch off the Windows, and then starts Windows again.

g AU mﬁaﬁﬁ@iﬁiﬁwﬁ ~Switch User™ a1 a1 379 a1 27

(1) T §E O F A1 e STandarel & s e

(2) S stz FRu o et SwaTaRata o siter far el

(3) 9T &g AT 37t fiyeey § 9 & S 24 STATERAl il ATATE HET ﬁaﬁquﬁaaml

4) mﬁqﬁmﬁaﬁaﬁwém%,ﬁ‘eﬁﬁaﬁazm%m%,ﬁﬁﬁéﬁaﬁﬁtﬁg&ﬂéﬂ%

Which of the following is/are internet web browser(s)?
(1) Microsoft Edge (2) Mozilla Firefox (3) Google Chrome (4) All these
frefafad § & 919 91 Sete 39 FISsR 2/8?

(1) TTSHITTTE TS (2) HISTAT BT (3) T A (4) Fadt

On internet, when we navigate from one page to another in search of the desired information or to
complete a particular task, it is known as

(1) web finding. (2) web browsing. (3) exploring the site.  (4) None of these

ézéquaagqaﬁ%ﬁaﬂwﬁaﬁmﬁmmﬁmmﬁ@w%ﬁm@@ﬁaﬁwmGﬂ?f%jﬁsﬁ
EREIGE]

(1) TS VEKEEISEL (¢) TR AT HEA  (4) FHARE T

What is the full form of the SSD, the storage device?

(1) Solid State Drive (2) Sequential Storage Device
(3) Secondary Storage Drive (4) Sequential Storage Drive
il fearzd SSD o1 U1 &9 41 82

(1) gifde Regra (2) Hiaafire R fead

(3) Thell RIS g (4) e LR g

folder in email is used to store emails that you have not yet finished writing or that you
intend to send later.

(1) Inbox (2) Draft (3) Outbox (4) None of these
WAy mwmwéﬁaaﬁéﬁamﬁ%ﬁmﬁmm%ﬁ%mwﬁﬁmmﬁﬁm
2 a7 o8 o179 aTE & S S 3T T &

(1) st (2) T (3) AT (@) FHARE TG
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Directions (Questions 1-5): Study the passage below and answer the questions that follonw,

Passage .

The Internet was designed to evolve in a distributed fashion. Individual machines which were connected to the
Internet were given the power to decide who people should talk to for a service in which thev are interested. In
the entire design of the network layer. there were no gatekeepers except for very basic functionality such as
allocation of Internet Protocol addresses and root servers for resolving top-level domains like .com, .org. and
-net. Anyone could connect to the Internet and start providing or consuming a service. As a result, the Internet
saw rapid growth in the 1990s and 2000s. Many services such as emails. websites. and chats came up and
became an important part of the Internet ecosystem. They enabled the sharing of information and e-commerce.
To access a website, all we needed was a web browser. The standardisation of protocols and languages made
this easy. In the beginning, Yahoo provided a directory of websites under various categories. As the number of
websites exploded. a search engine. Google, came up to quickly provide a list of web pages that matched our
search queries. And then came mobile devices. When Apple came up with the iPhone. everyone began porting
their websites so that these sites could be easily viewed on small hand-held devices. Apple also urged third-
party developers to build web applications (apps) that could run on its Safari browsers. But then developers
wanted the same control over the devices that Apple had. They wanted the ability to ship native apps on these
hand-held devices. Apple opened the App Store for third-party native code on July 10, 2008. Apps are software
programs that can run natively on mobile phones. Running untrusted software and that too natively is a big
security nightmare. With direct access to the machines, apps can exploit local privilege escalation vulnerabilities
and get control over the devices. This is something that cannot be exploited remotely. But businesses loved the
apps. It meant they could run their native code on millions of machines, unhindered. They started pushing their
users to install their apps rather than providing their services through the standardised browser. The users were
told that the apps would provide a far more “immersive” experience than a website could ever give. But to get
such an experience, users needed to cede control over their SMS®, photos, videos, and location. They also had
to lose the controls that a web browser provided, such as blocking advertisements. The gatekeepers, app stores,
tried to allay the fears of users that these apps are safe. Yet, newspapers are filled with stories on how app stores
contain apps with malware, or commit financial frauds, or even steal private information. Apps were wonderful
for everyone except the users who have been at the receiving end of various unscrupulous apps. A decade ago,
I'had highlighted these security issues with the apps and why web browsers are a better alternative. But people
loved apps, businesses loved apps, and now the app stores love apps because they can impose an app tax ranging
from 15% to 30%. The businesses, which loved apps for the control they got over the users, are now enraged.
The battle between businesses and app stores is far from being settled. It seems unlikely that the app stores will
easily leave out the lucrative revenue coming from the app tax. Instead of rethinking whether we need to go
back to web services accessible on a web browser, businesses want an app store that doesn’t have any app tax.
Irrespective of how this battle between app stores, business, and courts pan out, it should be clear to the users
that apps are not the way they should have chosen to access Internet services. The immersive experience was
drowning the users earlier and is now drowning businesses. In the end, there will be only two winners, the ones
that control the app stores: Apple and Google. :

1. Which of the following statements about the internet ecosystem is implied in the passage?
i. It enables and accommodates a variety of services.
ii. It is mostly a user-friendly platform.
iii. It is a common platform for both providers and consumers of services to utilise and carry out
transactions.
(1) iand ii (2) ii and iii (3) i and iii (4) i, ii and iii

2. Which of the following options best describes the term ‘gatekeepers’ in the context of the passage?
(1) Blockers (2) Regulators (3) Restrictors (4) Receivers

3. Which of the following statements could be inferred from the passage about the Internet?
(1) It was designed primarily to serve the fashion products distribution industry.
(2) Ithas evolved and continues to grow in the same way that it was designed and envisaged originally
by its founding fathers.
(3) The internet has been a versatile medium that is highly useful for a cross-section of users or
consumers.
(4) All these
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Which of the following statements could be inferred about the author’s views about how the internet

medium was evolving?

(1) One of the highest excitements about the skyrocketing possibilities.

(2) One of the cautious optimisms about how the medium could be channelised for the mutual benefit
of both businesses and consumers.

(3) One of the sheer despairs at not being able to shackle the menace of apps.

(4) One of the helplessness about the directions it has taken especially in respect of the “immersive’
experience of using apps.

“The apps would provide a tar more ‘immersive’ experience than a website could ever give.” What
is the implication behind this claim?

(1) The apps would make the internet a more versatile medium.

(2) The apps would make using the internet a comprehensive experience for the user.

(3) The experience would be more flexible, personalised. and inclusive when an app is used.

(4) The apps would make internet usage highly addictive.

Directions (Questions 6-8): Choose the option which gives the best way of writing the sentence ensuring
that the message is correctly conveyed.

6.

(1) I passed the exam by the skin of my teeth: I got the minimum required score.
(2) I passed the exam by the skin of my teeth; whereas I got the minimum required score.
(3) I passed the exam by the skin of the teeth as per my minimum required score.
(4) I passed the exam by the skin of my teeth, although I got the minimum required score.

(1) We’ve been painting all afternoon, let’s call it a day for continuing from tomorrow.
(2) We’ve been painting all afternoon; let’s call it a day and then continue from tomorrow.
(3) We’ve been painting all afternoon; let’s then call it a day to continue tomorrow.

(4) We've been painting all afternoon; let’s call it-a day and continue tomorrow.

(1) Her constant humming drives me up the wall; as I can’t concentrate with that noise.
(2) Her constant humming drives me up the wall; [ can’t concentrate with that noise.

(3) Her constant humming drives me up an wall for I can’t concentrate with that noise.
(4) Her constant humming drives me up the wall; so I can’t concentrate with that noise.

Directions (Questions 9—11): Fill in the blanks.

9.

10.

11.

In these bleak and depressing times of prices, non-perfbrming governments, and

crime rates, the Indian cricket team has given us a lot to cheer about.

(1) escalating, decreasing (2) spiralling, booming

(3) spiralling, soaring (4) ascending, debilitating

Acids are highly reactive metals and for that reason, be stored in metal containers.
(1) towards, cannot (2) within, shouldn’t  (3) for, cannot (4) by, shouldn’t

Most acids dissolve in water at room temperature or on heating to a clear solution.
(1) simply, form (2) just, make (3) either, make (4) either, form

Directions (Questions 12-14): A sentence has been broken up into three parts sequentially (1, 2 and 3).
Choose that part which contains an error and mark your answer accordingly. If there is no error in any of
the three parts, then mark the answer as 4. .

12.
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(1) The study of science become enjoyable

(2) for both teachers and learners

(3) when taught in an interactive and relatable manner.
(4) No error




13. (1) The Q & A section at the end of every chapter
(2) encourages learners to recall and reiterate
(3) the concepts discussed in the class.
(4) No error

I4. (1) She is an experienced educationist and
(2) teacher who has developed several
(3) child-friendly learning methodology.
(4) No error

Directions (Questions 15-17): Choose the option which best expresses the meaning of the underlined
idiom/phrase in the sentence.

I5. To cry wolf'is a longstanding habit of my superior at work which has made him unpopular amongst
the colleagues.
(1) To fool someone by pretending to cry
(2) To ask for help when it is not really needed
(3) Trying to scare someone
(4) Whistling at someone instead of calling out to him/her properly

16. Crying over spilt milk is a total waste of time.
(1) Worry about the amount paid for the milk that boiled over from the vessel
(2) A child crying when his mother slaps him for spilling milk
(3) Feeling regretful about something that has already happened and cannot be undone
(4) Trying to mop up milk spilt on to the floor so that it could be used

I7.  The claims by people known to be boastful must always be taken with a pinch of salt.
(1) To be taken as a spicy joke rather than something serious
(2) To be disbelieved
(3) To be heard from one ear and taken out from the other
(4) Not to be taken at face value

Directions (Questions 18-20): These questions consist of a group of sentences which when sequenced
correctly, form a coherent and logical paragraph. Choose the option that gives the best sequence.

18. A. Still, there is every chance that Sophie might need an open-heart surgery sometime later in life.
B. But with the news that his infant daughter Sophie has a hole in her heart, he appears vulnerable.
C. While her condition sounds bad, it is not life threatening, and frequently corrects itself,
D. Sylvester Stallone has made millions and built a thriving career out of looking invincible.
(1) DCAB (2) DBAC (3) DBCA (4) DCBA

19.  A. However, the severed head could not grow back if fire could be applied instantly to the amputated

part.

B. To get rid of this monstrosity was truly a Herculean task, for as soon as one head was cut off, two
new ones replaced it.

C. And Hercules accomplished this labour with the aid of an assistant who cauterized the necks as
fast as he cut off the heads!

D. One of the twelve labours of Hercules was the killing of hydra, a water monster with nine heads.

(1) DCBA (2) ABCD (3) BDCA (4) DBAC

20. A. That Hollywood is a man's world is certainly true, but it is not the whole truth.
B. Even Renaissance film actress, Jodie Foster, who hosts this compendium of movie history,
confesses surprise at this.
C. She says that she had no idea that women were so active in the industry even in those days.
D. During the silent era, for example, female scriptwriters outnumbered males 10 to 1.
(1) ADBC (2) ABDC (3) DCAB (4) ABCD
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Directions (Questions 21-24): EFach of these questions consists of a statement follovwed by two arguments
I and II. You have to decide ywhich of the arguments is a “strong” argument and which one is a “weak’

argument.

Mark answer as

(1) if only argument | is strong

(2) if only argument Il is strong

(3) if both arguments [ and [l are strong
(4) if neither argument | nor I1 is strong

e (W¥9 21-24): 39 U1 H Us HuF IR SUS d1€ €1 db /3R /ey v € anuet iy @ven @
fF ST d@ Tea’ 3R P FHAR' & |

21

22,

23.
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3T SR FrfaRaa v A sifea a :
(1) afe &aa & | vaa &

(2) I Bad d® [l el &

(3) IfT 9@ 3R 11 S ¥ad &
(4)afe 7 @ a 1R 7 & 1l vea &

Statement: The Government must restrict the use of electricity for each household depending on the
number of inmates in the house.

Argument I: Yes. This will help the government tide over the problem of inadequate generation of
electricity.

Argument II: No. Every citizen has the rlght to use electricity, as per their requirement and the ability
to pay for using electricity.

BT : WHR Pl U R H I8 dlcl Ge] D 6@ § IR R JA$ R & forg fawreh @
SN B AT HA1 & AR |

TP 1: 81 | 390 WHR 31 gafe A1 3§ f[{srelt Sfa 9 89 o wawn & Pgesy § wqq ferd |
@ II: e | YA ANTRS BT 3701 aeadar iR fastell & Iuanm & fofg syra == & eman
T ATAR TADT SUANT TR HT IFR B |

Statement: Performing outstanding medical research requires more than a simple talent and more
than simple explanation. Hence, only those researchers having outstandmg knowledge and ability
should be allowed to perform medical research.

Argument I: Yes. Developing creativity in students is less important for the cultivation of research
talent than instilling a sense of dedication.

Argument II: No. The proper function of our universities is not to produce only outstanding
researchers, but to create well rounded medical graduates.

YA : m%wﬁ%ﬁwﬁﬁmm@mwﬁw
BRI & | 31 A Icqe YT iR IRgar arel IrgaeTBdiai B € Rifhear sy v @
rgafa & S =Ry |

@ I: 8 | FHYVT @1 A1E1 A DI 1 # I vt a1 R & forg fenfiat # gomreradr
e @1 &9 Ayl 8

@ II: 721 | &R Rreafaenerdl &1 98 &1 dad I JgauHar ol BrAT T8 afed aggdl
frfred a9 AR &1 2 |

Statement: Should India takes seriously the proxy war waged by Pakistan and take strong action?
Argument I: Yes. The proxy war causes loss of lives and also becomes a source of economic burden.
Argument II: No, because it will be questioned in the UN and will invite international criticism.

PYF : TN MRG DI IIBWIT §RT TAY Off & BGH Jg§ B THRAT | o1 3R S BRATS el
a1feg?

T L 81 | BEH g W 9F &1 JH9H BT & iR T8 fd dier &1 dRor o aar 2|

T I1: 721, FIf% Agaa I H§ 39 W 9aTd W 811 AR I8 JORRIST JATAreT BT SR G |




24,

Statement: The open book examinations be introduced for every professional course in India.
Argument I: Yes. All candidates can pass easily and can start their professional life easily.
Argument II: No. Students who don’t deserve to pass in the examinations otherwise will pass but
not get jobs anyway and remain unemployed.

B : kA A Y Y9ER UTeadmE @ [o1g el fbara e g% @) o |

@ I: 81| Wil apaefi S | Sl 81 Wehd € iR AUl YRR e STl W I BR Add
gl

& 11 61| St faenefl oden § Sl €M @ g@er TE 21 9 I @ & 9, R 9% B
el AT 3R dRISHTR &€ &8 |

Directions (Questions 25-28): For the Assertion (A) and Reason (R) below, choose the correct alternative
from the following:

Mark answer as:

(1) if both (A) and (R) are true and (R) is the correct explanation of (A).
(2) if both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) if (A) is true but (R) is false.

(4) if (A) is false but (R) is true.

fder (e 25-28): 1A Ry 1y e (4) i FROT (R) & forg ey 7Y faemedl # 9 A& fRded g4 |

2%

26.

27.

28.
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9T SR efeRad wu 4§ g4 ¢

(1) If& (A) 3R (R) TAET W8T € 3R (R), (A) B WE! A=A § |

(2) 3fe (A) 3R (R) TET W8T & «fbT (R), (A) BT TE =T =181 2 |
(3) e (A)TEI & Afds (R) ToId & |

(4) T (A) Tad & «fdT (R) 9 B

Assertion (A): The phenomenon of nuclear fission generates great energy, and it is used to create
weapons of mass destruction.

Reason (R): The process in which two nuclei are joined into one single atom is called nuclear fission.
AU (A): A1 fdes @ uReeTr 4 s ot S erfl § 3R 39 aue da’l &
IR (IR & & forg wainT fasan oiman 2

BROT (R): 1 AADB] PI U Adel URATY] H Sie @l ufehar A gsd dearh 2|

Assertion (A): Males play a major role in determining the gender of the offsprings.

Reason (R): Determination of sex in human being is determined by the sex chromosomes (XX in
females & XY in male).

AAHAT (A): G @1 o FuiRa &= 3§ goy @ v 9ffer & 2

HRT (R): 7g=i A foir &1 feRer 99 sHem (oRE) @Rer #§ XX iR go9 § XY) gR1 &
g ‘

Assertion (A): The price of a share in the stock market is determined on the basis of demand and
supply of the stock.

Reason (R): The score of the Index in a stock market moves whenever there is a noticeable rise or
fall in the demands of the shares which constitute the Index.

ANGYT (A): IF TR H TF IR B SAa e @I A7 MR gfef & amar w FHuflRa &
PR (R): Wi IGR H YADIS BT ¥R Hea—aedl & | 94 W gasiad d fe Ta=i & qiT
¥ oo gy a1 & ot &

Assertion (A): The Himalayan Rivers are not suitable for the production of big hydel power though
they are full of water throughout the year.

Reason (R): The Himalayan Rivers are subjected to drastic change of courses particularly after the
landslides and earthquakes.

BT (A): et afeai g 7 § el & Saea & fog Suge @t € eronife S
QR TS U WRT IECT R |

HRU (R): feArerd) Ffedl & arf 3§ 48 uRad= amar &ar 8, @rax i@l 3k &= & 914 |




Directions (Questions 29-32): Read the following information carefully and answer the questions that
Jollow.

In a paper presentation event on science. five participants — U. V. W. X. and Y. reached the final round. At
the end. they are awarded prizes depending on the positions they achieved from first to fifth. Each
participant has chosen a unique scientific field: Physics, Chemistry. Biology. Mathematics, and Astronomy.
The following information is also provided:

e U didn't choose Chemistry and came in position after Y.
The one who chose Physics finished just after the participant who chose Biology.
V finished just ahead of the participant who chose Astronomy.
X is not the one who chose Biology and didn't finish last.
The participant who chose Mathematics finished after Y and after the person who took Physics.
W didn't choose Mathematics and came two places after the one who took Chemistry.
The one who chose Biology finished after the one who chose Astronomy.
U hasn’t taken Astronomy and finished fifth from the top.

e (w1 29-32): A7 & 7F g @ wT @ ggHv 37 g @ GHw &

fasm @ vs ux uxfa sripa 4 9@ afowmeft — U v, W, X SR Y enfRedt €R ¥ ugd | aig 9
Yo ¥ UrEd G WIE WF P R R REBR T BT 1| u@de uferhl ¥ ue fagw s e
AT o7 — Hifcrepl, R s, Sfa Rgm, 1@ ok wwe fasm | FrafaRea sifiRed s o &
T E

U <94 fase 781 971 3R Y & 91 &1 wIH ure far |

ATl g arel wfearf 5 Sha g gam arel ufeearhl & Qe a1 &1 e ura fan |

VI @iiel s g9 aret ufemhl & 6 gge @1 wIH U

X g8 yferdrft =€l € fo ofia fagm gem ik a8 onfRas) e wR =78 @)

I g arel URMrl 9 Y & a1 &R ifdat g arel ufomel & 91g @1 v e fban

gmﬁwmmwﬁwwmma%ﬁwmmww
I

Sfia fasme g7+ gren gfeMrh @ e e are ufoerlt & 9w & o W <@

o UH @id fas 781 g ofk fid & urgd wIe o &)

29. Who among the following chose Physics?

FrefaRea 4 4 feam Aifde g
(Hu @V (3) X : 4 Y
30. Which of the following fields did W choose?
(1) Chemistry (2) Mathematics (3) Biology (4) Astronomy
W fe=iferfaa # @ diF—ar & gar?
(1) zargq fasm= (2) Tford (3) Siafas™ (@) @ie fsm
31.  Who among the following finished first in the competition?
& irAIfar § $F Ugdl WIF W e
(Hu @V 3) W @ X
32. At what position did the participant who chose Biology finish?
(1) ls( (2) 2nd (3) 3rd (4) 4th
Sl faem™ g arel gfomh 7 SF—w1 e ura fear?
(1) 9™ (2) g (3) d™T (4) drem
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Directions (Questions 33-36): /n cach of these questions a statement is given, which is followed by iwo
assumptions. numbered I and 1. An assumption is something supposed or taken for granted. You have to
consider the statement and the assumptions and decide vwhich of the assumptions is implicit in the siatement.

Mark answer as

(1) if only assumption | is implicit.

(2) if only assumption Il is implicit.

(3) if both assumptions I and 11 are implicit.

(4) if neither assumption [ nor Il is implicit.
fder (W= 33-36): 371 uwl # U b 3R SUD @e €1 A=A 3R 7 TE & | "rar and 9k W)
WIHR Bl & | 3UD] B2 3R A= R fFar s gu [Avka @ & 6 wud @ Rae § aa-d
A= fafifed & |

3T SR f=folea wu # sifda & -

(1) afe dae Ar=gar | efafifRd 2|

(2) afe daa w=uar 11 afifed 21

(3) afe A=Ay [ &R 11 SF1 sidfifed 21

(4) afe 9 a1 9=ar 1R 9 & 11 3fafifea &1

33. Statement: Shashi is a voracious reader of English Iuerature his English is so good that he writes in
English even better than an American does.
Assumption I: Reading of English literature voraciously helps developing good writing skills in
English.
Assumption II: Americans aren’t voracious readers.
U : R IUSH Afe FT G- Ugrq; B, IFD! S g 3 2 fb a8 sPRfFAT A f dER
vl foraar 2|
AT 1I: U At & R I W Ul § sl o $ivel fAsRid gar @ |
qrgar 11: SRS @11 8 ugrd, -8l &I |

34.  Statement: The recent incidents of pickpocketing have shown that it has become rampant in most of
the crowded places.
Assumption I: The incidents of pickpocketing were not there some years ago.
Assumption II: Pickpocketing takes place only in crowded places.
ﬁq:ﬁmﬁﬁ%ﬁﬂﬁ@ﬁ%%%—mﬂﬁww@wwwﬁ

g

HAT I: B a¥ Uecl G @l HeHG T8l gl &y off |
AT I1: SeHaR] dae Ms—H1$ aTell el W 2l 2|

35. Statement: Wars must be discouraged at all costs even though majority of the victims might deserve
some reprisal as their countries have been a nuisance to peace-loving people.
Assumption I: People from the countries which create problems to peace-loving people are supposed
to pay for their governments’ action.
Assumption II: Wars kill or harm people majority of whom are those who create problems to peace-
loving people.
T : I W DG R Tl ST MY ETife 59 Afway YaaHnt afifdwr @ gder 8
Ao € Hifd I8 ¥ WAt eue & afdadl @ fog Fereerd @ B E |
AT 1: Wil e & afeaal & fog e @€ s arel <u & afdal Bt v aeR
@) bl DI FTHITS AT ST 2 |
AEar 1: g ¥ S B S-A1d @1 gead sl @ R 9 affei 3 g € o wifaf
w@HE & Afeddl & foay wer @St e § |
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36.

Lad
o

38.

39.

40.

41.
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Statement: Due to excess and uncontrolled use of social media. the incidents of child abuse are
increasing and has become a major reason for human exploitation world over.

Assumption I: Children have access to the use of social media in most of the countries.
Assumption II: Other forms of human exploitation exist in various countries.

DY : AT HiiSW B ARG AR AERT ST & FROT A1t IS B HeAN a8 @) 2
3R 78 gFa W A 7= & Y6 HT U UG HROT &4 AT R |

A=Al |: 3SR QUi A i @) aree fifear W ugy g

Agar 11: 9991 & 99U & e w9 A= Qe F AgE €

The main door of Aradhya’s house faces East. One day, she started her morning walk from the back
side of her house and went 50 metres straight. Then she turns to her right and walks 50 metres again.
Finally. she turns towards left and stops walking after 25 metres. In which direction Aradhya is
standing from the starting point now?

(1) South-east (2) North-west (3) North-east (4) South-west

ANTEAT & BRI & XA 19 B! AR 2| (P T AT a0 R B Awed R F qag A
W gS B AR Wef 50 Aex 7ol | 399 1@ A gL R MR 50 Hew @A | ofd § g7 AG qE
AR 25 AR TR B TS | TN YO I B WA F AREAT by Rew § @ 27

(1) feror—gze (2) STR—uf¥=m (3) STR-T9 (4) SfEor—uf¥zm

Seema told Jaya, the girl I met in the park yesterday is the youngest daughter of the brother-in-law of
my sister’s mother. How is the girl related to Seema?

(1) Cousin (2) Daughter (3) Niece (4) Aunt

A1, o1 9 bl &, “fied T o § R a9 el 97 A9 989 @) A9 & gev—sa—df
@I FaH B! 981 77 | 99 ASH! BT WA F a1 Rear 272

(1) B 2) 3& (3) ¥ (4) 3

Pointing to a person in a photograph, Shubhranshu said, ‘Her father is the son of the mother of the
father of my only daughter’. How is Shubhranshu related to the person in the photograph?

(1) Son (2) Brother (3) Nephew (4) Data inadequate

Ud Bl § U Al &1 3R IR Fxa YA Heal 8, "3T9 Afen &1 far 34 sapard) a8 @
faeT @1 #i @1 9er 8 | Tuiy @1 W Afeen | @ar Rear 82

(1) ser (2) Wg (3) 7wy, (4) s oAt &

Five readers A, B, C, D and E go to a local library every evening and read a newspaper. The one who
reads first gives it to C. The one who reads last had taken it from A. E was not the first or last to read.
There were two readers between B and A. Who among the following is the third to read the
newspaper?

Uid Uled A, B, C, D3R E & ¥ (& &g W € 3R Ue 3¥eR Ued & | Ygal Ugs arel
IEIR CH § <1 & MR H UgH I1e A ¥ AR ol 2| E a2 Ugel a7 R # ued
arell <Afd €l 81 B3R A @ &9 31 U6 & | JRGIR UgH dTel dNT afd @i &7

()B (2) E 3) A 4)D

A sum of %8,59,125 is divided among 3 General Managers, 7 Managers and 4 Directors in such a
manner that 2 Directors get as much amount as 3 Managers and 2 General Managers get as much
amount as 3 Directors. Find how much amount did each manager get. )

8,59,125 &1 G-I 3 HEWEYH, 7 YeuH! AR 4 FSws! § 39 yoR aid) o & & 2 fgys,
3 yeuel el g=RIfY ofR 2 wemwEy®, 3 Ave! R o Rifd o o & | vds veus @)
frai—fara=T ga=ifdr urar g2?

(1) 40,300 (2) 342,000 (3) 43,500 (4) 345,800




44,

45.

46.

47.
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On his visit to Rishikesh. Sanjeev went for rowing in Ganga river. He rowed at a speed of 17.5 km in
one hour in still water. The speed of the water current was 3(1/2) kmph and it took him 3(3/4) hours
to go from point A to point B and return to point A. Find the distance between points A and B.

(1) 31.5 km (2) 32 km (3) 32.5 km (4) 33 km

FADY B U A WR Follg T A4 H e wR T S99 Rer urdl § ua we § 175
foH. @ aret | =g W | urfl @) R @ e 3(1/2) fe. 9f ger o) ok 39 A9 B wIH d®
S H 3(3/4) €el | ASIR Bd @19 & g8 —————— gl

(1) 31.5 fo. (2) 32 f. (3) 32.5 fopeil. (4) 33 fH1.

M/s Santosh Electronics gives a discount of 27.5% on the marked price of an electronic gadget and
earn a profit of 16% only. Now, they want to make more profit and therefore. reduce the discount to
20%. Find how much more profit would they earn now?

A9 AA solagifad Ua geidgie duie & 3ifhd Hod W 27.5% @) ge al & 3R dad 16%
T BEIT & | 39 g8 Ao o HAFT ATEdl & AR AT BT BT 20% $X adl & | 34 I
fore a1t o aifdta grm?

(1) 12% (2) 15% (3) 18% (4) 20%

There are 16 players, including 2 wicket keepers and 5 bowlers, available for selecting a cricket team
of 11 players. In how many ways can a team of 11 players be selected if we have to include 1 wicket
keeper and at least 4 bowlers?

11 RISl &1 ta fhde W & 999 & oy 2 APePIwR 3R 5 deal afkd 16 Raars) Sua=r
21 afk g 1 Recaw 3R $9 9 &9 4 g afd &3 € € a1 fhas adiet 9 11 Raenfeat
B Y S AT o Al 87

(1) 862 (2) 1092 (3) 1764 (4) 2036

Adjacent to her home, Himani has a square field. All around the field, there is a path with a width of
2.5 meters, and the area of the path is 1175 sq. meter. Himani wants to get fencing done around the
square field. The cost of fencing the field is T115 per meter. Then, how much amount Himani needs
for the fencing?

U R B g H R F1 0P gieR Wd 21 39 W & ARI AR 2.5 Hex drel UF 9 2
3R 3 9 & &FHA 1175 I Aex & | R 39 TR @ & IR 3R 918 avEE aEd) 2 |
Wd H 918 M @ PHa 2115 ufadiex ® | gt eraE A A &1 e @4 amum?

(1) T46,700 (2) 248,500 (3) 50,600 (4) 252,900

A, B and C together can complete a piece of work in 10 days. All the three started working at it
together and after 4 days, A left. Then, B and C together completed the work in 10 more days. A
alone could have completed the work in

(1) 15 days. (2) 16 days. (3) 25 days. (4) 50 days.

A, B3R C ™ fidar 1@ @™ @1 10 A1 § @ a% ¥oa €| I g Aedr s go axa
g 3R 4 &9 & 912 A 9o W B 1 399 91 B 3R C A feax @ik 10 A1 § a8 v m g
A €| A D 39 I B —————— A § g1 IR Far 2|

(1) 15 (2) 16 (3) 25 (4) 50

In a mixture of 85 Itrs, the ratio of chemicals A and B is 4 : 1. But to make it suitable for industrial
use, the ratio of the two chemicals should be 3 : 4. How much more quantity of Chemical B should
be added to make it suitable for use?

(1) 32.5 ltrs (2) 30 ltrs (3) 28(1/3) ltrs © (4) 25(1/3) ltrs

85 TileX & U M3 § A 3R B IARIAT & 3urd 4: 1 8| aifed 3w aiienfe Swam & fig
U M & forg ST IARET BT SGUIT 3 1 4 B A0fRY | STRT & fog Suyged 99 § e
B & fhah iR A g9 fAsmor § et 8rfi?

(1) 32.5 efrex (2) 30 &frer (3) 28(1/3) eitex (4) 25(1/3) eirex




48.

49.

50.

51.

52.

53
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A gulab jamun contains sugar syrup up to about 30% of its volume. Find approximately how much
syrup would be found in 48 gulab jamuns, each shaped like a cylinder with two hemispherical ends
with length 7.5 em and diameter 3.5 cm.

(1) 869.60 cm’ (2) 877.80 cm’ (3) 886.10 cm’ (4) 893.30 cm’
U el WA H $9S AIdd BT 30% AT 2 | Uid dl 7.5 WHI. ddrg iR 3.5 9. @ arel
1 e RRT & dAIPR 48 T[elld STgAl H Arer] &l eidi] —————— HIAT 418 S |

(1) 869.60 &5 TH.  (2) 877.80 84 WHI.  (3) 886.10 B9 IH.  (4) 893.30 T4 IHIL

Madhur had some money which he lent in two parts on Simple Interest in the ratio of 13:11 for 5(1/2)
years and 4(1/2) years with rate of interest of 10% and 8% per annum respectively. If the difference
between the interests earned is ¥78.394.25. then, find the total sum that was lent.

R & U B gARIR o R S99 AR e W 13:11 U H &1 R J e 10% 3R
8% aiffes &moT ax 9v 5(1/2) a4 3R 4(1/2) 99 & forw sur fRar| afe afia arwii & da aidy
278.394.25 8 d ol ——————— AR IE- SR <1 ol |

(1) 25.81.400 (2) 35.85.300 (3) %5.89.800 (4) %5.93,500

There are three showrooms of the same type of garments, owned by Hari, Prakash and Umesh. Hari
sells his goods 22.5% cheaper than Prakash and 24% costlier than Umesh. How much percent are
Umesh’s goods cheaper than Prakash’s goods?

BR, UPTY iR IHY & [HEAM T D (G—UD WGH © | BR AU A THT H 22.5% FHR
3R IAE A 24% HE U 2 | YHI S A W SIHA BT A a1 dw<r 2?

(1) 37.5% (2) 35% (3) 32.5% (4) 30%

Rajat and Amit started a business. Rajat was a sleeping partner in the business. Amit, being the
working partner, took a certain monthly salary. At the end of the first year, the total amount of profit
was 27,80,000. The ratio of Rajat’s and Amit’s share was 11:13. If Amit’s annual salary was
excluded, the ratio of their shares becomes 11:7. Find the monthly salary of Amit.

oI R AT 7 e 1@ FRER ¥ f6a1| 3990 39 dRER 4 [fEpa aEer o i,
HRIRT AEER BF @ AW, U F¥ad wikie 907 ofdr o | s A1 @ 3id § A B Gl A
%7,80,000 21 | Toia SR AfAd & Ry &1 i qura 11:13 21| Ife aiffa &1 aiffe 999 Fera e
WY 1 99 2l @ U 11:7 81 e € | 3 &1 AR da S diforg |

(1) 215,250 (2) 215,750 (3) 216,250 (4) %17,000

A fruit seller buys 40 dozen of apples from the wholesale market. There are good apples as well as
rotten apples in the lot. If the probability of getting rotten-apples from the lot of 40 dozen apples is

0.225, then what is the number of good apples?
T Tl fdshel AT IoTR A 40 o Ae TRl €| 399 30 & A I 9 A 21 afe 40

Tuid A9 H 9s 99 Ao @ wifdiear 0.225 & o1 e Q9 o d&an fha 87
(1) 360 (2) 364 (3) 368 @) 372

A big businessman inherited a piece of land, which is triangular in shape having a perimeter of 456
m and its sides are in the ratio of 3:4:5. He uses one-third of this land for making a residential complex
and divides the rest of it equally for building a secondary school and a hospital. Find the area of land
used for the hospital.

(1) 2,586 m? (2) 2,640 m? (3) 2,774 m? (4) 2,888 m?

UFh g2 HREN B faREd § wHiE Aol S Bremer ® sk ga@r ke 456 1 ® Tur g@@
TG 3:4:5 IFUT ¥ € | 98 39 WA BT UP [els ol Ua A aReR a9 # Uit gral
2 3R 91%1 R 97 <1 e Wil § UF wrafie wWhe R Ue srudre 99 @ fog afear #
AT g9 & oY Iga S B 8F%he 1 DI |

(1) 2,586 @ #Hiex (2) 2,640 T Hiex (3) 2,774 T Hiex (4) 2,888 T Hiex




L
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In a school. students exercised their option of selecting the stream in which they wanted to pursue
their higher studies. It was noticed that 1/7" of students opted for Science stream. 1/5" of the students
opted for Commerce and 1/3" of the remaining students opted for Arts stream. If the number of
students who opted for Arts stream is 184. how many more students opted for Commerce than Science
stream?

U ¥hd H [Jenfial 9 oue STaeR e @ fog el geeTER R gAad @l fAded feran |
@ T 1 /7 faenfat 9 Rem grar gA, 1 /5 3 aifors e g ok 3w & U faerg
faenfifal 3 wen wrar gN | AR T wRE g ara el @) W 184 € Al s wran @
gar ¥ favem sifdre faenfdal 9 aiftrsa wmar g+1?

(1) 52 (2) 48 (3) 44 (4) 40

Two angles are making a linear pair. If one of them is one-third of the other, the angles are
<1 BV Uh YT g 991 W@ &1 At 3 A uh, g BT 0 fagE & 1 4 P ————— £ |
(1) 35°.105° (2) 50°,150° (3) 45°,135° (4) 40°,120°

How many linear equations in x and y can be satisfied by x=1 and y=2?

(1) Only one (2) Two (3) Infinitely many (4) Three
x=1 3N y=2 NI x 3R y # fore ¥ w@fia=or got fby &1 s &7
(1) daaT T 2 (3) 3 d U A HE (4 AH

A wholesaler supplies a lot of 725 hair bands to a buyer. He sells 236 hair bands for ¥4.170 more than
their cost and the remaining for Z8,955. If the gain of the wholesale supplier on the total sale is 36%,
what is the cost of each hairband?

U o fIshal Ua T BT 725 AR € B gRT FHRaT B | 98 TUH A 236 2R d$ D! AN U
24,170 3 Hou U= 99 28,955 JTar ¥ | A ofie fasar &1 @ faml R @™ 36% & 1 uD
TR §8 B AN fbal &7

(1) 217.50 (2) 220 (3) 222.50 (4) 225

x+1 is a factor of the polynomial

x+1 9gUE &1 PUAES © :

(1) x3+x2—x+1 (2) x*+x3+x+1 (3) xX*+xx+1 (4) xM43x3+3x%+x+1

Which of the following can be the length of the third side of a triangle whose two sides are 18 cm and
14 cm?

(1) 32cm (2) 4 cm (3) 3cm (4) 5cm
o By & <1 yod 18 1. iR 14 . @l €, Swe Y o B darg A Bnfi?
(1) 32 391 (2) 4 5. (3) 3391 (4) 5 3.

On plotting the points O(0,0), A(3,0), B(3,4), C(0,4) and joining OA, AB, BC and CO, which of the
following figures is obtained?

(1) Square (2) Rectangle (3) Trapezium " (4) Rhombus

figatt 0(0,0), A(3,0), B(3,4), C(0,4) ¥ INRad &7 iR OA, AB, BC 3R CO &I Siied W
fraforfeg # & sR- arafa ura grfi?

(1) @t (2) Jmaa (3) THd (4) FHAg




Directions (Questions 61-64): Stuch: the following two Pie charts indicating the categorv-wise percentage
distribution of employees in a company for two different years and answer the questions that follow.
e (W9 61-64): 377 U & SR <9 & U @ arcti—arery auf 3 [0l o § wHaRal @1 Sofar
ufderd ged gfad a4 ard Feafafad <1 wig ard &1 srmaq @ |

61.

62.

63.

64.
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Category-wise distribution of Employees in two years

3y auf ¥ s4uRal &1 AfieR deq

Year/ag 2020 Year/a¥ 2024

No. of employees = 2000 No. of employees = 2400

In which of the categories was the number of employees the same in both the years?
<1 aul # Rl @ de fea Aol § wme A2
(1) A (2) D 3)C 4HE

What is the percentage increase in the number of employees in Category F?
gofl FH sH=iiRal @ dem § uftrera afg fea of?
(1) 25 (2) 33.33 (3) 50 : (4) 66.67

What is the total number of employees increased for the categories where there is an increase?
o= Al 4 gfg of, 7 FHenRal o ga fead den adr?
(1) 468 (2) 382 (3) 408 (4) 168

Which category of employees has shown a decrease in employees?
HHARGT B A& # w1 e oo ¥ fawd 87
(DA (2)B 3C @4E




Directions (Questions 63-68): Each question below is followed by nwo statements | & 11 You have to

determine whether the data given in the statements are sufficient for answering the question. Mark answer

oas

(1) if statement | alone is sufficient to answer the question but statement Il alone is not sufficient to
answer the question.

(2) if statement II alone is sufficient to answer the question but statement [ alone is not sufficient to
answer the question.

(3) if both the statements are needed to answer the question.

(4) if both the statements together are not sufficient to answer the question.

forder (Ue 65-68): 39 UTHl H UAD U B d1g o1 dUA [3R /1feU v § | nust Pyl exn @ P

a1 YA | e T s yvH @ SR & [o7U udie €| 3uAr SR MeorRad Wy § sifdhd @y

(1) 3T 999 & IR & U el HuA | valfd 8, fbg w24 11 idelr gata &t 2 |

(2) IR 9o & IR & U b FUF 11 v 2, &g FA [ bl gaia T8 2 |

(3) AR g & IR D oy IHI FUH TH € |

(4) afe SH dUA Beder f g9 & ISR & fow yaia =81 €

65. AABC and AXYZ are congruent.
I. Areaof AABC and AXYZ are the same.
I AABC and AXYZ are right-angle triangles.
AABC 3R AXYZ wai i 2 |
. AABC 3R AXYZ & &5%hd 99 ¢ |
I AABC 3R AXYZ 9519 < € |

66. The pocket allowance of Anu and Bittu is in the ratio of 3:4 and their expeﬁses are in the ratio of 4:5.
What is the ratio of their savings?
[. Bittu’s saving is 25% of her pocket allowance.
II. Bittu’s pocket allowance is Rs.2500.
317 3R faee &1 Se@d 3:4 U d AR IAH1 @I 4:5 AU 4 8 | I gId Bl JJUG fba1
&7
. feg & gaq Sud! Sewd B 25% 2 |
. fieg &1 Sewd 325002 |

67. What is the average height of the class? ;

I. Average height of the class decreases by 17 if the tallest student with 56 height is excluded.

II. The average height of the class increases by 17 if the shortest student with 42 height is excluded.

el @ ST wiaTs fdal 82

. Ife wem ¥ 5659 & |aW ofd faenedi &1 ger fear S & wen &) 3ied @arE 1 §9 ge o
gl

I If e ¥ 4259 & wa v el &1 ger fRar sy at Fen o sirwa oaE 1§59 9g ot
gl

68. What is the difference between two digits in a two-digit number?
I.  The multiple of the two digits is 0.
II. Triple of that number is 40 less than 100.
a1 3T B Y AT H I ARl & 41 3R a1 87
. <1 3idi &1 [T 08|
II. 99 S &1 A9 A1 100 W 40 T © |
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Directions (Questions 69-72): Stuch the follovwing 3-Lines graph indicating the number of teachers in
three colleges over five years to answer the guestions that follow.

fader (U9 69-72): 371 U & SN o7 B o0 Ui auf & SR o dleidl § el @ e gfud
& drel F=faRad 3—@eil & U &1 ead @l |

Number of teachers

Rregsl @) wen

2019 2020 2021 2022 2023

—a— College/@Teiat A —m— College/®Tea B —e— College/@Tela C

69.

70.

71.

72.
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What was the ratio between the teachers in College C in 2022 and total teachers in Colleges A and B
together in the same year?

ay 2022 H Biciel C # Rl @1 G 3R I a9 Pieral A 3R Bferat B H Rl &1 dw=n &
HA AT & 49 U RIT 2AT?

(1) 1:3 (2) 3:1

(3) 1:2 (4) 4:7

What is the approximate average number of teachers across all colleges in 2021?
a9 2021 |t dicral d el @ siad ww@ar o fda of?

(1) 23 (2) 20.8

3) 21 (4) 21.6

Total number of teachers in all three Colleges in 2019 was what percentage of teachers in College C
in 20227

a9 2019 # @ 9 dfcsl § Rl @ o de@r ad 2022 § sicw C H Rersi 1 d@n &
fevemm wferere of?

(1) 180 (2) 230

(3) 200 (4) 225

In which year was the total number of teachers in all three colleges the second highest?
fret af ol A Bror § Rt @ we wE g wdifte 9?

(1) 2023 (2) 2022

(3) 2021 (4) 2020




Directions (Questions 73-76): Stuch the following Bar Chart depicting the number of students (in
thousands) in a university who opted for three different streams in the last five vears. to answer the
questions that follow.

e (e 73-76): 59 Al @ SR <7 @ oy R uig aul § S ser—arerT wERl ®1 ge e
U fawafdarea & fqenfial o @ (@R #) gfd w9 ara FEfafed ar ard @1 seaa a |

= = AN W W
NSt

o ¢

NN

No. of students ("000s)

faenfefay @) S (o )

=

2020 2021

il

%
1

022 2024

8 Arts/@ell m Commerce/aifttss @ Science/fAgm=

73. In 2024, out of all students who opted for the given three streams, 38% were girls. How many boys
opted for Science in 20247

(1) 1322 (2) 1332

(3) 1342 (4) Can’t be determined

a9 2024 7 & 72§ @R @ U fawer g arer W fenfial § 38% arsfFai off | af 2024
4 fasm e feaw dsai 3 gar?

(1) 1322 (2) 1332

(3) 1342 (4) FuiRa &1 e s daar

74.  What is the total number of students who opted for Arts and Science in the years 2021, 2022 and 2024
together?

ay 2021, 2022 3R 2024 BT fAamex Herm iR s wmar g arel e @ sa wen e
ofY?
(1) 97,000 (2) 93,000 (3) 85,000 (4) 95,000

75. Total number of students who opted for Science in 2023, and 2024 together is approx. what percent
of the total number of students who opted for all three streams for the same year?
2023 3R 2024 ¥ s g7 Ao fenfil & g we 58 9t § AH ] g e a9
ferenfial @1 e deen &1 e e e 2?
(1) 27 (2) 28 (3) 42 (4) 32

76. What is the ratio of the number of students who opted for Commerce in 2021 and 2023 together to
the number of students who opted for Arts in 2020 and 2024 together?
(1) 12:7 (2) 11:5 (3) 11:7 " (4) None of these
2021 3R 2023 # @R Aty wrar g9 9 fenfial & e den @1 2020 3R 2024 §
e dar W g are REnfdiEl @ ga w@en | e o 87
(1) 12:7 (2) 11:5 (3) 11:7 4) 394 ¥ @13 &
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Directions (Questions 77-80) : Compare the two quantities given as quantine: A and quantiny B for each
question and mark vour answer as

(1) if quantity A = quantity B

(2) if quantity A < quantity B

(3) if quantity A > quantity B

(4) if the comparison cannot be made from the information given
e e 77-80) : 57 i @ fow &) wd <1 Rt A ¥ 4 iR ¥ B & wu # o @ iR
JUAT SR FEfalRad wa A sifda aw

(1) afe fdr A =<1f3r B

(2) ofe fdr A <xfEr B

(3) afe =fIr A >wfdr B

(4) afe & 7 I F AT TE B O qhh

77. Quantity A : Interest for 3 years at a simple rate of 5%
Quantity B : Interest for 5 years at a compound rate of 3%
IR A @ 5% WHRE & X W 399 & forg arer ¥
IR B : 3% Tyl &t X W S anf & fog et wifd

78. Quantity A : The volume of a cylinder with diameter 4™ and height 4~
Quantity B : The volume of a cube with sides of 4”
R A : 4" & AR 47 HAE qTel UH doi BT A |
IR B : 4" ST Tl U 9 BT 7Ia |

79. Quantity A : Number of matches won, lost, and drawn by team A in IPL are 6, 3 and 3 respectively.
Percentage of matches lost by Team A.

Quantity B : Number of matches won, lost, and drawn by team B in IPL are 2, 2 and 4 respectively.
Percentage of matches won by Team B.

AR A oS & vt F A9 A ERT 99, B8R SR sHD ol v S @ e w6, 3 3R 38
€M A ERT 8R U 39 &1 gfaed |

R B:amE @ vl # €W B gNT ofi, ER 3R gwe afolig @ 9 &) dwen saen 2,230k 4 2
&M B gRT Wi U #9 &7 gfoerd |

80. Quantity A : The number of girl students in a college of 3000 strength including transgender students,
if boys constitute 40% strength.

Quantity B : Number of boy students in the same college.

R A : B et # givroier fRenfial wfed g 3000 ewar § W&t Al @ GE@I Gol eHar
BT 40% &I, Tefbal &Y e |

R B : S Bicrel # dASH! @) W |
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81,

83.

84.

85.

86.
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One Terabyte (TB) is equal to bvies.
UF ez (TB) T12ZH % T AT 2
(I) 2!(! (2) 2:[1 (3) 25“ (4) 241!

In Windows computer operating system. what is the meaning of “Switch User™ in start menu option?

(1) Switch between windows users after closing the programs.

(2) Switch between windows users without closing the programs.

(3) Close programs and logoff the currently logged in user of the system and switch over to another
program.

(4) Closes all open programs, switch off the Windows, and then starts Windows again.

eyt i fire fo2s 8 wrd 49 fame § ~Switch User™ %7 #am 31l €iar 22

(1) SOTH &2 14 % 91¢ S uanmsais # st fa" e

(2) iz = R fomr faEis suammeratatt & sft= fia=

(3) sﬁumaamaﬁtmﬁaﬁwmﬁaiﬂﬁm@ﬁmﬁmmaﬂqﬁmwﬁaami

(4) Tt gl STt =6 o o 3T 2, Feie o F dan 2, i i e i P @y e dan )

Which of the following is/are internet web browser(s)?
(1) Microsoft Edge (2) Mozilla Firefox (3) Google Chrome (4) All these
fferfiga & & 9 o1 $eie 39 A 222

(1) OTEHERE TS (2) HIfFe WRAHEE  (3) T (4) Taefi

On internet, when we navigate from one page to another in search of the desired information or to
complete a particular task, it is known as

(1) web finding. (2) web browsing. (3) exploring the site. (4) None of these

I T S B Fifed S i e § o e e we B e F e m A e en E @@
EE G

(1) IT @ (2) = s () TR FGIFA  (4) T AFE T

What is the full form of the SSD, the storage device?

(1) Solid State Drive (2) Sequential Storage Device
(3) Secondary Storage Drive (4) Sequential Storage Drive
it fearsa SSD 1 qof w0 741 22

(1) Hifs B2 grea (2) diafie 2 feara

(3) Bl B gied (4) HeEfe 2 gra

folder in email is used to store emails that you have not yet finished writing or that you
intend to send later.

(1) Inbox (2) Draft (3) Outbox (4) None of these
WA ¥ it T ITANT 37 S0 T Bufead 3 o fore fma simar @ 98 st anft ae g s = e
2 a1 5 21w =g o S =5 Tue v B

(1) ZAaTad (2) 3% (3) T3 T (4) 39U YIS AST




87.  What is the minimum number of rows and columns that a Word table can have?

(1) I Row. 2 Columns (2) 1 Row. | Column
(3) 2 Rows. | Column (4) 2 Rows. 2 Columns
U 9$ <ael H JAad fbd I iR $iad 8 dad 8°

(1) 131, 2 ®icA (2) 1 30, | ®ierH

(3) 271, | BTeH (4) 230, 2 BiaH

88. In MS Word. Thesaurus is used for

(1) Spelling Options (2) Grammar Options
(3) Synonyms and Antonyms Options (4) None of these
MS € 3 RrR¥ &1 JanT —————— & forg fasar Sran 2 |
(1) ga1 faset (2) SATHROT fAsmedi
(3) FEERIG IR fAwiaRis e (4) 398 9 ®IE T8I
89. In MS Word, Menu Item in dim color (gray) indicates that the menu is
(1) unavailable for current context. (2) not much required Menu.
(3) Toggle Menu. (4) over used Menu.
MS @S ¥ Hg 0 (gR) § 9 omgeH gfud &xar & 6 & ————— 2|
(1) #iS[ET ure & forg srquerer (2) waTeT ufe 3 T
(3) et (4) I wgaT 7
90. In MS Word, for what purpose does the *Ruler” help?
(1) To set Tabs (2) To set Indents
(3) To change page margins (4) All these
MS d€ ¥ werR’ fd Udio 3 Agg FRal 87
(1)< ¥ o | (2) S=C T B H
(3) g \ifstH uRafia &= & (4) 7 it

91. In MS Excel, you can add a hyperlink to your worksheet by pressing_

MS Taid H, — —Wmmmﬁeﬁwmmm%|
(1) Alt+K (2) Ctrl + H
(3) Ctrl + K (4) Ctrl + Shift + K

92. In MS Excel, to make a number in cell Cl, 10% smaller than the number in C3, you should
enter
Msmaﬁm@?fﬁmﬁlo%tﬂé“{MWClﬁwﬁa%ﬁwm Gex
BT FIRY |
(1) =C3*1.10 (2) =C3*110 (3) =C3*%Il0 (4) =C3*.90

93.  Which of the three types of data are found in a computer spreadsheet?

(1) Data, Words, Numbers (2) Equations, Data, Numbers
(3) Words, Numbers, Labels (4) Numbers, Formulas, Labels
Th HFER Brede # fbd dF e & aiss U o 87

(1) <1, 98, Fsx (2) ST, ST, AR

(3) @€, F9R, ol e (4) R, BT, e

89/F/XX-XV/05 19 89




94.

96.

97.

98.

99.

100.
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In MS Excel. to select several cell or ranges that are not touching each other. vou would while
selecting.

(1) hold down the Ctrl Key (2) hold down the Shift Kev

(3) hold down the Alt Key (4) hold down Ctrl + Shift Key

MS UaRicT H§ Ueh g¥R &l W 7 &Y W8 $s Aol A1 3ol g & folg, gad qHy ————— ECIGT
G £ |

(1) Berel &I (2) Broe @ (3) 3ifee @ (4) ®ee + Broe #)

In MS PowerPoint. which of the following should you use if you want all the slides in the presentation
to have the same look?

(1) The slide layout option (2) Add a slide option

(3) Outline view (4) A presentation design template

MS ureRtdfge § Al Mg ugfd § ¥ W88 @1 uad / 3dd U oRkil Y@AT d’d 8 dl 3y
fF=falRaa § @ faer uarr &3r?

(1) wigs oarse fadey (2) T8 T whgs fawed

(3) TR Y (4) U& oieer e eweie

In MS PowerPoint, special effects used to introduce slides in a presentation are called
(1) Effects (2) Custom Animations

(3) Transitions (4) Present Animations

MS greRufge # fhdl wefa 3 wigs wiffie ax9 & fon uged ey ware (W shae) ————
HEAT ¢ |

(1) 3B (2) B%eH g (3) gifoeE (4) Usic gfrRmE
Which of the following types is not an Image file?

= 8§ %9 W1 YR U 30 wied 8 87

(1) .bmp (2) Jpg (3) .wmv (4) .png

Which one of the following is a language that can be used to create a webpage?

frafafe 8 @ 7 98 v 2 e 39 399 9e & fou e st aswar 22
(1) HTML () C (3) BASIC (4) SQL

A is a software program that lets you interact with the information available on the web.
(1) search engine (2) browser (3) client - (4) None of these
T WL ST & ST S9! 9 W 3T STHSHI o 1Y 3 A i T a7 2|

(1) &9 o9 (2) TR (3) FTEE (4) FH A FE T

Which of the following statements is correct about a computer system?
(1) There are two kinds of computer memory: primary and secondary.
(2) The computer can understand decimal systems also.

(3) The storage of program and data in the RAM is permanent.

(4) PROM is secondary memory
Wm%aﬁﬁﬁm%f@aﬁﬁaﬁqmmaﬁ%?

(1) mgtﬁq’lﬁz’rmﬁa?ﬁ%. i it fedtamn)

(2) FF A UITeA! i +ft vy waha 2

(3) RAM # W 3R 221 &1 Wits et 2 21

(4) PROM &3t At 2|
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wderit & forg s

Please do not open this Question Booklet until asked to do so.

Fill up the necessary information in the space provided on the cover of Question Booklet and the Answer-Sheet before
commencement of the test.

The duration of the test is 120 minutes. There are 100 questions.

Please check for completeness of the Question-Booklet immediately after opening.

Each question has four answer options marked (1), (2), (3) and (4).

Answers are to be marked on the Answer-Sheet, which is provided separately.

Choose the most appropriate answer option and darken the oval completely, corresponding to (1), (2), (3) or (4) against
the relevant question number.

Use only Blue/Black ball point pen to darken the oval for answering.

Please do not darken more than one oval against any question, as scanner will read such marking as wrong answer.

Once an oval is darkened as answer to the question, it is final. Answer option once darkened cannot be changed.

Each question carries equal marks. There is NO Negative Marking.

Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be provided/used for Rough Work.
Calculator, Mobile etc. are not permitted inside the examination hall.

Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question
Booklet or part of it outside the examination hall.

The right to exclude any question(s) from final evaluation rests with the testing authority.

Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

In case of any ambiguity in translation. the english version will be deemed authentic.
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Directions (Questions 1-3): Study the passage beloyw and answer the questions that follow.

Passage ,
The Internet was designed to evolve in a distributed fashion. Individual machines which were connected to the
Internet were given the power to decide who people should talk to for a service in which they are interested. In
the entire design of the network layer, there were no gatekeepers except for very basic functionality such as
allocation of Internet Protocol addresses and root servers for resolving top-level domains like .com, .org. and
.net. Anyone could connect to the Internet and start providing or consuming a service. As a result, the Internet
saw rapid growth in the 1990s and 2000s. Many services such as emails, websites. and chats came up and
became an important part of the Internet ecosystem. They enabled the sharing of information and e-commerce.
To access a website, all we needed was a web browser. The standardisation of protocols and languages made
this easy. In the beginning, Yahoo provided a directory of websites under various categories. As the number of
websites exploded, a search engine, Google, came up to quickly provide a list of web pages that matched our
search queries. And then came mobile devices. When Apple came up with the iPhone, everyone began porting
their websites so that these sites could be easily viewed on small hand-held devices. Apple also urged third-
party developers to build web applications (apps) that could run on its Safari browsers. But then developers
wanted the same control over the devices that Apple had. They wanted the ability to ship native apps on these
hand-held devices. Apple opened the App Store for third-party native code on July 10, 2008. Apps are software
programs that can run natively on mobile phones. Running untrusted software and that too natively is a big
security nightmare. With direct access to the machines, apps can exploit local privilege escalation vulnerabilities
and get control over the devices. This is something that cannot be exploited remotely. But businesses loved the
apps. It meant they could run their native code on millions of machines, unhindered. They started pushing their
users to install their apps rather than providing their services through the standardised browser. The users were
told that the apps would provide a far more “immersive” experience than a website could ever give. But to get
such an experience, users needed to cede control over their SMS’, photos, videos, and location. They also had
to lose the controls that a web browser provided, such as blocking advertisements. The gatekeepers, app stores,
tried to allay the fears of users that these apps are safe. Yet, newspapers are filled with stories on how app stores
contain apps with malware, or commit financial frauds, or even steal private information. Apps were wonderful
for everyone except the users who have been at the receiving end of various unscrupulous apps. A decade ago,
I had highlighted these security issues with the apps and why web browsers are a better alternative. But people
loved apps, businesses loved apps, and now the app stores love apps because they can impose an app tax ranging
from 15% to 30%. The businesses, which loved apps for the control they got over the users, are now enraged.
The battle between businesses and app stores is far from being settled. It seems unlikely that the app stores will
easily leave out the lucrative revenue coming from the app tax. Instead of rethinking whether we need to go
back to web services accessible on a web browser, businesses want an app store that doesn’t have any app tax.
Irrespective of how this battle between app stores, business, and courts pan out, it should be clear to the users
that apps are not the way they should have chosen to access Internet services. The immersive experience was
drowning the users earlier and is now drowning businesses. In the end, there will be only two winners, the ones
that control the app stores: Apple and Google.

1.  Which of the following statements about the internet ecosystem is implied in the passage?
i. Itenables and accommodates a variety of services.
ii. It is mostly a user-friendly platform.
iii. It is a common platform for both providers and consumers of services to utilise and carry out
transactions.
(1) iand ii (2) ii and iii (3) iand iii (4) i, ii and iii

2. Which of the following statements could be inferred from the passage about the Internet?
(1) It was designed primarily to serve the fashion products distribution industry.
(2) It has evolved and continues to grow in the same way that it was designed and envisaged originally
by its founding fathers.
(3) The internet has been a versatile medium that is highly useful for a cross-section of users or

consumers.
(4) All these

3. Which of the following options best describes the term ‘gatekeepers’ in the context of the passage?
(1) Blockers (2) Regulators (3) Restrictors (4) Receivers
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Which of the following statements could be inferred about the author’s views about how the internet

medium was evolving?

(1) One of the highest excitements about the skyrocketing possibilities.

(2) One of the cautious optimisms about how the medium could be channelised for the mutual benefit
of both businesses and consumers.

(3) One of the sheer despairs at not being able to shackle the menace of apps.

(4) One of the helplessness about the directions it has taken especially in respect of the “immersive’
experience of using apps.

“The apps would provide a far more ‘immersive’ experience than a website could ever give.” What
is the implication behind this claim?

(1) The apps would make the internet a more versatile medium.

(2) The apps would make using the internet a comprehensive experience for the user.

(3) The experience would be more flexible, personalised, and inclusive when an app is used.

(4) The apps would make internet usage highly addictive.

Directions (Questions 6-8): Fill in the blanks.

6.

Most acids dissolve in water at room temperature or on heating to a clear solution.
(1) simply, form (2) just, make (3) either, make (4) either, form

In these bleak and depressing times of prices, non-performing governments, and

crime rates, the Indian cricket team has given us a lot to cheer about.

(1) escalating, decreasing (2) spiralling, booming

(3) spiralling, soaring (4) ascending, debilitating

Acids are highly reactive metals and for that reason, be stored in metal containers.
(1) towards, cannot (2) within, shouldn’t  (3) for, cannot (4) by, shouldn’t

Directions (Questions 9-11): Choose the option which gives the best way of writing the sentence ensuring
that the message is correctly conveyed.

9.

10.

11.

(1) Her constant humming drives me up the wall; as I can’t concentrate with that noise.
(2) Her constant humming drives me up the wall; I can’t concentrate with that noise.

(3) Her constant humming drives me up an wall for I can’t concentrate with that noise.
(4) Her constant humming drives me up the wall; so I can’t concentrate with that noise.

(1) I passed the exam by the skin of my teeth; I got the minimum required score.
(2) I passed the exam by the skin of my teeth; whereas I got the minimum required score.
(3) I passed the exam by the skin of the teeth as per my minimum required score.
(4) I passed the exam by the skin of my teeth, although I got the minimum required score.

(1) We’ve been painting all afternoon, let’s call it a day for continuing from tomorrow.

(2) We’ve been painting all afternoon; let’s call it a day and then continue from tomorrow.
(3) We’ve been painting all afternoon; let’s then call it a day to continue tomorrow.

(4) We’ve been painting all afternoon; let’s call it a day and continue tomorrow.

Directions (Questions 12—14): A sentence has been broken up into three parts sequentially (1, 2 and 3).
Choose that part which contains an error and mark your answer accordingly. If there is no error in any of
the three parts, then mark the answer as 4.

12,
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(1) The Q & A section at the end of every chapter
(2) encourages learners to recall and reiterate

(3) the concepts discussed in the class.

(4) No error




/

13. (1) The study of science become enjoyable
_7(2) for both teachers and learners
“" (3) when taught in an interactive and relatable manner.
(4) No error

14. (1) She is an experienced educationist and
(2) teacher who has developed several
(3) child-friendly learning methodology.
(4) No error

Directions (Questions 15-17): These questions consist of a group of sentences which when sequenced
correctly, form a coherent and logical paragraph. Choose the option that gives the best sequence.

I5. A. That Hollywood is a man's world is certainly true, but it is not the whole truth.
B. Even Renaissance film actress, Jodie Foster, who hosts this compendium of movie history,
- confesses surprise at this.
C. She says that she had no idea that women were so active in the industry even in those days.
D. During the silent era, for example, female scriptwriters outnumbered males 10 to I.
(1) ADBC (2) ABDC (3) DCAB (4) ABCD

16. A. Still, there is every chance that Sophie might need an open-heart surgery sometime later in life.
B. But with the news that his infant daughter Sophie has a hole in her heart, he appears vulnerable.
C. While her condition sounds bad, it is not life threatening, and frequently corrects itself.
D. Sylvester Stallone has made millions and built a thriving career out of looking invincible.
(1) DCAB (2) DBAC (3) DBCA (4) DCBA

17.  A. However, the severed head could not grow back if fire could be applied instantly to the amputated

part.

B. To get rid of this monstrosity was truly a Herculean task, for as soon as one head was cut off, two
new ones replaced it.

C. And Hercules accomplished this labour with the aid of an assistant who cauterized the necks as
fast as he cut off the heads!

D. One of the twelve labours of Hercules was the killing of hydra, a water monster with nine heads.

(1) DCBA (2) ABCD (3) BDCA (4) DBAC

Directions (Questions 18-20): Choose the option which best expresses the meaning of the underlined
idiom/phrase in the sentence.

18. The claims by people known to be boastful must always be taken with a pinch of salt.
(1) To be taken as a spicy joke rather than something serious
(2) To be disbelieved
(3) To be heard from one ear and taken out from the other
(4) Not to be taken at face value

19. To cry wolf is a longstanding habit of my superior at work which has made him unpopular amongst
the colleagues.
(1) To fool someone by pretending to cry
(2) To-ask for help when it is not really needed
(3) Trying to scare someone
(4) Whistling at someone instead of calling out to him/her properly

20. Crying over spilt milk is a total waste of time.
(1) Worry about the amount paid for the milk that boiled over from the vessel
(2) A child crying when his mother slaps him for spilling milk
(3) Feeling regretful about something that has already happened and cannot be undone
(4) Trying to mop up milk spilt on to the floor so that it could be used
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Directions (Questions 21-24): Read the following information carefully and answer the questions that
follow.

Ina l)a})é‘l"f;l'ese|1tation1 event on science, five participants — U, V, W, X. and Y. reached the final round. At
the end. they are awarded prizes depending on the positions they achieved from first to fifth. Each
participant has chosen a unique scientific field: Physics. Chemistry, Biology, Mathematics, and Astronomy.
The following information is also provided:

e U didn't choose Chemistry and came in position after Y.
The one who chose Physics finished just after the participant who chose Biology.
V finished just ahead of the participant who chose Astronomy.
X is not the one who chose Biology and didn't finish last.
The participant who chose Mathematics finished after Y and after the person who took Physics.
W didn't choose Mathematics and came two places after the one who took Chemistry.
The one who chose Biology finished after the one who chose Astronomy.
U hasn’t taken Astronomy and finished fifth from the top.

ﬁéw(wzlu) HF & TE I B I F IGHY §7 FIH P IV &/

s W e Uz uRgfa dRimEA § Ui gfemel — U, V, W, X, 3R Y Rt SR W ugd | 3id H 8=
UUH A UiEd 9% 9T I P AR W RIGR USH fBY 10| ude il 7 e [y fasi &
AT a1 — Hif!, arA =, Sig s, 1fo ok @ fas | FrefaRad sifaRed e 1 <
TS §

U A AR fags 981 g1 8k Y & 918 &l I s b |

AT g arel gfedrft 1 Siig fasm g aret afodrfl & S a1e &1 e urw |
VA @id fags g arel uforll & S1e el &1 I T foha |

X g8 gfewrfl €1 & o Sfig fa=m g iR a8 anfasl e R 81 R& |

TR g arel IRl 7 Y & a1% IR WIfaa! g1 arel UMl & a1e & 19 Ui foban |
W A T €T g1 3R S AR S gAd aret Ufiwell & <1 v 91 &1 i g
fepa |

Sitg fasi ga= aren gferlt @ ie s aret afaurft & 9rq & O W @ |

U+ @i fasm 80 g1 &R i | grerd e W @ |

21.  Who among the following finished first in the competition?

=9 AfAIfaT § S Ugel I W AP
(HU )V G)wW 4 X
22. At what position did the participant who chose Biology finish?
(11 @2~ 3) 3¢ (4) 4"
Sia fas g arel 9feMelt 1 SR—a1 I e fsar?
(1) 92| (2) T (3) TR (4) =rer
23.  Who among the following chose Physics?
frforReas # 1 fbwam ifray gar?
(1)U )V ()X @Y
24.  Which of the following fields did W choose?
(1) Chemistry (2) Mathematics (3) Biology (4) Astronomy
WA F=faRed § @ s—ar &3 gar?
(1) e fa=m (2) Tfore (3) Sirafa= (4) @er fasm
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Directions (Questions 25-28): Each of these questions consists of a statement followed by ntwo arguments
I and Il You have to decide which of the arguments is a ‘strong” argument and which one is a weak’

argument.

Mark answer as

(1) if only argument [ is strong

(2) if only argument Il is strong

(3) if both arguments [ and Il are strong
(4) if neither argument I nor Il is strong

frder (9 25-28): 39 ULl A U $o 3R WD d1g <1 a@ /4R /1 Rg 7Y g smudt Mg @A 8
5 HFI—AT g Udl’ IR PIFI—AT HHGOR © |

23;

26.

27.
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AT IR f=foRad w9 # sifea & -
(1) afe bt d® [ U9l &

(2) afe dast d® 11 vad &

(3) afe g (R [ THI U &
(4)gfe 9 dr a® 1R 9 & [1U9d @

Statement: Should India takes seriously the proxy war waged by Pakistan and take strong action?
Argument I: Yes. The proxy war causes loss of lives and also becomes a source of economic burden.
Argument II: No, because it will be questioned in the UN and will invite international criticism.
T : FIT RT BT B ERT T ST I8 BSH & Bl THRAT I o1 3R BRI HRATE Bl
=fey?

@ I: 8| e g€ W WF BT JHAM Bl & MR g e arst bl dRUl H 99T € |

@ I1: 781, e Agax I § 39 W Falel @S &1 AR I8 FARTEII A= BT HROT 7T |

Statement: The Government must restrict the use of electricity for each household depending on the
number of inmates in the house.

Argument I: Yes. This will help the government tide over the problem of inadequate generation of
electricity.

Argument II: No. Every citizen has the right to use electricity, as per their requirement and the ability
to pay for using electricity.

FYT : THR P Td TR § Y& ael Gl B A B MR W YIS W B forg faoiell- &
SUANT B WA HRAT 8 =AY |

TP L: & | S TR S g A7 # RAorell S a 7 89 o wawn 9 foed § wg e |
TS I1: 181 | TAF AFRS B 30 A@eIHar AR el & ITar & oy Jram & o &l
@ AR FHBI SUANT FRA Bl PR 2 |

Statement: Performing outstanding medical research requires more than a simple talent and more
than simple explanation. Hence, only those researchers having outstanding knowledge and ability
should be allowed to perform medical research.

Argument I: Yes. Developing creativity in students is less important for the cultivation of research
talent than instilling a sense of dedication.

Argument II: No. The proper function of our universities is not to produce only outstanding
researchers, but to create well rounded medical graduates.

FUF : I Rifhen I R @ fory WRRY § el afte wfor iR are # e
B ¥ | o Dadl Sege yiWT AR AT el ATHETEEART B fafdear sgHuE BRA @
argafa &1 S =fEy |

T@ I: &1 | FEYOT ) WIaET WX B o1 § g wforr a1 v & ferg faenlRia # gorrerandr
faaRia BT &7 AE@g & | )

T II: 781 | 2R Rvafaredl & 98 o1 dad St HUHad Ual BRal T8l dfcd Iggal
ffredr s AR BT € | -




28.

Statement: The open book examinations be introduced for every professional course in India.
Argument I: Yes. All candidates can pass easily and can start their professional life casily.
Argument II: No. Students who don’t deserve to pass in the examinations otherwise will pass but
not get jobs anyway and remain unemployed.

PYF 1 YRA H YD UTNER TSI b ot Gell fhara wdien 3o &l o |

TH 1: 81 | T argeff aRI 3 STOl 81 Wb § SR STUET URIAR Sia ATl F Y dR Hdhd
gl

T I1: €1 | 51 fenedl uen & Sl 81 & &R € 21 9 IOl a1 8 AN, W I FH
FEI Ao 3R RISR & @ |

Directions (Questions 29-32): For the Assertion (A) and Reason (R) below, choose the correct alternative
from the following:

Mark answer as:

(1) if both (A) and (R) are true and (R) is the correct explanation of (A).
(2) if both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) if (A) is true but (R) is false.

(4) if (A) is false but (R) is true.

frder (e 29-32): 9 Ry Q0 S (4) R BRY (R) B forg g Y faemedi # 1 W€ e g4 |

29.

30.

31.

32.
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0T SR fefaRed w9 & 94 ¢

(1) T (A) AR (R) THT FEI & 3R (R), (A) & FEl AR & |

(2) IfT (A) AR (R) T F&I & aAfha (R), (A) B TE ARAT 21 8 |
(3) T (A) & © «fd (R) Toaid & |

(4) IfT (A) Tad & ofdd (R) &l & |

Assertion (A): The price of a share in the stock market is determined on the basis of demand and
supply of the stock.

Reason (R): The score of the Index in a stock market moves whenever there is a noticeable rise or
fall in the demands of the shares which constitute the Index.

AMAHA (A): Wwﬁwwaﬁﬁwwﬁwaﬁ?\ﬁzﬁaﬂwwﬁaﬁﬁﬁ?ﬁél
PRI (R): IH INIR H SIS BT WHR gedl—dedl & | od 4 gadie § A JART &) 7T

# SoorEHra gfg a1 & ol 2 |

Assertion (A): The Himalayan Rivers are not suitable for the production of big hydel power though
they are full of water throughout the year.

Reason (R): The Himalayan Rivers are subjected to drastic change of courses particularly after the
landslides and earthquakes.

AT (A): el Ffai 91 a3 3§ gAfdwell @ S & forv Suged =8 € eraifs S+
R AT G HRT & 7

PR (R): oAl Ffeal & art § R uRads 1ar I8ar 8, WaR el 3R Y&H i & 91g |

Assertion (A): The phenomenon of nuclear fission generates great energy, and it is used to create
weapons of mass destruction.

Reason (R): The process in which two nuclei are joined into one single atom is called nuclear fission.
AT (A): wAY] e @ uRee 9§ s Soi Ia=1 el ® iR 39 Aud q@el &
BRRIR TR &R & forg warT b e 2|

BRUT (R): &1 MWD BT T el WA H Siled @1 Ufshar q=ary] e wgard 2 |

Assertion (A): Males play a major role in determining the gender of the offsprings.

Reason (R): Determination of sex in human being is determined by the sex chromosomes XX in
females & XY in male).

AAHAT (A): T @1 fofm FeiRa &= # goy &y e 2l 7

BRI (R): A&l # o1 &1 FeriRor 319 SM (ToREE) (@fgen § XX 3R gy # XY) gRT 8rdr’
gl




Directions (Qut:stions 33-36): In each of these questions a statement is given, which is followed by o
assumptions, numbered [ and 1I. An assumption is something supposed or taken for granted. You have to
consigef- the statement and the assumptions and decide which of the assumptions is implicit in the statement.

Mark answer as

(1) if only assumption I is implicit.

(2) if only assumption Il is implicit.

(3) if both assumptions I and Il are implicit.

(4) if neither assumption I nor Il is implicit.
fader (99 33-36): 39 Ul § U HUH AR IAD d1€ QT HRIAIU /3R /7S TS € | AT MW IR W)
AR B 8 | 3MUBT HUF R ARG R AR $xa g v & @ 6 wom & R 9 ee—d
A= T @ |

T SR frEfaRa wu ¥ sifda #X -

(1) afe dad w=uar | Fdfifed B |

(2) afe daar w=Iar 11 faf+fed &

(3) afe #=gaie [3iR 11 eF1 siafifad 2|

(4) afe 7 o1 \r=gar 13k 9 & 11 3fafifRa g1

33. Statement: The recent incidents of pickpocketing have shown that it has become rampant in most of
the crowded places.
Assumption I: The incidents of pickpocketing were not there some years ago.
Assumption II: Pickpocketing takes place only in crowded places.
FUF : SEHT D EerdT ged @ € & His—re arell SRR S8l R 9! WRAR 8
TS T
ATl [: $B 9 Ugel Sigdba™] @] gy el g3l dral off |
ARAT 11: SIedha™) dad HIs—HT$ dlell 98l R 8l © |

34. Statement: Wars must be discouraged at all costs even though majority of the victims might deserve
some reprisal as their countries have been a nuisance to peace-loving people.
Assumption I: People from the countries which create problems to peace-loving people are supposed
to pay for their governments’ action.
Assumption II: Wars kill or harm people majority of whom are those who create problems to peace-
loving people.
U : Jg B DFA W Tl ST ARy BT g9 AfGaR Yadrl ufifddr & gdar @
Tahd & Fifs 99 3w wifafi e @ afdadl & foy gereer) @ B E |
A=A I: i e & aafadqal & foy Wl I$! d-A aret <2 & afdddl i AU ARDR
DY EXDHAl BT WIFFITAT I Iedl & |
AT I g€ 9 ARl & SH-A1d &1 &9 el & o8 A Ifdier 9 8 & 91 iy
g @ @fdaal @ foy warl Wl PR ¥ |

35. Statement: Shashi is a voracious reader of English literature; his English is so good that he writes in
English even better than an American does.
Assumption I: Reading of English literature voraciously helps developing good writing skills in
- English.
Assumption II: Americans aren’t voracious readers.
T : R ST AR &1 8R Qe 8, SHD! 3o ga-il 38! & & 98 smRfeal 9 f der
3i¥en forear =1 -
AT ©: 3 9IfRc & WRUR 3a ¥ UGl H 3resT o dive AsRid g & |
H=EET 11: 3FRET AT 8RR Ugre; F8l 8id |
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39.

40.

41.
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Statement: Due to excess and uncontrolled use of social media. the incidents of child abuse are
increasing and has become a major reason for human exploitation world over.

Assutiption I: Children have access to the use of social media in most of the countries. .
Assumption II: Other forms of human exploitation exist in various countries.

HAF : AR A & e iR JART ITIT & R g7 IS P geTAN 9¢ @
3R ¥ gfar WR 3§ AWl & YT BT U Y& BRI &4 77 8 |

A=Al I: Jferhar <2 geai @) Arerd e W) ugd gerd |

Har 11: A=l & 9N & AN w9 A=t <o § Aioe € |

Five readers A. B, C. D and E go to a local library every evening and read a newspaper. The one who
reads first gives it to C. The one who reads last had taken it from A. E was not the first or last to read.
There were two readers between B and A. Who among the following is the third to read the
newspaper?

aig uied A, B, C, D3R E & ¥ U QST 1 2 MR U 3RIAR gd & | Ugel Ue arell
IGIR C. I ¢ <l & | MRER ¥ T alell A ¥ IEIR ol & | E AN Ugel IT RIR & e
arell gfdd el €1 B3R A S di9 T U6 & | SRR Ue aral IR Afdd B 27

(B 2)E 3) A (4)D

Seema told Jaya, the girl I met in the park yesterday is the youngest daughter of the brother-in-law of
my sister’s mother. How is the girl related to Seema?

(1) Cousin (2) Daughter (3) Niece (4) Aunt

AHL S | dedl 8, ‘Ued 9 ure § R dea & el 98 39 589 & 91 & gex—ga—al
@ qeH BIS 91 &7 | S9 dASDH! B WA F g1 Rear 87

(1) B (2) 9 (3) - (4) ST

Pointing to a person in a photograph, Shubhranshu said, ‘Her father is the son of the mother of the
father of my only daughter’. How is Shubhranshu related to the person in the photograph?

(1) Son (2) Brother (3) Nephew (4) Data inadequate

Ud Wil § U Al B 3R FART IS YAY el 2, 39 AR &I QAT 3 ghalt 38 &
fOar @1 & @1 92T & | YUY BT 9 Alker § gy Rear 87 ;
(1) 91 (2) WIIg (3) Y OEICEECERIE

The main door of Aradhya’s house faces East. One day, she started her morning walk from the back
side of her house and went 50 metres straight. Then she turns to her right and walks 50 metres again.
Finally, she turns towards left and stops walking after 25 metres. In which direction Aradhya is
standing from the starting point now?

(1) South-east (2) North-west (3) North-east (4) South-west

IRTEAT & TR BT &I SRAMST ¥ B IR & | TP a7 S99 0 R & U Ry & gag o
W FH @1 AR Al 50 Hex Fell | 9 T8 W G2 3R R 50 Hex Tell | o § a8 a9 g
3R 25 HieX TAIR TP T8 | TAT Yo IR & WM A IR o fzm § @ 87

(1) <féror—gxe (2) STR—UfReH (3) STIR—Xd (4) <feor—uf¥=m

A sum of ?8,59,125 is divided among 3 General Managers, 7 Managers and 4 Directors in such a
manner that 2 Directors get as much amount as 3 Managers and 2 General Managers get as much
amount as 3 Directors. Find how much amount did each manager get.

8,59,125 BI &-RIRT 3 HEMELDI, 7 Yaudi AR 4 FReral § 39 yoR a1l ol & & 2 v,
3 yeus] Sl gRIfRT ok 2 Aewdus, 3 Fewal o e=Rifdl o &xa 21 e usHd B
faii—fhal ==l urar gg7?

(1) 240,300 (2) 42,000 (3) %43,500 (4) 45,800




44.

45.

46.

47.
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A.Band C together can complete a piece of work in 10 days. All the three started working at it
together and after 4 days. A left. Then. B and C together completed the work in 10 more days. A

,!,_aki]le could have completed the work in .
(1) 15 days. (2) 16 days. (3) 25 days (4) 50 days.

A.Baﬁcwuﬁwwwaﬁmﬁﬁﬁwmmélﬁwaﬁmmwm
§3ﬁ14ﬁﬁa%amAawmélmaTaBa‘ﬁ?cmufﬁawaiﬁmf%ﬁﬁugaﬂﬂw
BRI & | A Dol I BT Pl —————— f=l # gR1 &R b B |

(1) 15 () 16 (3) 25 (4) 50

M/s Santosh Electronics gives a discount of 27.5% on the marked price of an electronic gadget and
earn a profit of 16% only. Now, they want to make more profit and therefore, reduce the discount to
20%. Find how much more profit would they earn now?

HAH WA FAGGIART U goagie A9e B sifhd qed W 27.5% ® Be a1 § R dae 16%
AN TN & | 3d T8 3Aferp A FHAT a1Edl & AR $ARAY GT TR 20% R a1 2 | 39 99
ferem afdre e aifdfa grm?

(1) 12% ) 15% 3) 18% (4) 20%

In a mixture of 85 Itrs, the ratio of chemicals A and B is 4 : 1. But to make it suitable for industrial
use, the ratio of the two chemicals should be 3 : 4. How much more quantity of Chemical B should
be added to make it suitable for use?

(1) 32.5 ltrs (2) 30 ltrs (3) 28(1/3) ltrs (4) 25(1/3) ltrs

85 oflcx & UH s § A SiR B XAl &1 Auid 4: | 2| AP 3 eifMe ST & Ryw
ST M & forg 1 AT BT AT 3 : 4 B9 AMRY | STANT B Ay ST G F AR
B &1 faar iR A= 5@ fAsmor § e arf?

(1) 32.5 &fiex (2) 30 efirex (3) 28(1/3) =irex (4) 25(1/3) &frex

There are 16 players, including 2 wicket keepers and 5 bowlers, available for selecting a cricket team
of 11 players. In how many ways can a team of 11 players be selected if we have to include 1 wicket
keeper and at least 4 bowlers?

11%@%3?6%@%&??@?&#%?2%@@%@@?5%@@%16%8@%
%luﬁaﬁ1ﬁ$€aﬁweﬁqwﬁW4ﬁammwﬁamﬁ@%aﬁ%ﬁaﬁaﬁﬁﬁmﬁ
@ TP 1 Al ST Fhal 27

(1) 862 (2) 1092 (3) 1764 (4) 2036

Adjacent to her home, Himani has a square field. All around the field, there is a path with a width of
2.5 meters, and the area of the path is 1175 sq. meter. Himani wants to get fencing done around the
square field. The cost of fencing the field is 115 per meter. Then, how much amount Himani needs
for the fencing?

aﬁwaﬁwﬁ%ﬁmwwﬁw@aﬁw@a%aﬁsﬁ?z.wﬂaaﬁaww%‘
aﬁqsﬂwzﬁraﬁm1175aﬁ1ﬂaﬁlﬁwﬁﬁgﬂaﬁwmzﬁaﬁaﬁ?mmmél
@Hﬁ%@ﬁﬁﬁ%?llSﬂmﬁélmWﬁWﬁW@ﬁWﬂ?

(1) 246,700 (2) Z48,500 (3) 250,600 (4) 252,900

On his visit to Rishikesh, Sanjeev went for rowing in Ganga river. He rowed at a speed of 17.5 km in
one hour in still water. The speed of the water current was 3(1/2) kmph and it took him 3(3/4) hours

“to go from point A to point B and return to point A. Find the distance between points A and B.

(1) 31.5 km (2) 32 km (3) 32.5 km (4) 33 km
FSL $ O A= W Fofg T T § A W | 96T ReR U F v 52 175
foH. & =1 4 g @ | U B uRT B A 3(1/2) B ufey wer off sl 9Y A Y B O q@
ST H 3(3/4) Hel | AR B 4 @ g ——————— &

(1) 31.5 fo. (2) 32 f . (3) 32.5 . (4) 33 f .




48.

49.

50.

51.

52,

53.
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A fruit seller buys 40 dozen of apples from the wholesale market. There are good apples as well as
rotten apples in the lot. If the probability of getting rotten-apples from the lot of 40 dozen apples is
0.225. then what is the number of good apples?

Th Bl fAhdl Ad TR F 40 dxﬂﬂ@‘d&ﬂddl?lsﬂHGJ_EGEEWQJWWﬁﬁE\'IU%m
TS U H As e e o uifdsddr 0.225 € 1 3 Adl & [ fbaHl 87

(1) 360 (2) 364 (3) 368 (4) 372

Madhur had some money which he lent in two parts on Simple Interest in the ratio of 13:11 for 5(1/2)
years and 4(1/2) years with rate of interest of 10% and 8% per annum respectively. If the difference
between the interests earned is X78,394.25, then, find the total sum that was lent.

R & U BB AR 2 5 I AERE @&Te WR13:11 guid § & RRil H $aEe 10% 3R
8% aTffip &S g% W 5(1/2) a9 3R 4(1/2) a9 & forv SuR fear| afe ifia sarail & 19 3faR

378,394.25 8 A1 gl ——————— AR I JuR & ol |
(1) 35.81.400 (2) ¥5.85.300 (3) ¥5.89.800 (4) %5.93,500

A big businessman inherited a piece of land, which is triangular in shape having a perimeter of 456
m and its sides are in the ratio of 3:4:5. He uses one-third of this land for making a residential complex
and divides the rest of it equally for building a secondary school and a hospital. Find the area of land
used for the hospital.

(1) 2,586 m? (2) 2,640 m? (3) 2,774 m? (4) 2.888 m?
Wa@mﬁaﬁﬁmﬁaﬁﬁﬁéﬁsﬁﬁwﬂ 3R gABT URAMT 456 A, & T $AB)
YOI 3:4:5 30T # & | 98 3 SHIA &I UG feTs R U@ Marig uReER a9 3§ ST $xal
g 3R 91! iR &I A R 9FIl A Ua Arafid el SR Udh 3RUdTel d9a & fog diedr 2|
AT §9H & fol YYad T BT &% Sd DIy |

(1) 2,586 @i #Hex (2) 2,640 @ #Hiex (3) 2,774 T Hex (4) 2,888 T Hiex

There are three showrooms of the same type of garments, owned by Hari, Prakash and Umesh. Hari
sells his goods 22.5% cheaper than Prakash and 24% costlier than Umesh. How much percent are
Umesh’s goods cheaper than Prakash’s goods?

gR, IS 3R SAY & THaHaE I & (G- AT6H & | B8R UAT ATl GHT | 22.5% |l
IR SHI A 24% HET 99T & | BT & Hid A SHIY BT Al fbaT I 87
(1) 37.5% (2) 35% (3) 32.5% (4) 30%

Rajat and Amit started a business. Rajat was a sleeping partner in the business. Amit, being the
working partner, took a certain monthly salary. At the end of the first year, the total amount of profit
was 7,80,000. The ratio of Rajat’s and Amit’s share was 11:13. If Amit’s annual salary was
excluded, the ratio of their shares becomes 11:7. Find the monthly salary of Amit.

Iod 3R AT A o) 1 FRIER ¥H fHar| I9d 39 FRER | AfSFy aEer on | «fid,
FHTIRT AERR 89 & A, e A¥Ed Afie da7 ofar o1 | U8 A1 & 3id § a™ Bl qel i
%7,80,000 Y | T97ct 3MR AT & R’y &1 U 11:13 o1 | Al AIfAd &1 arfie da+ Ferar fean
Y A1 IS Rl o1 U 11:7 81 ST © | AT BT 7RI 9o S diforg |
(1) 215,250 (2) %15,750 (3) 16,250 (4) 217,000

A gulab jamu}a contains sugar syrup up to about 30% of its volume. Find approximately how much
syrup would be found in 48 gulab jamuns, each shaped like a cylinder with two hemispherical ends
with length 7 .-5 cm and diameter 3.5 cm.

(1) 869.60 cm® (2) 877.80 cm® (3) 886.10 cm® (4) 893.30 cm?
TE T[eld S H 39D AT BT 30% AR & | YAS Bl 7.5 A1, Fd18 3iR 3.5 W41 A arel
31 Mo RRT & IR 48 @ SIHAT H FAREET S T ————— HET U5 A1gT |

(1) 869.60 & I, (2) 877.80 B8 WH.  (3) 886.10 T WHL.  (4) 893.30 ©F HHI.




/.

58.

39,

60.
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x+1 is a factor of the polvnomial

xfl@@?ﬁﬂ“ﬁ@'—é?:

T xX*+x>—x+1 (2) XX+ (3) X +xTHx+1 (4) x*3x0+3x 7+ x+1

Two angles are making a linear pair. If one of them is one-third of the other, the angles are
Q1 BT Uh X T 91 2 2| At 390 9 UP, R & U foeE & a1 4 ST ———— g |
(1) 35°.105° (2) 50°.150° (3) 45°.135° (4) 40°.120°

Which of'the following can be the length of the third side of a triangle whose two sides are 18 cm and
14 cm?

(I)32cm (2) 4cm (3) 3cm (4) S5cm
o Byt @ 31 ] 18 I, 31R 14 FH. A1 € SHD! IR T @) Aarg fhas 8rf?
(1) 32 3. (2) 4 94, (3) 3 9L (4) 5991

On plotting the points O(0,0), A(3.0), B(3.4), C(0.4) and joining OA, AB, BC and CO. which of the
following figures is obtained?

(1) Square (2) Rectangle (3) Trapezium (4) Rhombus

fdgall 0(0,0), A(3,0), B(3.4), C(0,4) d1 ARRIdT &1 3R OA, AB, BC IR CO &I Sred W
Preferag # & S Rl wra 2?

(1) Tt (2) 3maa O RLGE] (4) FEAgS

How many linear equations in x and y can be satisfied by x=1 and y=2?

(1) Only one (2) Two (3) Infinitely many (4) Three
x=1 3R y=2 RT x R y ¥ frew vdrg afie=or ot fhg o dad &7

(1) daet Ud @ (3) I BU W DY (4) O

A wholesaler supplies a lot of 725 hair bands to a buyer. He sells 236 hair bands for 4,170 more than
their cost and the remaining for 8,955. If the gain of the wholesale supplier on the total sale is 36%,
what is the cost of each hairband?

TH AId Al T sl BT 725 23R 98 @ YT PRal © | 98 399 A 236 8§ g @rTd A
24,170 AP Hog TR AV 28,9557 J=ar B | AR o fasmhar &1 Gl 9! R @M 36% & o Udsd
TR de o arrg fehar 82

(1) T17.50 (2) 220 (3) 222.50 @) 225

In a school, students exercised their option of selecting the stream in which they wanted to pursue
their higher studies. It was noticed that 1/7" of students opted for Science stream, 1/5" of the students
opted for Commerce and 1/3™ of the remaining students opted for Arts stream. If the number of
students who opted for Arts stream is 184, how many more students opted for Commerce than Science

. stream?

e whe H el 7 o STEar edd & folg Ul STBTgR WAl YA & fawed for |
T@r 1 &6 1 /7 el 7 fagm ora g0, 1 /5 7 sy wrEr g SR 9N & U faErs
fenfofat ¥ wen wrar g0 | A} Far TrEr g arel faenfii @ e 184 ® o1 fAwE W @1
Jo # fhaq aftre faenfial 1 @i wman g=i1?

(1) 52 (2) 48 (3) 44 (4) 40




Directions (Questions 61-64): Study the following 3-Lines graph indicating the number of teachers in
three colleges oyer five years 1o answer the questions that follow.
ﬁ%ﬂ(wm;myﬁuﬁa\swéﬁa‘swWaﬁ%ﬁvmzﬁﬁaﬁéﬁﬁ@rmaﬁmﬁﬁa
BT arel FrEfeaRad st & W @ segad ¥ |

L7 I
L) 3]

3’7

b3 E 25

e/ o

o 5

&< VAR E 3

B

g 15

c e

(9P 10

=

z 5

E& 0

7z o S,
2018 2020 2021 2022 2023
—a— College/®Teidt A —&— College/®erot B —e— College/®Tord C

61. Total number of teachers in all three Colleges in 2019 was what percentage of teachers in College C
in 20227

an‘zomﬁwﬂfﬁqﬁﬁmﬁﬁﬁmaﬁaﬁaﬁmaé2022ﬁzﬁnﬁmcﬁf3raaﬁa%mzm
feberm ufcrere ofi?

(1) 180 (2) 230

(3) 200 (4) 225

62. In which year was the total number of teachers in all three colleges the second highest?
ot ad et i et 3 Rierasl o1 et <ive o) Wi o
(1) 2023 (2) 2022
(3) 2021 (4) 2020

63. What was the ratio between the teachers in College C in 2022 and total teachers in Colleges A and B
together in the same year?

aézozzﬁﬁémcﬁﬁr&mﬁaﬁmaﬁ?wwfmAsﬂ??ﬁétﬁBﬁf%raaﬁaﬁma%
Bl AT & e U @1 or?

(113 (2) 3:1

@) 12 (4) 4:7

-

64.  What is the approximate average number of teachers across all colleges in 2021?
ad 2021 % WA Blorll § Rt B siad e s frad o
(1)23 (2) 20.8
3) 21 4) 21.6
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Directions (Questions 63-68): Study the following nwo Pie charts indicating the category-wise percentage
distribution of employees in a company for hwo different years and answer the questions that follow.
ﬁéw'(m:ms&sysqmﬁa%ﬁ?éﬁzﬁﬁmﬁm—maﬁﬁﬁﬂﬂﬁﬁwﬁaﬁaﬁmﬁw
yfrerd de1 gfad &) drel FEfRaa &1 aig e &l segad o | '

65.

66.

67.

68.
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Category-wise distribution of Employees in two years

31 auf § Sd=Ral &1 AvfilaR §e4

Year/a¥ 2020 Year/a¥ 2024

No. of employees =2000 No. of employees =2400

What is the total number of employees increased for the categories where there is an increase?
7 ST # gfy o, ST wHeIRal & gol fba Fem Fel?
(1) 468 (2) 382 (3) 408 (4) 168

Which category of employees has shown a decrease in employees?
FaRA B e § o fa oo 7 e 87
(DA (2B 3 C 4HE

In which of the categories was the number of employees the same in both the years?
3T ast ¥ wHeRal @ e sl § e o
(DA (2)D 3)C 4 E

What is the percentage increase in the number of employees in Category F?
Soft F ¥ eeanRal @) wer # ufoer gie fea- or?
(1) 25 ©(2)33.33 3) 50 (4) 66.67




Directions (Questions 09-72): Study the following Bar Chart depicting the number of students (in
ﬂmuwmdﬁin(gmﬂnwwn'wM)wﬂw[ﬁwlhvcc@ﬁnwlﬂnmmsh7ﬂwluwfheyawxIounmvrﬂw
questions thatfollow.
ﬁa‘w(m@-?z):stfqﬁa%wéﬁaﬁfﬁqﬁwmaﬁﬁ%ﬁﬁm—mwaﬁﬁgqﬁaﬁ
Wﬁ%ﬂﬁam$ﬁ@%&%m(mﬁ)q%ﬁmmﬁﬁw%mﬁmaﬁmmmaﬁ|

-

P

('000s)
1 (B9R H)

By

- 3} oW W
O S B S G

No. of students
=

1wl

2020 2021 2022 2023 2024
8 Arts/&alT ® Commerce/@firsy & Science/fsT

RrenPfal @
[

69. Total number of students who opted for Science in 2023, and 2024 together is approx. what percent
of the total number of students who opted for all three streams for the same year?

2023@?2024ﬁﬁ§rmgﬂ#arérﬁaﬁﬁa%aﬁmﬁaﬁﬁﬁwg—ﬁfammﬁ
frenfefatl @Y et v &1 o Redar wferg 87
(1) 27 (2) 28 (3) 42 (4) 32

70.  What is the ratio of the number of students who opted for Commerce in 2021 and 2023 together to
the number of students who opted for Arts in 2020 and 2024 together?
(1) 12:7 ) 11:5 3) 11:7 (4) None of these
2021 3R 2023 % fAc@R aifreg o T arel Renffat @ se wem a1 2020 sk 2024

(1) 12:7 ) 11:5 3) 11:7 (4) T7H & PIE 71E

71.  In 2024, out of all students who opted for the given three streams, 38% were girls. How many boys
opted for Science in 20247
(1) 1322 (2) 1332
(3) 1342 (4) Can’t be determined
aﬁzozﬁaﬁné?ﬁ:rwsﬁa%%qﬁmﬁmﬁmﬁﬁm@qﬁ38%6@%&1'%&&2024
H fasm e b ereat ¥ g
(1) 1322 (2) 1332
(3) 1342 ) (4) FeiRa T8 far w1 goar

72.  What is the total number of students who opted for Arts and Science in the years 2021 , 2022 and 2024
together?

erefzozl,zozzsﬁ-\!2oz4aﬁﬁamwaﬁvﬁ§mwiﬁﬁaﬁfﬁmﬁaﬁaﬁaﬁmﬁmﬁ
off?

(1) 97,000 (2) 93,000 (3) 85,000 (4) 95,000
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Directions (Questions 73-76) : Compare the two quantities given as quantity A and quantity B for each
question and mark your answer as

"-"('l{) if quantity A = quantity B

(2) if quantity A < quantity B
(3) if quantity A™> quantity B

(4) if the comparison cannot be made from the information given

e (9w 73-76) : 37 Uyl @ forg @ wE Q1 AREA @ AR 4 &R AR BB wu H g AR AR
AT S fAEfaRad w9 # sifdha & -

13.

74.

73,

76

89/G/XX-XV/05 16 89

(1) afg afdr A =111 B
(2) afe Afdr A <331 B
(3) afe IR A > B
(4) e T G A o T B AT Fhl

Quantity A : Number of matches won, lost, and drawn by team A in IPL are 6, 3 and 3 respectively.
Percentage of matches lost by Team A.

Quantity B : Number of matches won, lost, and drawn by team B in [PL are 2, 2 and 4 respectively.
Percentage of matches won by Team B.

RN A : o O vt 3§ EH A ERT S, B8R 3R 39 rfiid @ A &) Wear s 6,3 3R 381
A9 A ERT 8R 7Y HF &1 Ulaerd |

BT B: 3 G v § &9 B gRI W4, B8R 3R gas afefia @ d9 @) e waen 2,23k 48 |
&9 B gRT S U H9 &1 9faerd |

Quantity A : The number of girl students in a college of 3000 strength including transgender students,
if boys constitute 40% strength.

Quantity B : Number of boy students in the same college.
R A : o) piere # givgoier enfal afka gar 3000 &¥aT § STel ded] &l G&AT del &HdT
BT 40% B, ASihdl B F&AT |

RN B : S Biciol H dsdl & AT |

Quantity A : Interest for 3 years at a simple rate of 5%

Quantity B : Interest for 5 years at a compound rate of 3%

R A : 5% ARIRVT 6T X W 3 961 & oIy =&re Wi |

R B : 3% THgfg & R W STl & fory =t ¥fr |

Quantity A : The volume of a cylinder with diameter 4” and height 4”
Quantity B : The volume of a cube with sides of 4”

RN A : 4" T 3R 47 FaTg dTel T S Bl I |

IR B : 4" YT dTel U B BT T |




Directions (Questions 77-80): Each question below is followed by two statements I & II. You have 1o
determine whether the data given in the statements are sufficient for answering the question. Mark ansiwer

as

(1
(2)

3)
(4)

if statement | alone is sufficient to answer the question but statement Il alone is not sufficient to
answer the question.

if statement I alone is sufficient to answer the question but statement I alone is not sufficient to
answer the question.

if both the statements are needed to answer the question.

if both the statements together are not sufficient to answer the question.

%(W??-SO):Q‘%Wﬁmwiﬁmﬁiﬁwmﬁ?[[ﬁ?w%lSﬂﬂﬂﬁﬁﬂfﬁﬁmﬁﬁi
mmﬁﬁﬁmwmw$w$mmélmwﬁﬂ%ﬂ%ﬁwﬁaﬁﬁaﬁ:

78.

79.

80.

89/G/XX-XV/05 17 89

Hﬁwzﬁwa%f%mmzﬁmlmé%?ﬁwnmm%ﬁ%l
ﬁw$w$mmm%llmﬁ?,%§mmlmmﬁﬁl
A 79 & IR B foy S FUm el &

afe T B Bea A yed & SR B oy w48 §

What is the average height of the class?

I. Average height of the class decreases by 1™ if the tallest student with 56 height is excluded.

[I. The average height of the class increases by 1 if the shortest student with 42 height is excluded.

FEIT B SR d1g fopaen 27

L Uf%amﬁ%s%ra%waéﬁamﬁaﬁgaﬁmmaﬁmmaﬁaﬂvﬁm 1 39 9¢ i
gl

IL. Uf%mmﬁus%ra%wﬁméﬁ%mﬁﬁmﬁmmahﬁmﬁmm | 39 95 St
gl

What is the difference between two digits in a two-digit number?
[~ The multiple of the two digits is 0.

II. Triple of that number is 40 less than 100.

< I B YE e § S AR B G i aar 27

I. T 3T BT ot 02 |

II. 39 |1 &1 9 A1 100 3 40 H9 2|

AABC and AXYZ are congruent.

[ Area of AABC and AXYZ are the same.

I AABC and AXYZ are right-angle triang]es.
AABC 3R AXYZ wafrae & |

. AABC 3R AXYZ & &=%et §HM & |

Il AABC 3R AXYZ GHe1T et & |

The pocket allowance of Anu and Bittu is in the ratio of 3:4 and their expenses are in the ratio of 4:5.
What is the ratio of their savings?

I Bittu’s saving is 25% of her pocket allowance.

II. Bittu’s pocket allowance is Rs.2500.
aqgaﬁ'\fﬁ-q—c;aﬂﬁaaé3:43qmﬁﬁaﬁ?m@ﬁ4zsa§maﬁélmaaamm§qmﬁmm
8? :

I fdgg @ qad Saa) sewd & 25% 2|

II. fagg &1 Se@d 22500 2 |




81. In MS Word. for what purpose does the “Ruler” help?

(fj,) To set Tabs (2) To set Indents
“(3) To change page margins (4) All these
MS € § e’ b e # #eg el 87
(1) 39 ¥e & 4 (2) gS¢ T HX H
(3) Ust A1t aRafdd &= A (4) T A
82. In MS Excel. you can add a hyperlink to your worksheet by pressing .
MS Tde H, ——————— SdTHR AT AU addiie § U gEwRidd Sie uhd € |
() Alt+K (2) Cul+H
3) Cul+K (4) Ctrl + Shift + K

83, In MS Excel. to make a number in cell C1, 10% smaller than the number in C3, you should

enter .
MSWﬁCNﬂﬁmﬁm%@ﬁam@aaﬁwﬁa%%mm —————— Uex
YT TR |

(1) =C3*1.10 (2) =C3*110 (3) =C3*%10 (4) =C3*.90

84. Which of the three types of data are found in a computer spreadsheet?

(1) Data, Words, Numbers (2) Equations, Data, Numbers
(3) Words, Numbers, Labels (4) Numbers, Formulas, Labels
T Hryex Wrede # 5 W e & sfids uig Wi ©7
(1) $e1, a8, AR (2) 3FTE, T, TR
(3) TS, AR, A (4) R, BT, Tae
85. What is the minimum number of rows and columns that a Word table can have? '
(1) 1 Row, 2 Columns (2) 1 Row, 1 Column
(3) 2 Rows, 1 Column (4) 2 Rows, 2 Columns
Ud IS 9 § YAGH T 1 IR BieH 8 Fhd &7
(1) 131, 2 B (2) 130, | B
(3) 2%, | BicH (4) 20, 2 D™

86. In MS Word, Thesaurus is used for

(1) Spelling Options (2) Grammar Options
(3) Synonyms and Antonyms Options (4) None of these
MS g€ # RPRIRE &1 T ————— & forg fasan rar 2 |
(1) =1 fasedl (2) @Rl fameai
(3) Farefe 3R faudamie el (4) T | Big T8I

87. In MS Word, Menu Item in dim color (gray) indicates that the menu is

~ (1) unavailable for current context. (2) not much required Menu.
(3) Toggle Menu. (4) over used Menu.
MS @€ ¥ g 97 (ER) § 9 3nged gfud FRal & fb w ———— — B
(1) HIS[ET U8 & foy Srgucter (2) STeT e A TEl
(3) et A, (4) Sfy Fga Y
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88.

89.

o

91.

92.

93.

94.
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In MS PowerPoint. special effects used to introduce slides in a presentation are called
(1) Effects (2) Custom Animations

(3) Transitions (4) Present Animations
Msmﬁ%ﬁuﬁ%ﬁmmaﬂﬁaﬁﬁmu@ﬁmw(mma —————
HEAT 2 |

(1) g (2) d¥cH U (3) gifdem (4) Usie gfreE
Which of the following types is not an Image file?

e 1 & 7 a1 v o 2 wed 17 2

(1) .bmp (2) .jpg (3) .wmv (4) .png

Which one of the following is a language that can be used to create a webpage?

ﬁmﬁrﬁaaﬁﬁaﬁqmagw%ﬁlwsqﬁnéaﬁam%ﬁm%mmmé?
(1) HTML . 2) C (3) BASIC (4) SQL

A is a software program that lets you interact with the information available on the web.
(1) search engine (2) browser (3) client (4) None of these

@ﬁmm%ﬁméﬁwwm%mmwaﬁgﬁmémél
(1) g€ 359 (2) TS (3) ¥ (4) 39 G HIE A&

Which of the following statements is correct about a computer system?
(1) There are two kinds of computer memory: primary and secondary.
(2) The computer can understand decimal systems also.

(3) The storage of program and data in the RAM is permanent.

(4) PROM is secondary memory.

Ft freen % e & freforfad & & 397 o1 o a2

(1) S THI S Yo 1 Bt 2: e siit i)

(2) FFIX AT TOTTeAT i +ff GHe eraT 21

(3) RAM ¥ Wiy 3 221 o1 RN et Bar 2

(4) PROM et a1 2|

In MS Excel, to select several cell or ranges that are not touching each other, you would while
selecting.

(1) hold down the Ctrl Key (2) hold down the Shift Key

(3) hold down the Alt Key (4) hold down Ctrl + Shift Key
Msmﬁwqﬁ%aﬁmﬁﬁmﬁﬁﬁamﬁagﬁa?m,aﬂﬁw——————w—cﬁ
R § |

(1) g HI () Roe & (3) 3ifee @1 (4) g + Rige &

In MS PowerPoint, which of the fo'llowing should you use if you want all the slides in the presentation.
to have the same look?

(1) The slide layout option (2) Add a slide option

(3) Outline view (4) A presentation design template

MS uravdize # afe 3 wfa § @ wiss @ wad /Sed Ue okl YT TEd € a) oy
fFrefeRad & & fwer wamT wva? ]

(1) TTES 3T RApoq () = T Wigs fawed

(3) 3MSeaTsT & (4) T UsicyH feugq ewae




Which of the follow ing is/are internet web browser(s)?
(1) Microsoft Edge (2) Mozilla Firefox (3) Google Chrome (4) All these

o Freafafad § & F14 67 3202 39 JTSsH 2/

96.

97.

98.

99.

100.
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(1) HTSEHIET TS (2) AT SR (3) T HH (4) Tt

On internet, when we navigate from one page to another in search of the desired information or to
complete a particular task, it is known as

(1) web finding. (2) web browsing. (3) exploring the site.  (4) None of these

doTie T e B aifed S s der § a1 B e # @ e ¥ O uE 18 8 gw 9 WS € |l gE
EESIIE

(1) I @ (2) I ST (3) EEH G FEAT  (4) 390 T FHIE Tl

What is the full form of the SSD, the storage device?

(1) Solid State Drive (2) Sequential Storage Device
(3) Secondary Storage Drive (4) Sequential Storage Drive
Wit feared SSD %1 qu1 &9 H1 &2

(1) Hife Re gred (2) Hiaafirae 2 feara

(3) el Wi g13d (4) Hieafyrad 2R grd

folder in email is used to store emails that you have not yet finished writing or that you
intend to send later.

(1) Inbox (2) Draft (3) Outbox (4) None of these
EER: it I 3G 37 SHel I Gufed % fore fram smar @ 7 stam anvft o foramn e =& foran
& a1 52 =179 7e & A5 T 30eT WA &

(1) T () T®R (3) A=Erad (4) T A G
One Terabyte (TB) is equal to bytes.

s uerse (TB) T32H & FU Bl 2l

(1) 210 (2) 220 (3) 230 (4) 240

In Windows computer operating system, what is the meaning of “Switch User” in start menu option?
(1) Switch between windows users after closing the programs.
(2) Switch between windows users without closing the programs.

(3) Close programs and logoff the currently logged in user of the system and switch over to another
program.

(4) Closes all open programs, switch off the Windows, and then starts Windows again.
Feget Sitfe feren forgs # wd A fospea # “Switch User” s T 37 grar 27

(1) ST &% HE % o1 fHEs SwarmaRatel & <= feasr el

(2) S s fope fom faist SwameRateti & sfar fia sl

(3) ST & AT A fereen #f Sda # S 37 STATERAl 1 SIS HET 3 GH T 9 i w
(4) Tt g S 8 e R 8, R A A A S, ol e R A R A g A
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INSTRUCTIONS TO CANDIDATE

e & fom s

Please do not open this Question Booklet until asked to do so.

Fill up the necessary information in the space provided on the cover of Question Booklet and the Answer-Sheet before
commencement of the test.

The duration of the test is 120 minutes. There are 100 questions.

Please check for completeness of the Question-Booklet immediately after opening.

Each question has four answer options marked (1), (2), (3) and (4).

Answers are to be marked on the Answer-Sheet, which is provided separately.

Choose the most appropriate answer option and darken the oval completely, corresponding to (1). (2). (3) or (4) against
the relevant question number.

Use orily Blue/Black ball point pen to darken the oval for answering.

Please do not darken more than one oval against any question, as scanner will read such marking as wrong answer.

Once an oval is darkened as answer to the question, it is final. Answer option once darkened cannot be changed.

Each question carries equal marks. There is NO Negative Marking.

Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be provided/used for Rough Work.
Calculator, Mobile etc. are not permitted inside the examination hall.

Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question
Booklet or part of it outside the examination hall.

The right to exclude any question(s) from final evaluation rests with the testing authority.

Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

In case of any ambiguity in translation. the english version will be deemed authentic.
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Directions (Questions 1-5): Stuch the passage below and answer the questions that follow.

— Passage ‘

The Internet was designed to evolve in a distributed fashion. Individual machines which were connected to the
Internet were given the power to decide who people should talk to for a service in which they are interested. In
the entire design of the network layer, there were no guatekeepers except for very basic functionality such as
allocation of Internet Protocol addresses and root servers for resolving top-level domains like .com. .org, and
.net. Anyone could connect to the Internet and start providing or consuming a service. As a result. the Internet
saw rapid growth in the 1990s and 2000s. Many services such as emails. websites. and chats came up and
became an important part of the Internet ecosystem. They enabled the sharing of information and e-commerce.
To access a website, all we needed was a web browser. The standardisation of protocols and languages made
this easy. In the beginning, Yahoo provided a directory of websites under various categories. As the number of
websites exploded. a search engine, Google, came up to quickly provide a list of web pages that matched our
search queries. And then came mobile devices. When Apple came up with the iPhone. everyone began porting
their websites so that these sites could be easily viewed on small hand-held devices. Apple also urged third-
party developers to build web applications (apps) that could run on its Safari browsers. But then developers
wanted the same control over the devices that Apple had. They wanted the ability to ship native apps on these
hand-held devices. Apple opened the App Store for third-party native code on July 10, 2008. Apps are software
programs that can run natively on mobile phones. Running untrusted software and that too natively is a big
security nightmare. With direct access to the machines, apps can exploit local privilege escalation vulnerabilities
and get control over the devices. This is something that cannot be exploited remotely. But businesses loved the
apps. It meant they could run their native code on millions of machines, unhindered. They started pushing their
users to install their apps rather than providing their services through the standardised browser. The users were
told that the apps would provide a far more “immersive” experience than a website could ever give. But to get
such an experience, users needed to cede control over their SMS’, photos, videos, and location. They also had
to lose the controls that a web browser provided, such as blocking advertisements. The gatekeepers, app stores,
tried to allay the fears of users that these apps are safe. Yet, newspapers are filled with stories on how app stores
contain apps with malware, or commit financial frauds, or even steal private information. Apps were wonderful
for everyone except the users who have been at the receiving end of various unscrupulous apps. A decade ago,
I had highlighted these security issues with the apps and why web browsers are a better alternative. But people
loved apps, businesses loved apps, and now the app stores love apps because they can impose an app tax ranging
from 15% to 30%. The businesses, which loved apps for the control they got over the users, are now enraged.
The battle between businesses and app stores is far from being settled. It seems unlikely that the app stores will
easily leave out the lucrative revenue coming from the app tax. Instead of rethinking whether we need to go
back to web services accessible on a web browser, businesses want an app store that doesn’t have any app tax.
Irrespective of how this battle between app stores, business, and courts pan out, it should be clear to the users
that apps are not the way they should have chosen to access Internet services. The immersive experience was
drowning the users earlier and is now drowning businesses. In the end, there will be only two winners, the ones
that control the app stores: Apple and Google.

1. Which of the following options best describes the term gatekeepers’ in the context of the passage?
(1) Blockers (2) Regulators (3) Restrictors (4) Receivers

2. Which of the following statements about the internet ecosystem is implied in the passage?
i. Itenables and accommodates a variety of services.
ii. It is mostly a user-friendly platform.
iii. It is a common platform for both providers and consumers of services to utilise and carry out
transactions.
(I)iandii ~ (2) ii and iii (3) i and iii (4) i, ii and iii

3. Which of the following statements could be inferred from the passage about the Internet?
(1) It was designed primarily to serve the fashion products distribution industry.
(2) It has evolved and continues to grow in the same way that it was designed and envisaged originally
by its founding fathers. ' '
(3) The internet has been a versatile medium that is highly useful for a cross-section of users or

consumers.
(4) All these
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4. Which of the following statements could be inferred about the author’s views about how the internet
medium was evolving?
(1) Qne”of the highest excitements about the skyrocketing possibilities. .
(2) One of'the cautious optimisms about how the medium could be channelised for the mutual benefit
of both businesses and consumers.
(3) One of the sheer despairs at not being able to shackle the menace of apps.
(4) One of the helplessness about the directions it has taken especially in respect of the “immersive’
experience of using apps.

5. “The apps would provide a far more ‘immersive’ experience than a website could ever give.” What
is the implication behind this claim?
(1) The apps would make the internet a more versatile medium.
(2) The apps would make using the internet a comprehensive experience for the user.
(3) The experience would be more flexible, personalised, and inclusive when an app is used.
(4) The apps would make internet usage highly addictive.

Directions (Questions 6-8): Choose the option which gives the best way of writing the sentence ensuring
that the message is correctly conveyed.

6. (1) We’ve been painting all afternoon, let’s call it a day for continuing from tomorrow.
(2) We’ve been painting all afternoon; let’s call it a day and then continue from tomorrow.
(3) We’ve been painting all afternoon; let’s then call it a day to continue tomorrow.
(4) We’ve been painting all afternoon; let’s call it a day and continue tomorrow.

7. (1) Her constant humming drives me up the wall; as I can’t concentrate with that noise.
(2) Her constant humming drives me up the wall; I can’t concentrate with that noise.
(3) Her constant humming drives me up an wall for I can’t concentrate with that noise.
(4) Her constant humming drives me up the wall; so I can’t concentrate with that noise.

8. (1) I passed the exam by the skin of my teeth; I got the minimum required score.
(2) I passed the exam by the skin of my teeth; whereas I got the minimum required score.
(3) I passed the exam by the skin of the teeth as per my minimum required score.
(4) I passed the exam by the skin of my teeth, although I got the minimum required score.

Directions (Questions 9-11): Fill in the blanks.

9.  Acids are highly reactive metals and for that reason, be stored in metal containers.
(1) towards, cannot (2) within, shouldn’t  (3) for, cannot (4) by, shouldn’t

10. Most acids dissolve in water at room temperature or on heating to a clear solution.
(1) simply, form (2) just, make (3) either, make (4) either, form

11. In these bleak and depressing times of prices, non-performing governments, and
crime rates, the Indian cricket team has given us a lot to cheer about.
(1) escalating, decreasing (2) spiralling, booming
(3) spiralling, soaring (4) ascending, debilitating

Directions (Questions-12—14): 4 sentence has been broken up into three parts sequentially (1, 2 and 3).
Choose that part which contains an error and mark your answer accordingly. If there is no error in any of
the three parts, then mark the answer as 4.

12. (1) The study of science become enjoyable
(2) for both teachers and learners
(3) when taught in an interactive and relatable manner.
(4) No error
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3. (1) She is an experienced educationist and
(2) teacher who has developed several
(3 Cflild—ﬂ'iendl_\‘ learning methodology.
(4) No error

4. (1) The Q & A section at the end of every chapter
(2) encourages learners to recall and reiterate
(3) the concepts discussed in the class.
(4) No error

Directions (Questions 15-17): Choose the option which best expresses the meaning of the underlined
idiom/phrase in the sentence.

15.  Crying over spilt milk is a total waste of time.
(1) Worry about the amount paid for the milk that boiled over from the vessel
(2) A child crying when his mother slaps him for spilling milk
(3) Feeling regretful about something that has already happened and cannot be undone
(4) Trying to mop up milk spilt on to the floor so that it could be used

6. The claims by people known to be boastful must always be taken with a pinch of salt.
(1) To be taken as a spicy joke rather than something serious
(2) To be disbelieved
(3) To be heard from one ear and taken out from the other
(4) Not to be taken at face value

17. To cry wolf'is a longstanding habit of my superior at work which has made him unpopular amongst
the colleagues.
(1) To fool someone by pretending to cry
(2) To ask for help when it is not really needed
(3) Trying to scare someone
(4) Whistling at someone instead of calling out to him/her properly

Directions (Questions 18-20): These questions consist of a group of sentences which when sequenced
correctly, form a coherent and logical paragraph. Choose the option that gives the best sequence.

18.  A. However, the severed head could not grow back if fire could be applied instantly to the amputated

part.

B. To get rid of this monstrosity was truly a Herculean task, for as soon as one head was cut off, two
new ones replaced it.

C. And Hercules accomplished this labour with the aid of an assistant who cauterized the necks as
fast as he cut off the heads!

D. One of the twelve labours of Hercules was the killing of hydra, a water monster with nine heads.

(1) DCBA (2) ABCD (3) BDCA (4) DBAC

19.  A. That Hollywood is a man's world is certainly true, but it is not the whole truth.
B. Even Renaissance film actress, Jodie Foster, who hosts this compendium of movie history,
confesses surprise at this.
C. She says tHat she had no idea that women were so active in the industry even in those days.
D. During the silent era, for example, female scriptwriters outnumbered males 10 to 1.
(1) ADBC (2) ABDC (3) DCAB (4) ABCD

20.  A. Still, there is every chance that Sophie might need an open-heart surgery sometime later in life.
B. But with the news that his infant daughter Sophie has a hole in her heart, he appears vulnerable.
C. While her condition sounds bad, it is not life threatening, and frequently corrects itself.
D. Sylvester Stallone has made millions and built a thriving career out of looking invincible.
(1) DCAB (2) DBAC (3) DBCA (4) DCBA
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Directions (Questions 21-24): Each of these questions consists of a statement folloyed by two arguments
[ and II. You have to decide which of the arguments is a ‘strong’ argument and which one is a weak’
argument. o+

Mark answer as

(1) if only argument I is strong

(2) if only argument Il is strong

(3) if both arguments I and II are strong

(4) if neither argument [ nor II is strong
e (W 21-24): 39 Ul H 0P B 3R 99D 91€ &1 9 /3R [/ 2T U | syt vl deer @
f B TP U’ AR PIA-AT FHAR' B |

a1 SR fr=feriad wu # sifda & :

(1) I a1 dd [ ydet &

(2) Ife dad T [ 96 &

(3) afe d® 13X [l SHI yad &

(4) afe 9 ) 9 1R 7 & 11 vacl &

21. Statement: Performing outstanding medical research requires more than a simple talent and more
than simple explanation. Hence, only those researchers having outstanding knowledge and ability
should be allowed to perform medical research.

Argument I: Yes. Developing creativity in students is less important for the cultivation of research
talent than instilling a sense of dedication.

Argument II: No. The proper function of our universities is not to produce only outstanding
researchers, but to create well rounded medical graduates.

A : W%ﬁﬁﬂ&gﬂuﬂmzﬁmwﬁﬁﬁmmaﬁ?wmmﬁmwn
Bl € | 31 Dael Icqpe Uil SR JIaT dTel SraeTHadist o &1 Rifhedr ageer & @
rgafa & S =Ry |

e I: & | AU B A1EAT HRA D Gor1 F Sgaur ufrdr U7 ox & forg et # gormrerear
R &1 &1 Agayf 7 |

@ II: 181 | R fawafaenedl &1 981 F1f dad S ATHFGd! Yol &A1 T8l dafed Tgg!
fafre = as TOR &R 2

22. Statement: Should India takes seriously the proxy war waged by Pakistan and take strong action?
Argument I: Yes. The proxy war causes loss of lives and also becomes a source of economic burden.
Argument II: No, because it will be questioned in the UN and will invite international criticism.
HIT 1 FT ARG DI DT gRT TAY S I BEH Jg§ B THRAT I o1 AR S HRATS BReAT
ElY
T I: €1 | BEH g€ A 99 BT JHAH el © IR Ig i g7 BT HROT 4 97elT § |
T I1: 721, 9IS Fgaa T § 39 W FaTel @3 8 3R I8 ARG AT BT HROT G177 |

23. Statement: The Government must restrict the use of electricity for each household depending on the
number of inmates in the house.
Argument I: Yes. This will help the government tide over the problem of inadequate generation of
electricity.
Argument II: No. Every citizen has the right to use electricity, as per their requirement and the ability
to pay for using electricity.

A : Wﬁwwﬁ?ﬁaﬁmﬁmﬁaﬂwwmmﬁﬁwma%
SYANT BT AT BT & =R |

@ L: 8 | 399 WoR & waia 7 § fsieh 9fvd 9 81 &) 991 9 figes § 9eg fierty |
T II: 7€l | 9P TRS BT 30 ILAHAT AR fISTell & IUART & foIg sFrar o=y & erwan
D ATAR TADT STANT B BT VBN 2 |
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24.

Statement: The open book examinations be introduced for every professional course in India.
Argument I: Yes. All candidates can pass easily and can start their professional life easily.
A-rgument I1: No. Students who don’t deserve to pass in the examinations otherwise will pass but
not get jobs anyway and remain unemployed.

HUF : URA H UAS YR USTHH b [ Gell fberd akien Iv bl S | :

TP 1: & | I apefl st & <l @1 W € SR uT JeieR Silad Il 6 g

g

TP 11: 781 | o Qe ofen § ol 89 & &R T8 81 9 IO a1 8l o, R ST B
T fAerT 3R SRIGTR &1 & |

Directions (Questions 25-28): For the Assertion (4) and Reason (R) below, choose the correct alternative
from the following:

Mark answer as:

(1) if both (A) and (R) are true and (R) is the correct explanation of (A).
(2) if both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) if (A) is true but (R) is false.

(4) if (A) is false but (R) is true.

e (wee 25-28): < Ry U aif@deE (4) 3R BRUT (R) B o Ry T Reed 4 A @l fAwed g |

25;

26.

27,

28.
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(1) afE (A) 3R (R) THT W& € 3R (R), (A) BT Al ARAT & |

2) AT (A) 3R (R) ST F& & A (R), (A) B FET A=AT T8 & |
(3) T (A) FE ® A (R) Tl 2 |

(4) afe (A) Tad ® «f= (R) |al 2 |

Assertion (A): Males play a major role in determining the gender of the offsprings.

Reason (R): Determination of sex in human being is determined by the sex chromosomes (XX in
females & XY in male).

AIfFA (A): Far &1 foiT FeiRa = % goy @) ugE e 8l g |

HROT (R): 7 & o ot feikor 9w (TorgE) (Afeer 3 XX @ik gou # XY) gRT 8
gl

Assertion (A): The price of a share in the stock market is determined on the basis of demand and
supply of the stock.

Reason (R): The score of the Index in a stock market moves whenever there is a noticeable rise or
fall in the demands of the shares which constitute the Index.

ARBAT (A): P TR § Td IR B BIFd (d o 7 IR i & R w® Fuifd &xdl 2
BRY (R): IF IR § GaBID BT TR Hed—aedl & | 9a A Gasbid d AMiHe AaRT S A
¥ SooraHra gfg a1 F AT B

Assertion (A): The phenomenon of nuclear fission generates great energy, and it is used to create
weapons of mass destruction.

Reason (R): The process in which two nuclei are joined into one single atom is called nuclear fission.
MDY (A): AT e &) uReeT ¥ JARE SHofl S aril & R 3 A0S TEE
PRIR AR &1 & forg wanT fFar i 2|

BROT (R): 1 DT BT Y et WA § Sie B wfkar war] s deerd €|

Assertion (A): The Himalayan Rivers are not suitable for the production of big hydel power though
they are full of water throughout the year.

Reason (R): The Himalayan Rivers are subjected to drastic change of courses particularly after the
landslides and earthquakes. -

A (A): RAE) AR a1 A § gl & Sded & fay Suge TE € el S
R ATl T T & € | '
BRY (R): Rwrerd ARl & Anf ¥ w8 aRad= e Year 2, TaR el iR JbHl & 9 |




Directions (Questions 29-32): Read the following information carefully and answer the questions that
follow.

In a papet* b?esentation event on science, five participants — U. V., W. X_ and Y, reached the final-round. At
the end. they are awarded prizes depending on the positions they achieved from first to fifth. Each
participant has chosen a unique scientific field: Physics. Chemistry. Biology. Mathematics, and Astronomy.
The following information is also provided:

e U didn't choose Chemistry and came in position after Y.
The one who chose Physics finished just after the participant who chose Biology.
V finished just ahead of the participant who chose Astronomy.
X is not the one who chose Biology and didn't finish last.
The participant who chose Mathematics finished after Y and after the person who took Physics.
W didn't choose Mathematics and came two places after the one who took Chemistry.
The one who chose Biology finished after the one who chose Astronomy.
U hasn’t taken Astronomy and finished fifth from the top.

e (W 29-32): A9 & TF gFH B g7 & 9BV 57 gl B GV 7/

fasme R e um wRgfd sriwA § wim gl — U, V, W, X, @R Y anRedl €R H ugd | ofd | S
U X UiEd q UK A B AR R RIBR GSH B MY | gAF ufrarh 7 v faRiy s &=
AT A1 — Hifdel, TargA e, st fagm, 71K R @me s | feafaRea afiRed gaer 6 @
AR

U A g s 981 g1 &R Y & a8 &1 w19 U o |

Alfded! g aret gferarhl 7 Sha g g7 arel ofermlt & e are &1 e o fan |
VA @i faee g arel gfowrft & i ugel &1 e e fha |

X gg gferhl €1 & R Si e g1 ok a8 et e iR 981 <&

TR g arel URMEl 7 Y & 91 iR Hifde) 9= arel uformll & a1g &1 e ur b |
W S IO e AT 3R S XA s g arel gt @ 91 R 9 @1 I e
faa |

St fasi g+ drelt afodrft @iel s arel aferl & ae & e W @

UH @ia faee =8l g1 ok o 9§ uied e wR & |

29. Which of the following fields did W choose?

(1) Chemistry (2) Mathematics (3) Biology (4) Astronomy
W A fr=ferRaa A & dF—ar & gare
(1) [ fasm= (2) T (3) Shrafdsm (4) @A fasm
30. Who among the following finished first in the competition?
9 gfAAIar  HI9 Ugel A W AAT?
(HU )V G)wW @ X
31. At what position did the participant who chose Biology finish?
(1) lst 44 (2) 2nd (3) 3rd (4) 4th
Sl fasm g drel gfowrll 9 SH—1 E g fhar?
(1) wer @ T (3) e (4) e
32.  Who among the following chose Physics?
fFefoiRea & | feam Hifdar gar?
(U @V (3) X @Y
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Directions (Questions 33-36): In cach of these questions a statement is given, which is followed by two
assumptipns. numbered [ and I1. An assumption is something supposed or taken for granted. You have to
consider the statement and the assumptions and decide which of the assumptions is implicit in the statement.

Mark answer as

(1) if only assumption [ is implicit.

(2) if only assumption 1 is implicit.

(3) if both assumptions I and Il are implicit.

(4) if neither assumption I nor Il is implicit.
frder (W 33-36): 3 WRHI H U HoF 3R SAS 91 <1 ARIAN /3{R [ TS | ARl 3H AR W
HR B 2| AUP PAT 3R ARG W AR oxd gC (o7 a1 & 6 du & R | dH-T
A=Al Sfafifed € |

T ST frfeRad wa & sifdd #

(1) afe daet dr=uar | iafifad & |

(2) afe daar AT 11 Jdffd & |

(3) afe wr=adie 131R 11 <F! 3fdf+fza = |

(4) afe = o "=gar 18R 9 & 11 3idfkd 2 |

33. Statement: The recent incidents of pickpocketing have shown that it has become rampant in most of
the crowded places.
Assumption I: The incidents of pickpocketing were not there some years ago.
Assumption II: Pickpocketing takes place only in crowded places.
FUF : SIHA B FIR e R § f die—re arel SRR SRl W gd] WRAR 8l
TS R
AT I: $B a9 Ugel Sigdba] S ey el g3 axcil &f |
AT 11: bl dadd Hie—Te dTell S8l WR &l & |

34. Statement: Wars must be discouraged at all costs even though majority of the victims might deserve
some reprisal as their countries have been a nuisance to peace-loving people.
Assumption I: People from the countries which create problems to peace-loving people are supposed
to pay for their governments’ action.
Assumption ITI: Wars kill or harm people majority of whom are those who create problems to peace-
loving people.
FUT : gE W DA W el WMl AMRY BTl gwD ASaR Yo gfifear & ghar B
Ty ¥ ifF ST 2w Wiy e & afdal @ fog FeRe k@ 8 € |
AT 1: Wi e @ afidl @ g wer @ a g <u & afdadl Bl Ul WA
B Bl BT WITHITAT I geal & |
AT I g€ 9 @i Bl A &1 g B @ R A et 9 € 8 o el
@ B AfeTal @ oy W TS B € |

35. Statement: Shashi is a voracious reader of English literature; his English is so good that he writes in
English even better than an American does.
Assumption I: Reading of English literature voraciously helps developing good writing skills in
English.
Assumption II: Americans aren’t voracious readers.
S : T SN AR &7 R Ugd €, el Sl o+t el § f5 aw smRfeAl A off 9Ew
3ol forea & | -
ARG ©: 3N IR @ MRUR g W S F ST o dIve fasiid el & |
Hgar 11: 3WRE AT 8R UgTa, 981 8 |
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36.

38.

39.

40.

41.
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Statement: Due to excess and uncontrolled use of social media. the incidents of child abuse are
increasing and has become a major reason for human exploitation world over.

Assurfiption I: Children have access to the use of social media in most of the countries.
Assumption II: Other forms of human exploitation exist in various countries.

AR A& G R A AT B SN BT U WRI HROT G 7T |

AT I Ay <l | geal @) e DA ) ug" e €

AT 1L 93 & 2997 & g wY fAfi= Qe § Aoe ¥

Seema told Jaya, the girl [ met in the park yesterday is the youngest daughter of the brother-in-law of
my sister’s mother. How is the girl related to Seema?

(1) Cousin (2) Daughter (3) Niece (4) Aunt

XA, ST | wEell & s T e § R ored) A Brel, a8 99 989 @) 7 B gev—g—aif
P FI VIS 9 B | IH AgH BT AT § F Rear 22

(1) 3 - 2) 5& (3) - (4) 3

Pointing to a person in a photograph, Shubhranshu said, ‘Her father is the son of the mother of the
father of my only daughter’. How is Shubhranshu related to the person in the photograph?

(1) Son (2) Brother (3) Nephew (4) Data inadequate

UF Wil # U @Afdd B 3R SART d_e YUY Fea1 2, 39 ARell BT far 3 shaldl 38 &
foem & =1 @1 327 8 | Uiy &1 SW AR § T Redr 87

(1) 9e1 (2) g (3) T (4) MBS gl &

Five readers A, B, C, D and E go to a local library every evening and read a newspaper. The one who
reads first gives it to C. The one who reads last had taken it from A. E was not the first or last to read.
There were two readers between B and A. Who among the following is the third to read the
newspaper?

I 9S® A, B, C, D3R E & M TF JRadierd W & 3R Ue @R ued & | Use g arel
IR C I < < 8| MR § g7 aTe A § IRgaR ol & | E 69 Ugel a7 AR § 70
aret @Afdd FE &1 Bk A D @9 < Ulos § | SREER Ugs dren dRRT Al @ 82

(1)B 2) E 3) A (4) D

The main door of Aradhya’s house faces East. One day, she started her morning walk from the back
side of her house and went 50 metres straight. Then she turns to her right and walks 50 metres again.
Finally, she turns towards left and stops walking after 25 metres. In which direction Aradhya is
standing from the starting point now?

(1) South-east (2) North-west (3) North-east (4) South-west
Wzﬁmaﬂg@mqmaﬁaﬁ?%lwﬁﬂwﬁmm%ﬁaﬁﬁwﬁwaﬁ
@?gﬁaﬁaﬁ?ﬁeﬁsoﬁa%ﬁlsﬂiﬁmmgﬁfsﬁ?ﬁﬂsolﬁa%ﬁlaﬁﬁa—smﬁ
3IY 25 WX AARR o TS | T O BRA D AT W IR b 2w F w37

(1) fero—gzg (2) STR—f=m (3) STR—YR (4) <léror—af¥=m

A sum of %8,59,125 is divided among 3 General Managers, 7 Managers and 4 Directors in such a
manner that 2 Directors get as much amount as 3 Managers and 2 General Managers get as much
amount as 3 Directors. Find how much amount did each manager get.

%8,59,125 @1 &FRIRT 3 HEGHD, 7 Tt 3R 4 Freerat # 59 wopR 9id) Wil & fF 2 Fe,
3 waged! ol geRif ik 2 wETwEE®s, 3 Prewet R s U ok £ g9 ydus @)

(1) 740,300 (2) 42,000 (3) 43,500 (4) 45,800




42.

44.

45.

46.

47.

48.
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[n a school. students exercised their option of selecting the stream in which they wanted to pursue
their higher studies. It was noticed that 1/7" of students opted for Science stream. 1/5" of the students

wﬁf)ted for Commerce and 1/3™ of the remaining students opted for Arts stream. If the number of

students who opted for Arts stream is 184. how many more students opted for Commerce than Science
stream?

U el # fenfial ¥ oy STaR JmR $ fU AU gEer R ARl g &1 fdeed for |
g1 T fb 1 /7 fenfR 9 s o g 1 /5 T afsy i gl iR 9w @ e faETs
farenffa 1 werm wrar g | S wor T gA arel el @ W 184 & o1 fdsm W @
o1 # fhae ot faenfial = arforsa amar gH=r?

{152 (2) 48 (3) 44 (4) 40

Two angles are making a linear pair. [f one of them is one-third of the other, the angles are __

3 BV b YT I 91 W@ 2| AR S 9 U, R #1 US e © dl F Bl ———— g |
(1) 35°,105° (2) 50°,150° (3) 45°,135° (4) 40°,120°

How many linear equations in x and y can be satisfied by x=1 and y=2?

(1) Only one (2) Two (3) Infinitely many (4) Three
x=1 3R y=2 gRT x 3R y ¥ fbq Y& afiawor qoi fby 1 wed 87
(1) Dt TH Q@ (3) 3T ®Y A B (4) A

A wholesaler supplies a lot of 725 hair bands to a buyer. He sells 236 hair bands for ¥4,170 more than
their cost and the remaining for 8,955. If the gain of the wholesale supplier on the total sale is 36%,
what is the cost of each hairband?

T ol fahal Td ol BT 725 8AR g€ o Uff dval | g8 399 W 236 A §8 gD AN A
34,170 3 qou TR A9 28,955 F AT ¥ | A oM fashar F1 B fAs] W ™ 36% & 1 uhD
TR d8 @ ArIg fha 87

(1) 217.50 (2) 220 (3) 222.50 (4) 225

x+1 is a factor of the polynomial

x+1 9gUS &1 [PHEES ©

(1) X34x>—x+1 (2) x*x3+x3+1 (3) xX+x24x+1 (4) x*+3x3+3x%4x+1

Which of the following can be the length of the third side of a triangle whose two sides are 18 cm and
14 cm?

(1) 32cm (2) 4 cm (3) 3cm (4) 5cm
T Byt 1 <1 Y] 18 I IR 14 WA D €, SHST A Yo B W« b e
(1) 32 3. (2) 4 3. (3) 3 9. (4) 5 9.

On plotting the points 0(0,0), A(3,0), B(3,4), C(0,4) and joining OA, AB, BC and CO, which of the
following figures is obtained?

(1) Square (2) Rectangle (3) Trapezium (4) Rhombus

figali 0(0,0), A(3,0), B(3,4), C(0,4) BT MRaw &=+ 3R OA, AB, BC.3lR CO @l Sigd W
PrefoRae 3 W Pre—8 SRy I B

(1) @it (2) 3maqa (3) FHCd (4) FHATS




49.

50.

S1.

52.

53.

54.
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On his visit to Rishikesh. Sanjeev went for rowing in Ganga river. He rowed at a speed of 17.5 km in
one hour in still water. The speed of the water current was 3(1/2) kmph and it took him 3(3/4) hours
to g9 Aom point A to point B and return to point A. Find the distance between points A and B.

(1) 31.5 km (2) 32 km (3) 32.5 km (4) 33 km

FfADY & SNl AN W GG A T F Ao w T Sad RUR ol ¥ s 65 F 175
foe. o1 e A T1a WL | U B a1 B A 3(1/2) N Ul ger o 3R 99 A Y B a6
ST H 3(3/4) €T | AR BB 9 Bl g ——————— 2

(1) 31.5 fan. (2) 32 fo . (3) 32.5 fapT. (4) 33 .

M/s Santosh Electronics gives a discount of 27.5% on the marked price of an electronic gadget and
earn a profit of 16% only. Now, they want to make more profit and therefore, reduce the discount to
20%. Find how much more profit would they earn now?
meﬁﬁw@ﬁ?ﬁ%ﬁ@mzﬁaﬁﬁf@wnmaﬁ@;W%sﬁqW 16%
™ PAAT €| 3 I8 Afh AT HAAT ATl & 3R 3ARIT G Herdw 20% B AT & | 36 I
ReaT e e st grme

(1) 12% (2) 15% 3) 18% (4) 20%

There are 16 players, including 2 wicket keepers and 5 bowlers, available for selecting a cricket team
of 11 players. In how many ways can a team of 11 players be selected if we have to include 1 wicket
keeper and at least 4 bowlers?

11 RacTfedl &1 v fbde &M & 907 & Ry 2 fdedR iR 5 Fearil aRd 16 Raars! Sueer
€| At & 1 RABTHIR 3R 9 | 3 4 Hears M Fe & 2 o1 fba a9 F 11 Reenfeai
@1 U EH A A1 el 27

(1) 862 (2) 1092 (3) 1764 (4) 2036

Adjacent to her home, Himani has a square field. All around the field, there is a path with a width of
2.5 meters, and the area of the path is 1175 sq. meter. Himani wants to get fencing done around the
square field. The cost of fencing the field is 115 per meter. Then, how much amount Himani needs
for the fencing?

mﬁmaﬁmﬁﬁvﬁﬁmwmmﬁlsﬂﬁﬁfhmﬁsﬁ?z.siﬁazﬁtﬂww%
AR ¥ U BT &G 1175 I Hex & | RAN 39 TMHR Vd & IR AR AT TEHET e 2|
Ud # 918 o B BT 2115 IR ¥ | 91 @ ar § R @ fha w@d s

(1) 246,700 (2) 248,500 (3) 250,600 (4) 252,900

A, B and C together can complete a piece of work in 10 days. All the three started working at it
together and after 4 days, A left. Then, B and C together completed the work in 10 more days. A
alone could have completed the work in

(1) 15 days. (2) 16 days. (3) 25 days. (4) 50 days.
A,Baﬁ?cwuﬁwwmaﬁ1oﬁﬁﬁwaﬂﬂﬁ§|ﬁﬁ=ﬁwarﬁmmsﬁaﬂﬁ
%aﬁ"\wﬁ—«rfﬁaﬁAwmﬁlmmBsﬁ'\fcwuﬁaaﬂaﬁwoﬁﬁ‘fﬁa%mqm

BN B | A e 3 BM B —————— AT § R/ N\ B

(1) 15 ) 16 (3) 25 4) 50

In a mixture of 85 Itrs, the ratio of chemicals A and B is 4 : 1. But to make it suitable for industrial
use, the ratio of the two chemicals should be 3 : 4. How much more quantity of Chemical B should
be added to make it suitable for use?

(1) 32.5 Itrs ' (2) 30 ltrs (3) 28(1/3) Itrs (4) 25(1/3) Itrs

85 ey & Udh fsor § A 3R B XARIAT &1 U 4: 1 2| QfdT 39 aenfie SwiT & frg
SHIFT I & o T XIIHT BT 3TN 3 : 4 81T AIRY | SUAT & g Suge 99§ wraE
B @1 fébel &iR w3 g1 fAsror & e enfi?

(1) 32.5 @iex (2) 30 &lex (3) 28(1/3) @ilex (4) 25(1/3) <frex




(9]
n

57.

58.

59.

60.
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A gulab jamun contains sugar syrup up to about 30% of its volume. Find approximately how much
syrup would be found in 48 gulab jamuns, each shaped like a cylinder with two hemispherical ends
with lgndth 7.5 cm and diameter 3.5 cm.

(1) 869.60 cm? (2) 877.80 em’ (3) 886.10 cm’ (4) 893.30 cm?
U Telld S H $9& 3T BT 30% @R 8 | GAd B 7.5 I Farg 3R 3.5 Wl et dred
1 el RRT & dATPR 48 T[T WA H ATl B ATHT —————— |13 UTg ST |

(1) 869.60 &1 T (2) 877.80 & . (3) 886.10 T WA (4) 893.30 T I

Madhur had some money which he lent in two parts on Simple Interest in the ratio of 13:11 for 5(1/2)
years and 4(1/2) years with rate of interest of 10% and 8% per annum respectively. If the difference
between the interests earned is 78,394.25, then, find the total sum that was lent.

HER B YR fp geRI ol R S99 AR @1 W 13:11 T # <7 Rt § sHe 10% 3R
8% dT® &I TX W 5(1/2) 9§ 3R 4(1/2) 99 & fou Sur far| afy «ifvig «aei & 4= 3z
378,394.25 8 Al el ——————— gARIRT I SR o1 o |

(1) %5.81,400 (2) %5,85,300 (3) %5.89.800 (4) %5.93,500

There are three showrooms of the same type of garments, owned by Hari, Prakash and Umesh. Hari
sells his goods 22.5% cheaper than Prakash and 24% costlier than Umesh. How much percent are
Umesh’s goods cheaper than Prakash’s goods?

gR, THT IR SAY & THWHM TF B UH—UF WA 2| BR AUAT Al Tebrel & 22.5% TRl
3R T A 24% HET 99T 8 | USRI S Al & SHIA BT Aol fpa1 Al 87

(1) 37.5% (2) 35% 3) 32.5% (4) 30%

Rajat and Amit started a business. Rajat was a sleeping partner in the business. Amit, being the
working partner, took a certain monthly salary. At the end of the first year, the total amount of profit
was X7,80,000. The ratio of Rajat’s and Amit’s share was 11:13. If Amit’s annual salary was
excluded, the ratio of their shares becomes 11:7. Find the monthly salary of Amit.

WO 3R AT 7 AeeR U6 PRIIR Pw HA1| a3 FRER H PAftey wEer on) afia,
BRIRT WEER EH & 71, U FiREd 71fie 307 o o1 | Uge A1 & 3 § o B del I3
%7,80,000 off | ¥oTet 3R 31fd & oy &1 o gurd 11:13 o7 | A} i &1 aiffe Ja= Ferar e
SIY A1 S @Al BT U 11:7 81 S € | AfAT &1 717 a1 s Iy |

(1) 215,250 (2) 215,750 (3) 16,250 (4) %17,000

A fruit seller buys 40 dozen of apples from the wholesale market. There are good apples as well as
rotten apples in the lot. If the probability of getting rotten-apples from the lot of 40 dozen apples is

0.225, then what is the number of good apples?
U Bof fdehell oAl II9TR A 40 Tuid Wd @ISl 8| 399 38 & 91 9< 99 91 €1 afe 40

ToiF 99 # I3 Q9 e @ wiikiear 0.225 8 a1 38 Qe @ | fha 87
(1) 360 (2) 364 (3) 368 4) 372

A big businessman inherited a piece of land, which is triangular in shape having a perimeter of 456
m and its sides are in the ratio of 3:4:5. He uses one-third of this land for making a residential complex
and divides the rest of it equally for building a secondary school and a hospital. Find the area of land
used for the hospital.

(1) 2,586 m? (2) 2,640 m? (3) 2,774 m? (4) 2,888 m?

U g8 HRIANT BT R # S fiell St Bromer @ &R @1 uRAM 456 91 @ dor sae@
O] 3:4:5 37U | € | 98 39 S B U@ (IeTe R U ariig uRex a9 # ST &van
g 3R I R ®I <1 R 9FI H U Areafiie whel 3R Ue aRudrel a9a & g aiedr 2
IRYAT 4 & oIy Ugaa SH &7 &3%el §d BIfoTY |

(1) 2,586 T Hrex (2) 2,640 a7 Hrex (3) 2,774 7 Hiex (4) 2,888 a7 Hiex




i

Directions (Questions 61-64): Study the following nwo Pie charts indicating the category-wise percentage
distribution of emplovees in a company for two different years and answer the questions that follow.

ﬁa‘sr(wer.’msqMa\wéﬁa%maw—waﬁﬁwwﬁﬁmﬁaﬁmmﬁm
qﬁwamq&:ﬁawﬁaﬁﬁw%@aaﬁmémémmwﬁl

6l1.

62.

63.

64.
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Category-wise distribution of Employees in two years

a1 98t ¥ SRl &1 AR deq

Year/a¥ 2020 Year/a¥ 2024

No. of em ployeeS =2000 Nd. of erﬁ.[")loyeés = 2400 o [ S

What is the percentage increase in the number of employees in Category F?
#of F A deaiRar @ wen § givea gfy fead of?
()25 (2) 33.33 (3) 50 (4) 66.67

What is the total number of employees increased for the categories where there is an increase?
for #iforal & gfe of, S sdeRat @ gor fva <ier ad?
(1) 468 (2) 382 (3) 408 4) 168

Which category of employees has shown a decrease in employees?
FHARAT B Fer § B e Soht Ry 27
1A @B ©fe 4E

+

In which of the categories was the number of employees the same in both the years?
T a6t # Rl @) e e Sl § @ ofr?
A (2) D 3)C @E




" 4

Directions (Questions 65-68): Lach question below is followed by two statements I & 11 You have to
determine whether the data given in the statements are sufficient for answering the question. Mark answer

as

(h
(2)

)
4)

b

if statement I alone is sufficient to answer the question but statement Il alone is not sufficient to
answer the question.

if statement Il alone is sufficient to answer the question but statement I alone is not sufficient to
answer the question.

if both the statements are needed to answer the question.

if both the statements together are not sufficient to answer the question.

e (U 65-68): 37 Ul H UAD U & 9l o b /3R /7 feU v €| e FuiRa @ g B
T HIAT | fear T e U b SR @ forv gal 2 3o SR A=faRad wu 7 sifea @ -

()
()
)
)

65.

66.

67.

68.-
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I ge & IR & o den S 1 9l &, fbg S 11 el gare T&f 2 |
I U & IR D oY fdbell B 11 93T &, fhqg $2F | e qafa T8l 2|
I U & IR & oy SHl HUF T ¢ |

Ife <HT B fciar M ye & SR & forv yafe =di €|

The pocket allowance of Anu and Bittu is in the ratio of 3:4 and their expenses are in the ratio of 4:5.
What is the ratio of their savings?

[. Bittu’s saving is 25% of her pocket allowance.

II. Bittu’s pocket allowance is Rs.2500.

31 3R f9ee &1 Sawd 3:4 3urd H AR ITd1 W 4:5 37U 4 2 | SAD! g9d & Urd e
87

I fieg & gad Sa@! JeE@d Bl 25% 2 |

1. feg &1 SaEd 25007 |

What is the average height of the class?

I.  Average height of the class decreases by 17 if the tallest student with 56 height is excluded.

II. The average height of the class increases by 1™ if the shortest student with 42” height is excluded.

HEll B AT wfarg el 87 '

I afe @ 5639 & T @fd faenefl @1 ger faar Sy a1 $en o fi9d |68 1 39 ue A
gl

II. If Ferm & 4239 & Haw Bic el @1 ger A Sy a1 s &1 kg dars 1 39 98 Sl
gl

What is the difference between two digits in a two-digit number?
[. The multiple of the two digits is 0.

II. Triple of that number is 40 less than 100.

31 3Pl B UH F&AT H AT GBI B §rd AR R 87

I SHI 3Pl BT O 0% |

II. 9 &1 &1 §F A1 1009 40 T & |

AABC and AXYZ are congruent.

I. Areaof AABC and AXYZ are the same.

I AABC and AXYZ are right-angle triangles.
AABC 3R AXYZ ¥aiT¥H & |

. AABC3R AXYZ & &F%d W9 ¢ |

I AABC 3R AXYZ FH&IT et |




Directions (Questions 69-72): Srudy the following 3-Lines graph indicating the number of teachers in
three colleges gver five vears to answer the questions that follow.
ﬁéer(w;«ﬂm:s:fma%waﬁzﬁmmaﬁasaﬁmeﬁqaﬁaﬁﬁ%mﬁmw
B aTel FrfaRad 3—amsli & w @7 sremE @Y |

S & b SR . o

Rrerl @ Hean

Number of teachers

2019 2020 2021 2022 2023

—a— College/®ord A —&— College/®Tcerol B —e— College/®Terat C

69. What is the approximate average number of teachers across all colleges in 20212
¥ 2021 7 o Bieet § Rt @ sivrd wen e e o
(1) 23 (2) 20.8
3) 21 4) 21.6

70.  Total number of teachers in all three Colleges in 2019 was what percentage of teachers in College C
in 20222

w2019ﬁwmﬁmﬁﬁmaﬁ@mw2022ﬁm”évfcﬁﬁmaﬁaﬁmzm
fobem uferera o2

(1) 180 (2) 230

(3) 200 (4) 225

71.  In which year was the total number of teachers in all three colleges the second highest?
oo o wft i il F Rl o ae v gwd walie o
(1) 2023 (2) 2022
(3) 2021 (4) 2020

72. What was the ratio between the teachers in College C in 2022 and total teachers in Colleges A and B
together in the same year?

aﬁzo’zzﬁafrévrcﬁﬁmﬁaﬁﬁwaﬁvwﬁaﬁaﬁﬁmAeﬁvmeﬁﬁmﬁaﬁm%
Bl AN & = U @7 ofr?

(1) k3 (2) 3:1

(3) 12 4) 47
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Directions (Questions 73-76): Study the following Bar Chart depicting the number of students (in
thousandsy in a university who opted for three different streams in the last five years, to answer the
quesli()'ﬁ.s' that follow. ‘
ﬁ%ﬂ(mﬁ%-%):sﬁmﬁﬁzﬁwéﬁaﬁﬁwﬁ*ﬁrmaaﬁﬁ%ﬁqm—wwsﬁaﬁafrﬁznﬁ
Wﬁwﬁw%ﬁaﬁuﬁaﬁm(mﬁ)ﬁﬁmmaréﬁmﬁﬁaﬂmﬁm%wﬁl

MON W W D
S G O ;O

No. of students ('000s)
o ¢

faenffal @ d&n (@9R #)

=0 = %l% %I%

2020 2021 2022 2023 2024

Lo B 6 4

8 Arts/&dl ® Commerce/arfirsy & Science/fasm=

73.  What is the total number of students who opted for Arts and Science in the years 2021, 2022 and 2024

together?
ad 2021, 2022 3R 2024 T RieTaR Bl AR RS wRan A el et @ g we fad

(1) 97,000 (2) 93,000 (3) 85,000 (4) 95,000

74. Total number of students who opted for Science in 2023, and 2024 together is approx. what percent
of the total number of students who opted for all three streams for the same year?
20233ﬁ—\f2024ﬁﬁamgﬂﬁméﬁw@ﬁﬁ§aﬂwgﬁaﬁﬁﬁmaﬂﬁmw
frenefat @ ga ven BT o fha iR B
(1) 27 (2) 28 (3) 42 (4) 32

75.  What is the ratio of the number of students who opted for Commerce in 2021 and 2023 together to
the number of students who opted for Arts in 2020 and 2024 together?
(1) 12:7 (2) 11:5 (3) 11:7 (4) None of these
2001 AR 2023 & feex @ity wEr g arel faenfil o go dwAr @ 2020 3R 2024
ﬁwwwzﬁﬁmﬁﬁaﬁﬁaﬁaﬁmﬁﬁmﬁwg?
(1) 12:7 () 11:5 (3) 11:7 (4) 378 9§ DI TR

76. In 2024, out of all students who opted for the given three streams, 38% were girls. How many boys

opted for Science in 2024?
- (1) 1322 (2) 1332

(3) 1342 - (4) Can’t be determined
aé2024ﬁan§aﬂwaﬁ$mﬁmgﬂ%mawﬂﬁw%ﬁﬁ3s%asﬁmeﬁlaﬁ2024
¥ s wrn feas ds@i 9 gAre
(1) 1322 (2) 1332
(3) 1342 @) faiRa &1 fear S daar
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Directions (Questions 77-80) : Compare the two quantities given as quantity A and quantity B for each
question and ﬂ[/l'/{ your answer as

(1) ifquantity A = quantity B
(2) if quantity A < quantity B
(3) if quantity A > quantity B

(4) if the comparison cannot be made from the information given

ﬁésr(qwﬂ-sm:squﬁeﬁ%vﬁnéamﬁw,mﬁ?wﬁwBa%mﬁgamaﬁaﬁ?
3T SR ffeiRad wu # aifba @

.

78.

79.

80.
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(1) afe R A =<f3r B
(2) afe fIr A <fyr B
(3) afe ufer A >R B
(4) afe < 78 Ga | o A8 B S whd)

Quantity A : The volume of a cylinder with diameter 4" and height 4”
Quantity B : The volume of a cube with sides of 4”

R A - 4" 2N &R 47 ST a1l U ST BT A |

IR B : 4" S ATl Uh B9 &I NI |

Quantity A : Number of matches won, lost, and drawn by team A in IPL are 6, 3 and 3 respectively.
Percentage of matches lost by Team A.

Quantity B : Number of matches won, lost, and drawn by team B in IPL are 2, 2 and 4 respectively.
Percentage of matches won by Team B.

IR A :oE f U § A A gRT 99, R @R 3wa aiflia <@ 9 ) G maen 6,33k 32|
S A ERT 8R U 39 &1 gl |

mﬁrB:mﬁﬁwﬁéﬁBmGﬁﬁﬂ%aﬁ?maﬁvﬁa@ﬁaaﬁmW:2,2aﬁ-\r4‘§|
EM B gRT Sid U 89 &7 9fed |

Quantity A : The number of girl students in a college of 3000 strength including transgender students,
if boys constitute 40% strength.

Quantity B : Number of boy students in the same college.
mﬁrA:ﬁﬂﬁﬁﬁmﬁmﬁw%ﬁMHﬁﬁaﬁmoowﬁGﬁE@ﬁaﬁm@m
BT 40% &1, il @1 e |

IR B : I Bioiet § ool &) G |

Quantity A : Interest for 3 years at a simple rate of 5%

Quantity B : Interest for 5 years at a compound rate of 3%

IR A 2 5% ARIRYT 19 <R W 3 9967 & forw @t |

IR B : 3% Thgfe & o) W 5 quf & forg @ Wl




81.

82.

84.

85.

86.
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Which of the following is/are internet web browser(s)?

(1 ) Microsoft Edge (2) Mozilla Firefox (3) Google Chrome (4) All these
freaferfad # & =19 a1 detie 9d F3sh 2/2? '
(1) TTSHIER TS (2) ST ST (3) 1T i (4) At

On internet, when we navigate from one page to another in search of the desired information or to
complete a particular task, it is known as

(1) web finding. (2) web browsing. (3) exploring the site.  (4) None of these

0¥ W S &N aifed S 1 dere § o fre ey wr i qu e % O O 98 8 g8 98 T € |l 36
ENE IR

(1) T @ (2) I ST (3) GRS FAT  (4) TH HFIE A

What is the full form of the SSD, the storage device?

(1) Solid State Drive (2) Sequential Storage Device
(3) Secondary Storage Drive (4) Sequential Storage Drive
it feargd SSD %1 qui &9 H 1 82

(1) Hifele @2 ga (2) Hieafie 2w feard

(3) Tehell RS gra (4) Sl 2 gEd

folder in email is used to store emails that you have not yet finished writing or that you
intend to send later.

(1) Inbox (2) Draft (3) Outbox (4) None of these
WA H Plee T ST 37 3 i Gufed F & forg faman smar € 7 o1mas onft a6 foramn s 42 foran
2 a1 52 317 are § S ol 30ET W@ Bl

(1) e 2) 3w (3) 3™ (4) T A HIS T
One Terabyte (TB) is equal to bytes.

& e (TB) H132H & S Bl 2

(1) 210 (2) 220 (3) 230 (4) 240

In Windows computer operating system, what is the meaning of “Switch User” in start menu option?
(1) Switch between windows users after closing the programs.
(2) Switch between windows users without closing the programs.

(3) Close programs and logoff the currently logged in user of the system and switch over to another
program.

(4) Closes all open programs, switch off the Windows, and then starts Windows again.

+ shuet AT firew forder # werd 3 forspew & “Switch User” o1 1 31 € 7

(1) U & T F 918 foeist Suamhatel & dte fa= s

(2) S e fpu fomm faes Swimmaatst & st = el )

(3) ST g ST A fereen § S # ST 3 SuhTERdl d AT AT 3 gE i e
(4) wft gt i B T 3 2, e e AT, 3t fomt foest 1 i & I e dan 2




87. In MS Word. Menu ltem in dim color (gray) indicates that the menu is

(1) unavailable for current context. (2) not much required Menu.
(3) Toggle Menu. (4) over used Menu.
MS a€ # He & (gIR) H A 3geH gfud e @ b 4 —————— g |
(I)WUI—G’?B%FQGJW (2) SaTeT Srufea 9 el
(3) EFTe 7, (4) A g 77,

88. In MS Word, for what purpose does the “Ruler’ help?
(1) To set Tabs (2) To set Indents
(3) To change page margins (4) All these
MSd€ 3 weR' fhd yaIo= & ¥ee xar 87
(1) 29 I B 4 (2) =S¢ U B H
(3) Ut AR aRafdd & 4 (4) T

89. In MS Excel, you can add a hyperlink to your worksheet by pressing_
MS TR H, ————— AR MY S g A T SIEWRG S T 8 |
(1) Alt+K (2) Ctrl +H
3) Ctrl +K (4) Ctrl + Shift + K

90. In MS Excel, to make a number in cell C1, 10% smaller than the number in C3, you should

enter
Msmﬁmﬁaﬁﬂ@rﬁlo%@ﬁé’fmmaﬁaﬂﬁ%ﬁwm —————— Tex
BT A1fRY |

(1) =C3*1.10 (2) =C3*110 (3) =C3*%10 (4) =C3*.90

91.  Which of the three types of data are found in a computer spreadsheet?

(1) Data, Words, Numbers (2) Equations, Data, Numbers
(3) Words, Numbers, Labels (4) Numbers, Formulas, Labels
Uh Hrger Wedie d i i fow & s uiw w82
(1) e, €, 5aR (2) $FIM, ST, TR
(3) T8, FeR, S (4) TR, BieT, e
92.  What is the minimum number of rows and columns that a Word table can have?
(1) 1 Row, 2 Columns (2) 1 Row, 1 Column
(3) 2 Rows, 1 Column (4) 2 Rows, 2 Columns
U g€ Sqa # <[ATH b X 3R Bierd 8 g 57
(1) 131, 2 BicE (2) 130, | BfeH
(3) 20, 1 BfeH (4) 20, 2 B

93. In MS Word, Thesa;urus is used for

(1) Spelling Options (2) Grammar Options
(3) Synonyms and Antonyms Options (4) None of these

MS T€ ¥ fORIRE &1 WA —————— & forg fvar wmar 2

(1) T et (2) ATHRT famer
(3) FHHRIE 3R fAwdaris el (4) 378 ¥ PIg Tl
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94,

96.

97

98.

99.

100.
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In MS PowerPoint. special effects used to introduce slides in a presentation are called
(1) Effects (2) Custom Animations
#(3) Transitions (4) Present Animations :

qumwﬁg?ﬁﬁmﬁmﬁ%ﬁmsﬂﬁaaﬂﬁa%%ﬁugwﬁﬁqwﬁ(wm) —————
FHEA & |

(1) g% (2) w%en o (3) gifSreE (4) wsie v
Which of the following types is not an Image file?

0 4 & 7 1 v O e e e 20

(1) .bmp (2) .jpg (3) .wmv (4) .png

Which one of the following is a language that can be used to create a webpage?

freaferfiaa & & =1 €t 3 W 2 fore winT Jei 9 3 fore v < w3ar 22
(1) HTML () C (3) BASIC (4) SQL

A is a software program that lets you interact with the information available on the web.
(1) search engine (2) browser (3) client (4) None of these

T WL ST & ST SATYeH] 1 T ST THFT 5 6] e F0) 1 Glayen 27 2|
(1) &4 51 (2) SIS (3) TR (4) T AR T

Which of the following statements is correct about a computer system?
(1) There are two kinds of computer memory: primary and secondary.
(2) The computer can understand decimal systems also.

(3) The storage of program and data in the RAM is permanent.

(4) PROM is secondary memory.

e e 3 it Fretferad & 8 #19 & o we 2

(1) FEC AR & S i 2reft 2 Smerfires i et

(2) PGS ZXMAS YUl T +ff quer a2

(3) RAM ¥ Wiy 3 221 o1 W TR BT 2

(4) PROM shell BHH 21

In MS Excel, to select several cell or ranges that are not touching each other, you would while
selecting.

(1) hold down the Ctrl Key (2) hold down the Shift Key

(3) hold down the Alt Key (4) hold down Ctrl + Shift Key

MS Ta¥el § U QER Bl W T R R T el A1 ¥ g B A, I GG ————— aTaw
G B |

(1) BeA BI () Rroe at (3) 3ifeT &1 (4) g + RBroe &

In MS PowerPoint, which of the following should you use if you want all the slides in the presentation
to have the same look?
(1) The slide layout option (2) Add a slide option
(3) Outline view (4) A presentation design template
MS uravdige # afe v gl # T wese @ ved /99d U o)) IEHT Ted £ ar ang
o # & fraer v a¥ar? , )
(1) T3S H3mee e (2) TS U wiiss fee
(3) ST F (4) T& UuieeH fIwrsd ewae
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INSTRUCTIONS TO CANDIDATE
wereff & forg sEew

Please do not open this Question Booklet until asked to do so.

Fill up the necessary information in the space provided on the cover of Question Booklet and the Answer-Sheet before
commencement of the test.

The duration of the test is 120 minutes. There are 100 questions.

Please check for completeness of the Question-Booklet immediately after opening.

Each question has four answer options marked (1), (2), (3) and (4).

Answers are to be marked on the Answer-Sheet, which is provided separately.

Choose the most appropriate answer option and darken the oval completely, corresponding to (1), (2), (3) or (4) against
the relevant question number.

Use oniy Blue/Black ball point pen to darken the oval for answering.

Please do not darken more than one oval against any question, as scanner will read such marking as wrong answer.

Once an oval is darkened as answer to the question, it is final. Answer option once darkened cannot be changed.

Each question carries equal marks. There is NO Negative Marking.

Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be provided/used for Rough Work.
Calculator, Mobile etc. are not permitted inside the examination hall.

Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

Appropriate civil/criminal proceedings will be instituted against the candidate taking or attempting to take this Question
Booklet or part of it outside the examination hall.

The right to exclude any question(s) from final evaluation rests with the testing authority.

Do not seek clarification on any item in the question booklet from the test invigilator. Use your best judgment.

In case of any ambiguity in translation. the english version will be deemed authentic.

e 9% FET T 9 36 YL YRa@ B 7 Gl |

TR I B § gl TRA—gRDT AT S UHIR. ITR—TFF S AR W Y TG R W Aaeed Ja-1 X |
qdien &1 99T 120 e 81 3 100 WeE € |

Te—gRaET Wiel & gY 1 Sd 3% o & - gRkaer @ © |

U U @ SR @ o 9R Reed € R | (1), (2), 3) 3R (4) 3ifda €1

IR T W oA T SIR—UFF W 3fdha BN |

mmﬁmﬁamwﬁﬂwﬁwmwmﬁmﬁm(1),(2),(3)?11(4)6%31‘@1?&3%
B I8 ARE | Brem w |

TR T B AT FSTHRY BT BT A B Y Bact Aot/ FA qeq dige 9 BT gAT IR |
Rl oo B Y U W I ST BT BT A B, i W 9 A BT TeId SR T |

mm@%ﬁqﬁ%wﬁmﬁaﬁmaﬂﬁmwﬁa@ﬁﬁmmmﬂ?ﬁmwmaﬁﬁm
IS qaell el T Fhal |

TRF T D GHM 3D 8| B TS AP el €|
ﬁﬁém.mméﬁﬁmwmmﬁﬁ|aﬁiwa%%rqmﬁaﬁésﬁ‘c’ﬁé’f
FTGR /T § S A S |

Pegrer, AT A e B B F=R A AW B IA T E |

s AT @1 WA ex e gdemel @1 e e faar S

ww—gﬁﬁzﬁrmm%ﬁwﬁqﬁmﬁaﬁwﬁaﬁmﬁwﬁaﬁaﬁﬁmaﬂ#mqﬁmﬁaﬁ
TEii—aTSIaT BT XgE PR B AT SD [d6g T QAT / BITER] BrAdEl B g |

st e W R weA @1 e 3 o R Tem iR & g A 2
e qRaaT § et ff ag W Wi aied § WSRO T A0 | oo fadd o1 e wi |
Ife argare § SIS IR 8, ar U Ure Wi /AT S |

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

70 T8 BN W I8 YeI-gRIPT T ILTHIAR. STR-TFS aler < |




